






  صناعة أطقم إصحح فرامل ( كاليب   ) 
ها نشاطاً ، فتخصصها    كية المصنعة لنظام فرامل الهواء وآك ه كات ال ك كة  HMF OTOMOTIV   أحد أهم الكه تعت   كه

  اددداء كطريق لتحقيق أع  
كة شعار الجودة ، الثقة ، الدقة    للشاحنات والباصات بجودة عالية طبقا دححدث المواصفات التكنولوجية العالمية فلقد رفعت الكه

  تقوم بتصنيعها . 
درجات الشهرة لقطع الغيار ال ك

كة ع   قسم التصدير وإدارة العحقات الخارجية بتوريد  كية ، كما تقوم الكه   مختلف المدن ال ك
كتنا تقوم بتوريد منتجاتها إ  السوق المحلية بوكحء معتمدين    كه

  
كة ع   أك ه من 32 وكيل وموزع معتمد    منتجاتها للعالم الخارجي وع  هذا اددساس ، كان نجاح وشهرة الماركة الخاصة بنا ( CONTINUAL ) النتيجة الطبيعة للكه

مختلف القارات . 
  
و   كة ادلك ك كة تقوم باددساس ع  الثقة المتبادلة بينها وب    العمحء ، كما أنها تتقدم بالدعوة لكل من يهمه اددمر بزيارة موقع الكه   فلسفة عمل الكه
و   كة ادلك ك كة تقوم باددساس ع  الثقة المتبادلة بينها وب    العمحء ، كما أنها تتقدم بالدعوة لكل من يهمه اددمر بزيارة موقع الكه فلسفة عمل الكه

كة جاهز ع  مدار    الكه
  export@continual.com.tr للحصول ع  معلومات أك ه ، ففريق العمل   

و   يد ادلك ك  Continual.com.tr أو التواصل ع  ال  
  مدينة قونيا لحططحع بالع    المجردة ع  

كة الكائن    ف بدعوة الجميع لزيارة موقع الكه   الزمن والوقت المطلوب    ، كما أننا نتكه
الساعة من أجل تقديم المساعدة   

  الوقت الذي يناسبكم .  
كتنا      موقع كه

س   عملية التصنيع ومشاهدة سلسلة وخطوات التصنيع المختلفة ، فأنه لمن دواعي كورنا أن نراكم   

2002 yılında otobüs, kamyon, tır ve dorse yedek parçaları satış ve pazarlamasıyla müşterilerine hizmet etmeye başlayan
firmamız piyasada oluşan talepler doğrultusunda 2006 yılında fren ekipmanları üretimine başlamış, özellikle fren kaliper tamir 
takımları konusunda geniş bir ürün yelpazesi oluşturmuştur.
Kurulduğu günden bu yana siz değerli iş ortaklarımızdan aldığı destek ile büyümeye ve gelişmeye devam eden firmamız
küresel pazarda CONTINUAL markası ile yerini almıştır.
Bugün,Bugün, otomotiv sektöründe 20 yılı aşkın bilgi birikimi, kaliteli ürün üretme ve müşteri memnuniyeti prensibine odaklı uzman 
ve dinamik ekibi ile siz değerli iş ortaklarımıza hizmet sunmaya devam etmektedir.
Ürün katoloğumuzda sizlerin hızlı ve anlaşılır bir şekilde ürünlere ulaşmanız hedeflenmiştir.
Bugüne kadar olduğu gibi yine satış ve satış sonrası hizmetlerde sizlere her türlü desteğe hazırız.
Bütün iş ortaklarımıza bugüne kadar göstermiş oldukları ilgi ve desteklerinden dolayı teşekkür ederiz. 
Teleplerin yerinde izlenmesi ve takip edilmesi gerektiği düşüncesi ile müşteri ziyaretlerimiz devam edecektir.
Siz değerli iş ortaklarımızı da üretim yerimizde misafir etmekten onur duyarız.

HMF Auto is a brake caliper repair kits producer and exporter for trucks, trailers, and buses under CONTINUAL brand with more 
than 20 years experience.

It was established selling spare parts for heavy-duty vehicles in 2002 and started producing caliper repair kits in 2006 and soon 
after became one of the leading companies in the market.

Since the establishment of the company, we have obtained a respected position and reputation in the market.

HMF Auto has been certified by Iso 9001:2015 quality management system certificate and the products are guaranteed against 
material defects.
  
We always aim to have customer satisfaction, punctual delivery, competitive prices and supply the best quality products
to customers.

Today, we export to more than 30 countries with our quality and customer-oriented service concept.

В 2002 году наша компания начала свою деятельность в сфере продажи запчастей для грузовых автомобилей, 
автобусов и прицепов. И в связи с потребностями рынка, в 2006 году наша компания начала производство тормозных 
деталей, и особенно в области ремонтных комплектов тормозных суппортов, она имеет широкий ассортимент.

С момента создания компании при вашей поддержке, наши дорогие партнеры, наша компания прошла долгий путь и 
добилась больших успехов.

С нашеми квалифицированными сотрудниками, с целью максимального удовлетворение потребностей наших 
клиентов, наша компания продолжает своё деятельность.

НашаНаша компания под брендом CONTINUAL имеет сертификаты ISO 9001:2015 и EAC. B основном предпочитает 
качественную продукцию и качественный сервис.

Наша цель при создании этого каталога заключается в том, чтобы вы могли быстро и удобно найти интересующий вас 
продукт.

Как и до сегодняшнего дня, мы готовы оказать вам любую помощь в обслуживании во время покупки и после.
Выражаем искреннюю благодарность нашим партнерам за сотрудничество и помощь.
Для выслушивания просьб, советов и мнений, наши программы по завещанию клиентов будут продолжаться.
УУважаемые партнеры, мы всегда будем рады вашему визиту на наш завод и в филиал. Это будет для нас большой 
честью.
С уважением.

ABOUT US

О НАС









1

4

5

6

7
8

2

MARK II / III TYPE

MODUL T (HALDEX) 
SBS 2220 TYPE

MARK IV TYPE MODUL X - GEN 1 MODUL X - GEN 2

SB5 TYPE

CARRIER (TASIYICI)

SN5 TYPE

SB6.../ CB7...TYPE

SN6.../ SN7.../ SK6.../ SK7...TYPE

SB7...RADIAL TYPE

SL7.../ SM7...TYPE

BENDIX

17,5” TYPE
CARRIER (TASIYICI)

19,5”/22,5”
( SINGLE PISTON )TYPE
19,5”/22,5”
( DOUBLE PISTON )TYPE
19,5”/22,5” MAXX 22 TYPE

MAXX 22 T TYPE
1000-VG TYPE
1600-VG TYPE

MAXX 22 L TYPE

3

ELSA 1 TYPE

ELSA 195 / 225 / EX225 TYPE

C DUCO TYPE

D DUCO AXIAL TYPE

D 3 TYPE
C LISA TYPE
D LISA TYPE

CARRIER (TASIYICI)

ELSA 2 TYPE

B DUCO TYPE

D DUCO RADIAL TYPE

DX 195 TYPE
DX 225 TYPE

DX 175 TYPE

KNORR

1 2 3 4 5 6 7 8

MERITOR

HALDEX

SAF

Z CAM

BREMBO

WABCO HYDRAULIC

İÇİNDEKİLER / INDEX

MAXX 17 TYPE
MAXX 19 TYPE
MAXX 17 CWS TYPE

360 SIMPLEX

CARRIER

KNORR

MERITOR

HALDEX

SAF

HYDRAULIC

Z CAM

WABCO

BREMBO

1
15-121

2
123-205

3
207-358

4
361-395

5
397-403

6
405-413

7
415-419

8
421-437

İÇİNDEKİLER / INDEX



K046498K50

CALIPER CARRIER

CT 15900
OEM

K001528, K011479, Z006590

CALIPER CARRIER

CT 15901
OEM

15

K108814K50, K001510

CALIPER CARRIER

CT 15902
OEM

K000027

CALIPER CARRIER

CT 15903
OEM

K000026, Z007541

CALIPER CARRIER

CT 15904
OEM

K004099

CALIPER CARRIER

CT 15905
OEM

CARRIERS



K007475

CALIPER CARRIER

CT 15906
OEM

K015308

CALIPER CARRIER

CT 15907
OEM

16 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

K000028

CALIPER CARRIER

CT 15908
OEM

k046764k50

CALIPER CARRIER

CT 15909
OEM

K001505

CALIPER CARRIER

CT 15910
OEM

K001105, K002979

CALIPER CARRIER

CT 15911
OEM

CARRIERS

K001926, K000690, Z000702

CALIPER CARRIER

CT 15912
OEM

K001497

CALIPER  RIGHT

CT 15913
OEM

17

K004206

CALIPER  CARRIER LEFT

CT 15914
OEM

K001278

CALIPER CARRIER

CT 15915
OEM

K001494

CALIPER CARRIER

CT 15916
OEM

K001525

CALIPER CARRIER

CT 15917
OEM

CARRIERS



K108001K50

CALIPER CARRIER

CT 15918
OEM

K000358

CALIPER CARRIER

CT 15919
OEM

18 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

K052379K50

CALIPER CARRIER

CT 15920
OEM

K001927

CALIPER CARRIER

CT 15921
OEM

K012619

CALIPER CARRIER

CT 15922
OEM

CALIPER CARRIER

CT 15923

CARRIERS

K001507, K001520, K001919, K010765,
II197370061, II334320061

CALIPER CARRIER

CT 15924
OEM

K010765

CALIPER CARRIER

CT 15925
OEM

19

K001529

CALIPER CARRIER LEFT

CT 15926
OEM

K001530

CALIPER CARRIER RIGHT

CT 15927
OEM

K004679

CALIPER CARRIER

CT 15928
OEM

K005606

CALIPER CARRIER

CT 15931
OEM

CARRIERS



K004680, k004680

CALIPER CARRIER

CT 15929
OEM

K002314

CALIPER CARRIER RIGHT

CT 15933
OEM

20 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

K002313

CALIPER CARRIER LEFT

CT 15934
OEM

K001275

CALIPER CARRIER

CT 15930
OEM

K001521

CALIPER CARRIER

CT 15935
OEM

K0015378, Z019053

CALIPER CARRIER

CT 15936
OEM

CARRIERS

K001502

CALIPER CARRIER

CT 15937
OEM

k001538

CALIPER CARRIER

CT 15938
OEM

21

CALIPER CARRIER

CT 15939 Z017557, K013742

CALIPER CARRIER

CT 15940
OEM

CT 15941 CALIPER CARRIER

CARRIERS



SN Code Qty Desc.

CT 5220 CALIPER TAPPET & BOOT SET
Dimensions

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

23

SN Code Qty Desc.

CT 5811 DUST RUBBER SET
Dimensions

O
E
M

II370760065, II370760065-2

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5202 SHAFT HOUSING BOOT13

SN Code Qty Desc.

CT 5816 CALIPER PIN & BOOT SET
Dimensions

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5202 SHAFT HOUSING BOOT13

CT 5204 PIN BOOT (RED)14

CT 5205 BELLOW CAP (BLACK)15

CT 5206 RUBBER BUSH16 34*40/50 mm

SB5... TYPE



SN Code Qty Desc.

CT 5809 DUST RUBBER REPAIR KIT
Dimensions

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5202 SHAFT HOUSING BOOT13

CT 5251 CALIPER PIN BUSH14 36*40*82

CT 5204 PIN BOOT (RED)15

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5305 ADJUSTING MECHANISM CAP18 38 mm

CT 5303 CALIPER STEEL CAP19

CT 5302 PIN BOLT RING110

24 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5880 CALIPER PIN REPAIR KIT
Dimensions

CT 5204 PIN BOOT (RED)11

CT 5251 CALIPER PIN BUSH12 36*40*82

CT 5305 ADJUSTING MECHANISM CAP13 38 mm

CT 5205 BELLOW CAP (BLACK)14

CT 5206 RUBBER BUSH15 34*40/50 mm

CT 5211 PLASTIC CAP16

CT 5608 ADJUSTING MECHANISM ADAPTER17

CT 5150 CALIPER PIN BOLT18 M16*1,5-150 mm

CT 5200 DUST RUBBER 74 mm19 74 mm

CT 5151 CALIPER PIN BOLT110 M16*1,5-85 mm

CT 5104 CALIPER PIN111 36*145 mm

CT 5101 CALIPER PIN112 34*80 mm

CT 5250 DUST RUBBER BUSH113 16*18*10 mm

SN Code Qty Desc.

CT 5851 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II369100062, II339680062

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5204 PIN BOOT (RED)18

SB5... TYPE

SN Code Qty Desc.

CT 5881 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5204 PIN BOOT (RED)12

CT 5205 BELLOW CAP (BLACK)13

CT 5206 RUBBER BUSH14 34*40/50 mm

CT 5608 ADJUSTING MECHANISM ADAPTER15

CT 5211 PLASTIC CAP16

CT 5305 ADJUSTING MECHANISM CAP17 38 mm

CT 5151 CALIPER PIN BOLT18 M16*1,5-85 mm

CT 5104 CALIPER PIN19 36*145 mm

CT 5101 CALIPER PIN110 34*80 mm

CT 5150 CALIPER PIN BOLT111 M16*1,5-150 mm

25

SN Code Qty Desc.

CT 5882 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000935

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5204 PIN BOOT (RED)14

CT 5205 BELLOW CAP (BLACK)15

SN Code Qty Desc.

CT 5883 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5151 CALIPER PIN BOLT12 M16*1,5-85 mm

CT 5104 CALIPER PIN13 36*145 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5150 CALIPER PIN BOLT15 M16*1,5-150 mm

SB5... TYPE



SN Code Qty Desc.

CT 5861 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II368470064

CT 5101 CALIPER PIN11 34*80 mm

CT 5151 CALIPER PIN BOLT12 M16*1,5-85 mm

CT 5206 RUBBER BUSH13 34*40/50 mm

26 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER PIN REPAIR KIT

CT 5860 II350470061, 0014206683

REPAIR KIT

CT 5830
OEM

CT 5101 CALIPER PIN11 34*80 mm

CT 5206 RUBBER BUSH12 34*40/50 mm

CT 5204 PIN BOOT (RED)11

CT 5205 BELLOW CAP (BLACK)12

CT 5303
OEM

II39769F0063

CALIPER STEEL CAP

CT 5204
PIN BOOT (RED)

CT 5205
OEM

II350470063

BELLOW CAP (BLACK)

CT 5219 PIN BOOT (RED)11

CT 5214 PIN BOOT RING (WHITE)12

CT 5248 BELLOW CAP (BLACK)11

CT 5300 CLAMP12

SB5... TYPE

CT 5833
CALIPER SUPPORT SEAL SET

CT 5318 CALIPER SUPPORT SEAL51

CT 5403
PINION SHAFT SET

CT 5232
CALIPER PLASTIC COVER
GASKET

CT 5640 PINION SHAFT51

27

CT 5640
PINION SHAFT

CT 5821
CALIPER MECHANISM GEAR SET

CT 5607 CALIPER MECHANISM GEAR51

CT 5614
ADJUSTING MECHANISM SHAFT

CT 5605
CALIPER CALIBRATION BOLT

CT 5641
CALIBRATION SHAFT CHAIN

SB5... TYPE

CT 5694
ADJUSTING MECHANISM SHAFT



CT 5648
NEEDLE BEARING

CT 5627
NEEDLE BEARING SET

CT 5644
CALIPER LEVER

CT 5648 NEEDLE BEARING21

28 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5619
SHAFT HOUSING

CT 5333 CALIPER SHAFT HOUSING SPRING21

CT 5619/1 SHAFT HOUSING12

CT 5440
CALIPER PIN RUBBER CAP SET

CT 5441
CALIPER PIN RUBBER CAP SET

CT 5234 CALIPER PIN RUBBER CAP51 CT 5235 CALIPER PIN RUBBER CAP51

SN Code Qty Desc.

CT 5665 COVER (WITHOUT SENSOR)
Dimensions

CT 5232 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5211 PLASTIC CAP13

CT 5164 COVER BOLT44

SB5... TYPE

SN Code Qty Desc.

CT 5666 COVER (2 WIRES SENSOR)
Dimensions

CT 5232 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5211 PLASTIC CAP13

CT 5164 COVER BOLT44

CT 5239 PLASTIC GEAR SHAFT15

CT 5237 SENSOR PLASTIC LOCKER16

CT 5264 2 CABLES SENSOR17

29

SN Code Qty Desc.

CT 5667 COVER (3 WIRES SENSOR)
Dimensions

CT 5232 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5211 PLASTIC CAP13

CT 5164 COVER BOLT44

CT 5239 PLASTIC GEAR SHAFT15

CT 5237 SENSOR PLASTIC LOCKER16

CT 5265 3 CABLES SENSOR17

SN Code Qty Desc.

CT 5664 COVER (3 WIRES SENSOR) MAN  TYPE
Dimensions

CT 5232 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5211 PLASTIC CAP13

CT 5164 COVER BOLT44

CT 5239 PLASTIC GEAR SHAFT15

CT 5237 SENSOR PLASTIC LOCKER16

CT 5266 3 CABLES SENSOR (MAN TYPE)17

SB5... TYPE



SN Code Qty Desc.

CT 5417 COVER BOLT KIT
Dimensions

CT 5167 COVER BOLT81 M12*1,75-80 mm

30 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5418 COVER BOLT KIT
Dimensions

CT 5166 COVER BOLT81 M14*2-55 mm

SN Code Qty Desc.

CT 5419 COVER BOLT KIT
Dimensions

CT 5165 COVER BOLT81 M10*1,5-60 mm

SB5... TYPE

31

SN Code Qty Desc.

CT 5909 ADJUSTING MECHANISM SET
Dimensions

CT 5851 CALIPER PIN REPAIR KIT11

CT 5811 DUST RUBBER SET12 74 mm

CT 5640 PINION SHAFT13

CT 5641 CALIBRATION SHAFT CHAIN14 12 LINK

CT 5619 SHAFT HOUSING15

CT 5614 ADJUSTING MECHANISM SHAFT16

CT 5627 NEEDLE BEARING SET17

CT 5605 CALIPER CALIBRATION BOLT18 13,20 mm

CT 5644 CALIPER LEVER19

SN Code Qty Desc.

CT 5909-1 MECHANISM SET (WITHOUT LEVER)
Dimensions

CT 5851 CALIPER PIN REPAIR KIT11

CT 5811 DUST RUBBER SET12 74 mm

CT 5640 PINION SHAFT13

CT 5641 CALIBRATION SHAFT CHAIN14 12 LINK

CT 5619 SHAFT HOUSING15

CT 5614 ADJUSTING MECHANISM SHAFT16

CT 5627 NEEDLE BEARING SET17

CT 5605 CALIPER CALIBRATION BOLT18 13,20 mm

SB5... TYPE



SN Code Qty Desc.

CT 5222 CALIPER TAPPET & BOOT SET
Dimensions

CT 5207 CALIPER THRUST PART WITH BELLOW11 69 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

33

SN Code Qty Desc.

CT 5802 CALIPER TAPPAET &BOOT SET
Dimensions

O
E
M

K001929, K097826K50

CT 5207 CALIPER THRUST PART WITH BELLOW11 69 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5203 CALIPER SHAFT HOUSING BOOT13

SN Code Qty Desc.

CT 5817 CALIPER PIN & BOOT SET
Dimensions

CT 5207 CALIPER THRUST PART WITH BELLOW11 69 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5203 CALIPER SHAFT HOUSING BOOT13

CT 5204 PIN BOOT (RED)14

CT 5205 BELLOW CAP (BLACK)15

CT 5206 RUBBER BUSH16 34*40/50 mm

SN5... TYPE



SN Code Qty Desc.

CT 5859 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K001928

CT 5212 PIN DUST RUBBER21

CT 5255 CALIPER PIN BUSH12 30*34*65 mm

CT 5106 CALIPER PIN13 30*99 mm

CT 5155 CALIPER PIN BOLT14 M16*1,5-105 mm

CT 5256 CALIPER PIN BUSH15 30*34*20 mm

CT 5307 CALIPER PIN CAP26 34/14 mm

CT 5105 CALIPER PIN17 30*72 mm

CT 5154 CALIPER PIN BOLT18 M16*1,5-75 mm

CT 5213 PIN DUST RUBBER RING29

34 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5879 CALIPER PIN REPAIR KIT
Dimensions

CT 5105 CALIPER PIN11 30*72 mm

CT 5306 ADJUSTING MECHANISM COVER CAP12 35 mm

CT 5255 CALIPER PIN BUSH13 30*34*65 mm

CT 5211 PLASTIC CAP14

CT 5212 PIN DUST RUBBER25

CT 5307 CALIPER PIN CAP26 34/14 mm

CT 5154 CALIPER PIN BOLT17 M16*1,5-75 mm

CT 5155 CALIPER PIN BOLT18 M16*1,5-105 mm

CT 5106 CALIPER PIN19 30*99 mm

CT 5608 ADJUSTING MECHANISM ADAPTER110

CT 5256 CALIPER PIN BUSH111 30*34*20 mm

CT 5213 PIN DUST RUBBER RING212

SN Code Qty Desc.

CT 5878 CALIPER PIN REPAIR KIT
Dimensions

CT 5105 CALIPER PIN11 30*72 mm

CT 5306 ADJUSTING MECHANISM COVER CAP12 35 mm

CT 5255 CALIPER PIN BUSH13 30*34*65 mm

CT 5211 PLASTIC CAP14

CT 5212 PIN DUST RUBBER25

CT 5307 CALIPER PIN CAP26 34/14 mm

CT 5207 CALIPER THRUST PART WITH BELLOW17 69 mm

CT 5256 CALIPER PIN BUSH18 30*34*20 mm

CT 5608 ADJUSTING MECHANISM ADAPTER19

CT 5154 CALIPER PIN BOLT110 M16*1,5-75 mm

CT 5155 CALIPER PIN BOLT111 M16*1,5-105 mm

CT 5106 CALIPER PIN112 30*99 mm

CT 5250 DUST RUBBER BUSH113 16*18*10 mm

CT 5213 PIN DUST RUBBER RING214

SN5... TYPE

CT 5615
PINION SHAFT

CT 5614
ADJUSTING MECHANISM SHAFT

CT 5695
ADJUSTING MECHANISM SHAFT

35

CT 5605
CALIPER CALIBRATION BOLT

CT 5616
CALIPER CALIBRATION SHAFT
CHAIN

CT 5642
NEEDLE BEARING SET

CT 5618 NEEDLE BEARING21

CT 5333
CALIPER SHAFT HOUSING
SPRING

CT 5617
CALIPER SHAFT HOUSING

CT 5333 CALIPER SHAFT HOUSING SPRING21

CT 5617/1 SHAFT HOUSING12

SN5... TYPE

CT 5694
ADJUSTING MECHANISM SHAFT



CT 5645
CALIPER LEVER

CT 5832
MECHANISM COVER SEAL SET

CT 5319
MECHANISM COVER SEAL

CT 5319 MECHANISM COVER SEAL51

36 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5668 COVER (WITHOUT SENSOR)
Dimensions

CT 5238 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5305 ADJUSTING MECHANISM CAP13 38 mm

CT 5164 COVER BOLT44

SN Code Qty Desc.

CT 5669 COVER (2 WIRES SENSOR)
Dimensions

CT 5238 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5305 ADJUSTING MECHANISM CAP13 38 mm

CT 5164 COVER BOLT44

CT 5264 2 CABLES SENSOR15

SN5... TYPE

SN Code Qty Desc.

CT 5670 COVER (3 WIRES SENSOR)
Dimensions

CT 5238 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5305 ADJUSTING MECHANISM CAP13 38 mm

CT 5164 COVER BOLT44

CT 5265 3 CABLES SENSOR15

37

SN Code Qty Desc.

CT 5663 COVER (3 WIRES SENSOR) MAN TYPE
Dimensions

CT 5238 CALIPER PLASTIC COVER GASKET11

CT 5325 COVER SEAL12

CT 5305 ADJUSTING MECHANISM CAP13 38 mm

CT 5164 COVER BOLT44

CT 5266 3 CABLES SENSOR (MAN TYPE)15

K000029

ADJUSTING MECHANISM CAP SET

CT 5828
OEM

PLASTIC GEAR SHAFT SET

CT 5407

CT 5305 ADJUSTING MECHANISM CAP101 38 mm

CT 5608 ADJUSTING MECHANISM ADAPTER102

CT 5239 PLASTIC GEAR SHAFT51

SN5... TYPE



CALIPER COVER

CT 5629 K000133

PAD RETAINER REPAIR KIT

CT 5622
OEM

CT 5629/1 COVER11

CT 5319 MECHANISM COVER SEAL12

CT 5159 SHEET METAL CAP BOLT63 M8-16 mm

38 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN5... TYPE

39

SN Code Qty Desc.

CT 5908 CALIPER MECHANISM SET
Dimensions

CT 5859 CALIPER PIN REPAIR KIT11

CT 5802 CALIPER TAPPAET &BOOT SET12 69 mm

CT 5615 PINION SHAFT13

CT 5616 CALIPER CALIBRATION SHAFT CHAIN14 14 LINK

CT 5629 CALIPER COVER15

CT 5614 ADJUSTING MECHANISM SHAFT16

CT 5642 NEEDLE BEARING SET17

CT 5605 CALIPER CALIBRATION BOLT18 13,20 mm

CT 5645 CALIPER LEVER19

CT 5617 CALIPER SHAFT HOUSING110

SN Code Qty Desc.

CT 5917 CALIPER MECHANISM SET
Dimensions

CT 5617 CALIPER SHAFT HOUSING11

CT 5802 CALIPER TAPPAET &BOOT SET12 69 mm

CT 5615 PINION SHAFT13

CT 5616 CALIPER CALIBRATION SHAFT CHAIN14 14 LINK

CT 5629 CALIPER COVER15

CT 5614 ADJUSTING MECHANISM SHAFT16

CT 5642 NEEDLE BEARING SET17

CT 5605 CALIPER CALIBRATION BOLT18 13,20 mm

CT 5645 CALIPER LEVER19

SN5... TYPE



SN Code Qty Desc.

CT 5220 CALIPER TAPPET & BOOT SET
Dimensions

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

41

SN Code Qty Desc.

CT 5812 CALIPER TAPPET SET
Dimensions

O
E
M

II179320065, II304130065

CT 5200 DUST RUBBER 74 mm21 74 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

SN Code Qty Desc.

CT 5811 DUST RUBBER SET
Dimensions

O
E
M

II370760065, II370760065-2

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5202 SHAFT HOUSING BOOT13

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5800 CALIPER TAPPET & BOOT SET
Dimensions

O
E
M

K000944, K010604

CT 5200 DUST RUBBER 74 mm21 74 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

CT 5202 SHAFT HOUSING BOOT23

42 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5819 CALIPER TAPPET & BOOT SET
Dimensions

CT 5200 DUST RUBBER 74 mm21 74 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

CT 5204 PIN BOOT (RED)13

CT 5205 BELLOW CAP (BLACK)14

CT 5206 RUBBER BUSH15 34*40/50 mm

SN Code Qty Desc.

CT 5888 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5303 CALIPER STEEL CAP12

CT 5305 ADJUSTING MECHANISM CAP13 38 mm

CT 5608 ADJUSTING MECHANISM ADAPTER14

CT 5211 PLASTIC CAP15

CT 5204 PIN BOOT (RED)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5200 DUST RUBBER 74 mm28 74 mm

CT 5202 SHAFT HOUSING BOOT29

CT 5150 CALIPER PIN BOLT110 M16*1,5-150 mm

CT 5250 DUST RUBBER BUSH211 16*18*10 mm

CT 5101 CALIPER PIN112 34*80 mm

CT 5104 CALIPER PIN113 36*145 mm

CT 5151 CALIPER PIN BOLT114 M16*1,5-85 mm

CT 5205 BELLOW CAP (BLACK)115

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5851 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II369100062, II339680062

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5204 PIN BOOT (RED)18

43

SN Code Qty Desc.

CT 5882 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000935

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5204 PIN BOOT (RED)14

CT 5205 BELLOW CAP (BLACK)15

SN Code Qty Desc.

CT 5881 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5204 PIN BOOT (RED)12

CT 5205 BELLOW CAP (BLACK)13

CT 5206 RUBBER BUSH14 34*40/50 mm

CT 5608 ADJUSTING MECHANISM ADAPTER15

CT 5211 PLASTIC CAP16

CT 5305 ADJUSTING MECHANISM CAP17 38 mm

CT 5151 CALIPER PIN BOLT18 M16*1,5-85 mm

CT 5104 CALIPER PIN19 36*145 mm

CT 5101 CALIPER PIN110 34*80 mm

CT 5150 CALIPER PIN BOLT111 M16*1,5-150 mm

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5891 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5103 CALIPER PIN12 36*135 mm

CT 5153 CALIPER PIN BOLT13 M16*1,5-140 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5205 BELLOW CAP (BLACK)18

CT 5302 PIN BOLT RING19

44 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5844 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5103 CALIPER PIN12 36*135 mm

CT 5153 CALIPER PIN BOLT13 M16*1,5-140 mm

CT 5111 CALIPER PIN14 32*88,50 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5205 BELLOW CAP (BLACK)18

CT 5302 PIN BOLT RING19

SN Code Qty Desc.

CT 5892 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5205 BELLOW CAP (BLACK)18

CT 5302 PIN BOLT RING19

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5856 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000375

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

CT 5302 PIN BOLT RING19

45

SN Code Qty Desc.

CT 5843 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5111 CALIPER PIN14 32*88,50 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5205 BELLOW CAP (BLACK)18

CT 5302 PIN BOLT RING19

SN Code Qty Desc.

CT 5870 CALIPER PIN REPAIR KIT
Dimensions

CT 5102 CALIPER PIN11 36*114 mm

CT 5100 CALIPER PIN12 32*80 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT14 M16*1,5-80 mm

CT 5302 PIN BOLT RING15

CT 5253 CALIPER RUBBER BUSH16 39 mm

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5884 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K001532

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5257 CALIPER RUBBER BUSH17 35 mm

CT 5303 CALIPER STEEL CAP18

CT 5302 PIN BOLT RING19

46 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5847 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5111 CALIPER PIN14 32*88,50 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5257 CALIPER RUBBER BUSH17 35 mm

CT 5303 CALIPER STEEL CAP18

SN Code Qty Desc.

CT 5848 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5111 CALIPER PIN14 32*88,50 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5857 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000696, II310370066

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)14

CT 5303 CALIPER STEEL CAP15

47

SN Code Qty Desc.

CT 5894 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II39769F0062

CT 5303 CALIPER STEEL CAP11

CT 5204 PIN BOOT (RED)12

CT 5251 CALIPER PIN BUSH13 36*40*82

CT 5102 CALIPER PIN14 36*114 mm

CT 5151 CALIPER PIN BOLT25 M16*1,5-85 mm

CT 5101 CALIPER PIN16 34*80 mm

CT 5206 RUBBER BUSH17 34*40/50 mm

SN Code Qty Desc.

CT 5895 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5303 CALIPER STEEL CAP12

CT 5204 PIN BOOT (RED)13

CT 5206 RUBBER BUSH14 34*40/50 mm

CT 5608 ADJUSTING MECHANISM ADAPTER15

CT 5211 PLASTIC CAP16

CT 5305 ADJUSTING MECHANISM CAP17 38 mm

CT 5102 CALIPER PIN18 36*114 mm

CT 5101 CALIPER PIN19 34*80 mm

CT 5151 CALIPER PIN BOLT210 M16*1,5-85 mm

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5853 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000132, II350470062

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5103 CALIPER PIN12 36*135 mm

CT 5153 CALIPER PIN BOLT13 M16*1,5-140 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5204 PIN BOOT (RED)18

48 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5897 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5103 CALIPER PIN12 36*135 mm

CT 5153 CALIPER PIN BOLT13 M16*1,5-140 mm

CT 5204 PIN BOOT (RED)14

CT 5205 BELLOW CAP (BLACK)15

SN Code Qty Desc.

CT 5898 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5151 CALIPER PIN BOLT12 M16*1,5-85 mm

CT 5103 CALIPER PIN13 36*135 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5153 CALIPER PIN BOLT15 M16*1,5-140 mm

CT 5206 RUBBER BUSH16 34*40/50 mm

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5872 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II358510062

CT 5104 CALIPER PIN11 36*145 mm

CT 5109 CALIPER PIN12 34*120 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5157 CALIPER PIN BOLT14 M16*1,5-125 mm

CT 5205 BELLOW CAP (BLACK)15

CT 5204 PIN BOOT (RED)16

CT 5251 CALIPER PIN BUSH17 36*40*82

CT 5208 RUBBER BUSH18 34*40/95 MM

49

SN Code Qty Desc.

CT 5873 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II179320062

CT 5208 RUBBER BUSH11 34*40/95 MM

CT 5209 CALIPER PIN DUST RUBBER12

CT 5246 CALIPER PIN DUST RUBBER13

CT 5251 CALIPER PIN BUSH14 36*40*82

CT 5103 CALIPER PIN15 36*135 mm

CT 5153 CALIPER PIN BOLT16 M16*1,5-140 mm

CT 5300 CLAMP17

CT 5109 CALIPER PIN18 34*120 mm

CT 5157 CALIPER PIN BOLT19 M16*1,5-125 mm

SN Code Qty Desc.

CT 5874 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II197140062

CT 5103 CALIPER PIN11 36*135 mm

CT 5101 CALIPER PIN12 34*80 mm

CT 5300 CLAMP13

CT 5151 CALIPER PIN BOLT14 M16*1,5-85 mm

CT 5153 CALIPER PIN BOLT15 M16*1,5-140 mm

CT 5251 CALIPER PIN BUSH16 36*40*82

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5209 CALIPER PIN DUST RUBBER18

CT 5216 CALIPER RUBBER CAP19

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5875 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II197330062

CT 5103 CALIPER PIN11 36*135 mm

CT 5101 CALIPER PIN12 34*80 mm

CT 5300 CLAMP13

CT 5151 CALIPER PIN BOLT14 M16*1,5-85 mm

CT 5153 CALIPER PIN BOLT15 M16*1,5-140 mm

CT 5251 CALIPER PIN BUSH16 36*40*82

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5209 CALIPER PIN DUST RUBBER18

CT 5646 CALIPER PIN DUST RUBBER19

50 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5887 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K031844K50, K011117

CT 5102 CALIPER PIN11 36*114 mm

CT 5110 CALIPER PIN12 32*84 mm

CT 5259 CALIPER RUBBER BUSH13 39 mm

CT 5217 CALIPER PIN BOOT14

CT 5204 PIN BOOT (RED)15

CT 5218 PIN CAP16 40/36,5 mm

CT 5151 CALIPER PIN BOLT17 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT18 M16*1,5-80 mm

CT 5303 CALIPER STEEL CAP19

CT 5312 CALIPER PIN CAP110 40/14 mm

CT 5251 CALIPER PIN BUSH111 36*40*82

SN Code Qty Desc.

CT 5854 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000687

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5205 BELLOW CAP (BLACK)18

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5852 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K048396K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5262 CALIPER RUBBER BUSH17 35 mm

CT 5303 CALIPER STEEL CAP18

51

SN Code Qty Desc.

CT 5866 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K003800

CT 5100 CALIPER PIN11 32*80 mm

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT14 M16*1,5-80 mm

CT 5301 CALIPER PIN CAP15 40/11 mm

CT 5214 PIN BOOT RING (WHITE)16

CT 5608 ADJUSTING MECHANISM ADAPTER17

CT 5305 ADJUSTING MECHANISM CAP18 38 mm

CT 5622 PAD RETAINER REPAIR KIT19 25 mm

SN Code Qty Desc.

CT 5868 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K010813

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5107 CALIPER PIN13 36*64 mm

CT 5156 CALIPER PIN BOLT14 M16*1,5-70 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)26

CT 5303 CALIPER STEEL CAP17

CT 5313 CALIPER PIN CAP18 40/24 mm

CT 5254 PIN BUSH19 36*40*20 mm

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5876 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000365

CT 5204 PIN BOOT (RED)11

CT 5303 CALIPER STEEL CAP12

CT 5206 RUBBER BUSH13 34*40/50 mm

CT 5252 CALIPER RUBBER BUSH14 39 mm

CT 5251 CALIPER PIN BUSH15 36*40*82

CT 5102 CALIPER PIN16 36*114 mm

CT 5101 CALIPER PIN17 34*80 mm

CT 5100 CALIPER PIN18 32*80 mm

CT 5151 CALIPER PIN BOLT29 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT110 M16*1,5-80 mm

CT 5301 CALIPER PIN CAP111 40/11 mm

52 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5896 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K067417K50, k067417k50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

CT 5302 PIN BOLT RING19

CT 5324 RUBBER BUSH RING 35 mm110 35 mm

CT 5312 CALIPER PIN CAP111 40/14 mm

SN Code Qty Desc.

CT 5869 CALIPER PIN REPAIR KIT
Dimensions

CT 5204 PIN BOOT (RED)11

CT 5303 CALIPER STEEL CAP12

CT 5206 RUBBER BUSH13 34*40/50 mm

CT 5253 CALIPER RUBBER BUSH14 39 mm

CT 5251 CALIPER PIN BUSH15 36*40*82

CT 5102 CALIPER PIN16 36*114 mm

CT 5101 CALIPER PIN17 34*80 mm

CT 5111 CALIPER PIN18 32*88,50 mm

CT 5151 CALIPER PIN BOLT29 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT110 M16*1,5-80 mm

CT 5312 CALIPER PIN CAP111 40/14 mm

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5893 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

53

SN Code Qty Desc.

CT 5838 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K048371K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

SN Code Qty Desc.

CT 5827 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II328090062, 328090062

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5204 PIN BOOT (RED)18

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5839 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K105599K55

CT 5113 CALIPER PIN11 36*114 mm

CT 5110 CALIPER PIN12 32*84 mm

CT 5259 CALIPER RUBBER BUSH13 39 mm

CT 5217 CALIPER PIN BOOT14

CT 5204 PIN BOOT (RED)15

CT 5218 PIN CAP16 40/36,5 mm

CT 5151 CALIPER PIN BOLT17 M16*1,5-85 mm

CT 5168 PIN BOLT18 M16x1,5x80mm

CT 5303 CALIPER STEEL CAP19

CT 5312 CALIPER PIN CAP110 40/14 mm

CT 5270 PIN RUBBER BUSH111

CT 5251 CALIPER PIN BUSH112 36*40*82

54 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5889 CALIPER PIN REPAIR KIT
Dimensions

O
E
M K001915, K048389K50,

K099604K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5312 CALIPER PIN CAP18 40/14 mm

SN Code Qty Desc.

CT 5826 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000421

CT 5100 CALIPER PIN11 32*80 mm

CT 5152 CALIPER PIN BOLT12 M16*1,5-80 mm

CT 5257 CALIPER RUBBER BUSH13 35 mm

CT 5302 PIN BOLT RING14

CT 5420 PAD SPRING25

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5865 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000698

CT 5100 CALIPER PIN11 32*80 mm

CT 5152 CALIPER PIN BOLT12 M16*1,5-80 mm

CT 5253 CALIPER RUBBER BUSH13 39 mm

CT 5302 PIN BOLT RING14

55

SN Code Qty Desc.

CT 5885 CALIPER PIN REPAIR KIT
Dimensions

CT 5100 CALIPER PIN11 32*80 mm

CT 5152 CALIPER PIN BOLT12 M16*1,5-80 mm

CT 5257 CALIPER RUBBER BUSH13 35 mm

CT 5302 PIN BOLT RING14

SN Code Qty Desc.

CT 5845 CALIPER PIN REPAIR KIT
Dimensions

CT 5111 CALIPER PIN11 32*88,50 mm

CT 5152 CALIPER PIN BOLT12 M16*1,5-80 mm

CT 5253 CALIPER RUBBER BUSH13 39 mm

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5846 CALIPER PIN REPAIR KIT
Dimensions

CT 5111 CALIPER PIN11 32*88,50 mm

CT 5152 CALIPER PIN BOLT12 M16*1,5-80 mm

CT 5257 CALIPER RUBBER BUSH13 35 mm

56 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5820 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K048399K50

CT 5100 CALIPER PIN11 32*80 mm

CT 5152 CALIPER PIN BOLT12 M16*1,5-80 mm

CT 5252 CALIPER RUBBER BUSH13 39 mm

CT 5420 PAD SPRING24

SN Code Qty Desc.

CT 5861 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II368470064

CT 5101 CALIPER PIN11 34*80 mm

CT 5151 CALIPER PIN BOLT12 M16*1,5-85 mm

CT 5206 RUBBER BUSH13 34*40/50 mm

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5864 CALIPER PIN REPAIR KIT
Dimensions

CT 5252 CALIPER RUBBER BUSH11 39 mm

CT 5100 CALIPER PIN12 32*80 mm

CT 5152 CALIPER PIN BOLT13 M16*1,5-80 mm

57

CALIPER PIN REPAIR KIT

CT 5860 K000697

CALIPER PIN REPAIR KIT

CT 5863
OEM

CT 5101 CALIPER PIN11 34*80 mm

CT 5206 RUBBER BUSH12 34*40/50 mm

CT 5100 CALIPER PIN11 32*80 mm

CT 5253 CALIPER RUBBER BUSH12 39 mm

CALIPER PIN REPAIR KIT

CT 5862 II350470061, 0014206683

REPAIR KIT

CT 5830
OEM

CT 5100 CALIPER PIN11 32*80 mm

CT 5252 CALIPER RUBBER BUSH12 39 mm

CT 5204 PIN BOOT (RED)11

CT 5205 BELLOW CAP (BLACK)12

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5886 CALIPER PIN REPAIR KIT
Dimensions

CT 5100 CALIPER PIN11 32*80 mm

CT 5257 CALIPER RUBBER BUSH12 35 mm

58 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5806
PIN BOT & CAP SET

CT 5204 PIN BOOT (RED)11

CT 5303 CALIPER STEEL CAP12

CT 5253
CALIPER RUBBER BUSH

CT 5257
CALIPER RUBBER BUSH

CT 5252
CALIPER RUBBER BUSH

CT 5259
CALIPER RUBBER BUSH

CT 5216
OEM

II197140063

CALIPER RUBBER CAP

SB6... / SB7... TYPE

CT 5205
OEM

II350470063

BELLOW CAP (BLACK)

CT 5248 BELLOW CAP (BLACK)11

CT 5300 CLAMP12

CT 5204
PIN BOOT (RED)

CT 5215
OEM

II344730063

CALIPER PIN DUST RUBBER

CT 5219 PIN BOOT (RED)11

CT 5214 PIN BOOT RING (WHITE)12

CT 5246 BELLOW CAP11

CT 5300 CLAMP12

59

CT 5303
OEM

II39769F0063

CALIPER STEEL CAP

CT 5214
PIN BOOT RING (WHITE)

CT 5208
RUBBER BUSH

CT 5217
CALIPER PIN BOOT

CT 5323
RUBBER BUSH RING 39 mm

CT 5324
RUBBER BUSH RING 35 mm

SB6... / SB7... TYPE



CT 5406
CALIPER PIN CAP SET

CT 5312 CALIPER PIN CAP51

CT 5600
ADJUSTING MECHANISM SHAFT

CT 5660
ADJUSTING MECHANISM SHAFT

60 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5601
CALIPER PINION SHAFT

CT 5672
PINION SHAFT

CT 5673
PINION SHAFT

CT 5674
PINION SHAFT

CT 5646
CALIPER LEVER BUSH SET

CT 5304 LEVER BUSH51

CT 5690
ADJUSTING MECHANISM SHAFT

SB6... / SB7... TYPE

CT 5402
PAD RETAINER & ADAPTER
REPAIR KIT

CT 5821
CALIPER MECHANISM GEAR SET

CT 5822
RUBBER CAP SET

CT 5607 CALIPER MECHANISM GEAR51

61

CT 5311
SHAFT HOUSING SPRING

CT 5605
CALIPER CALIBRATION BOLT

CT 5648
NEEDLE BEARING

CT 5627
NEEDLE BEARING SET

CT 5648 NEEDLE BEARING21

CT 5304
LEVER BUSH

CT 5606
CALIPER CALIBRATION SHAFT
CHAIN

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5824 ADJUSTING MECHANISM ADAPTER SET
Dimensions

O
E
M

K000945

CT 5305 ADJUSTING MECHANISM CAP101 38 mm

CT 5211 PLASTIC CAP102

CT 5608 ADJUSTING MECHANISM ADAPTER103

62 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5828 ADJUSTING MECHANISM CAP SET
Dimensions

O
E
M

K000029

CT 5305 ADJUSTING MECHANISM CAP101 38 mm

CT 5608 ADJUSTING MECHANISM ADAPTER102

SHAFT HOUSING

CT 5602
SHAFT HOUSING SET

CT 5625

CT 5602/1 SHAFT HOUSING CASTING11

CT 5311 SHAFT HOUSING SPRING12

CT 5304 LEVER BUSH11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5602 SHAFT HOUSING13

SB6... / SB7... TYPE

SHAFT HOUSING REPAIR KIT

CT 5647 Z001548

ADJUSTING MECHANISM ADAPTER SET

CT 5834
OEM

CT 5400 SHAFT HOUSING REPAIR KIT11

CT 5304 LEVER BUSH12

CT 5311 SHAFT HOUSING SPRING13

CT 5608 ADJUSTING MECHANISM ADAPTER101

63

SHAFT HOUSING REPAIR KIT

CT 5400
SHAFT HOUSING REPAIR KIT

CT 5401

CT 5400 SHAFT HOUSING REPAIR KIT11

CT 5304 LEVER BUSH12

NEEDLE BEARING

CT 5609
NEEDLE BEARING SET

CT 5643

CT 5609 NEEDLE BEARING21

SB6... / SB7... TYPE



CALIPER LEVER

CT 5611
CALIPER LEVER

CT 5613

64 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER LEVER

CT 5631
CALIPER LEVER

CT 5676

PAD RETAINER REPAIR KIT

CT 5424
CALIPER SUPPORT SEAL SET

CT 5833

CT 5318 CALIPER SUPPORT SEAL51

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5633 CALIPER COVER (WITHOUT SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5164 COVER BOLT64

65

SN Code Qty Desc.

CT 5623 CALIPER COVER (2 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5264 2 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SN Code Qty Desc.

CT 5635 CALIPER COVER (3 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5265 3 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5632 CALIPER COVER (3 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5266 3 CABLES SENSOR (MAN TYPE)14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

66 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5636 CALIPER COVER (WITHOUT SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5164 COVER BOLT64

SN Code Qty Desc.

CT 5637 MECHANISM COVER (2 WIRES
SENSOR) Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5264 2 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5638 MECHANISM COVER (3 WIRES
SENSOR) Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5265 3 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

67

COVER (WITHOUT SENSOR)

CT 5662
PLASTIC GEAR SHAFT SET

CT 5407

CT 5239 PLASTIC GEAR SHAFT51

SENSOR PLASTIC LOCKER SET

CT 5409
PLASTIC GEAR SHAFT SET

CT 5410

CT 5237 SENSOR PLASTIC LOCKER51 CT 5241 PLASTIC GEAR SHAFT51

SB6... / SB7... TYPE



K000133

PAD RETAINER REPAIR KIT

CT 5622
OEM

K000129, II197120061

PAD RETAINER REPAIR KIT

CT 5639
OEM

68 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CABLE PROTECTION KIT

CT 5412 K002311

PAD RETAINER REPAIR KIT

CT 5423
OEM

CT 5242 CABLE LOCKER PLASTIC11

CT 5243 CABLE LOCKER SHEET METAL12

K000884

PAD RETAINER REPAIR KIT

CT 5413
OEM

PAD RETAINER REPAIR KIT

CT 5421

CT 5639 PAD RETAINER REPAIR KIT11 20 mm

CT 5242 CABLE LOCKER PLASTIC12

CT 5243 CABLE LOCKER SHEET METAL13

CT 5622 PAD RETAINER REPAIR KIT11 25 mm

CT 5242 CABLE LOCKER PLASTIC12

CT 5243 CABLE LOCKER SHEET METAL13

SB6... / SB7... TYPE

CALIPER COVER GASKET SET

CT 5757

69

SB6... / SB7... TYPE

CT 5272 CALIPER COVER GASKET51

PLASTIC GEAR SHAFT SET

CT 5411

CT 5233 PLASTIC GEAR SHAFT51

CALIPER PIN RUBBER CAP SET

CT 5440
CALIPER PIN RUBBER CAP SET

CT 5441

CT 5234 CALIPER PIN RUBBER CAP51 CT 5235 CALIPER PIN RUBBER CAP51

SN Code Qty Desc.

CT 5932 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5601 CALIPER PINION SHAFT14

CT 5648 NEEDLE BEARING25

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19



SN Code Qty Desc.

CT 5903 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5613 CALIPER LEVER14

CT 5648 NEEDLE BEARING25

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

70 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5910 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5676 CALIPER LEVER14

CT 5648 NEEDLE BEARING25

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SN Code Qty Desc.

CT 5901 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5631 CALIPER LEVER14

CT 5648 NEEDLE BEARING25

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SB6... / SB7... TYPE

SN Code Qty Desc.

CT 5902 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5611 CALIPER LEVER14

CT 5648 NEEDLE BEARING25

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

71

SN Code Qty Desc.

CT 5922 CALIPER REPAIR KIT
Dimensions

CT 5889 CALIPER PIN REPAIR KIT11

CT 5602 SHAFT HOUSING12

CT 5605 CALIPER CALIBRATION BOLT23 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT14

CT 5601 CALIPER PINION SHAFT15

CT 5606 CALIPER CALIBRATION SHAFT CHAIN16

CT 5250 DUST RUBBER BUSH27 16*18*10 mm

CT 5627 NEEDLE BEARING SET18

CT 5200 DUST RUBBER 74 mm29 74 mm

CT 5202 SHAFT HOUSING BOOT210

SN Code Qty Desc.

CT 5927 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5889 CALIPER PIN REPAIR KIT14

CT 5643 NEEDLE BEARING SET15

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SB6... / SB7... TYPE



SN Code Qty Desc.

CT 5220 CALIPER TAPPET & BOOT SET
Dimensions

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

73

SN Code Qty Desc.

CT 5812 CALIPER TAPPET SET
Dimensions

O
E
M

II179320065, II304130065

CT 5200 DUST RUBBER 74 mm21 74 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

SN Code Qty Desc.

CT 5811 DUST RUBBER SET
Dimensions

O
E
M

II370760065, II370760065-2

CT 5200 DUST RUBBER 74 mm11 74 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5202 SHAFT HOUSING BOOT13

SB7...RADIAL TYPE



SN Code Qty Desc.

CT 5853 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000132, II350470062

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5103 CALIPER PIN12 36*135 mm

CT 5153 CALIPER PIN BOLT13 M16*1,5-140 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5204 PIN BOOT (RED)18

74 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5894 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II39769F0062

CT 5303 CALIPER STEEL CAP11

CT 5204 PIN BOOT (RED)12

CT 5251 CALIPER PIN BUSH13 36*40*82

CT 5102 CALIPER PIN14 36*114 mm

CT 5151 CALIPER PIN BOLT25 M16*1,5-85 mm

CT 5101 CALIPER PIN16 34*80 mm

CT 5206 RUBBER BUSH17 34*40/50 mm

SN Code Qty Desc.

CT 5851 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II369100062, II339680062

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5205 BELLOW CAP (BLACK)16

CT 5206 RUBBER BUSH17 34*40/50 mm

CT 5204 PIN BOOT (RED)18

SB7...RADIAL TYPE

SN Code Qty Desc.

CT 5873 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

II179320062

CT 5208 RUBBER BUSH11 34*40/95 MM

CT 5209 CALIPER PIN DUST RUBBER12

CT 5246 CALIPER PIN DUST RUBBER13

CT 5251 CALIPER PIN BUSH14 36*40*82

CT 5103 CALIPER PIN15 36*135 mm

CT 5153 CALIPER PIN BOLT16 M16*1,5-140 mm

CT 5300 CLAMP17

CT 5109 CALIPER PIN18 34*120 mm

CT 5157 CALIPER PIN BOLT19 M16*1,5-125 mm

75

SN Code Qty Desc.

CT 5856 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000375

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

CT 5302 PIN BOLT RING19

SN Code Qty Desc.

CT 5882 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000935

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5104 CALIPER PIN12 36*145 mm

CT 5150 CALIPER PIN BOLT13 M16*1,5-150 mm

CT 5204 PIN BOOT (RED)14

CT 5205 BELLOW CAP (BLACK)15

SB7...RADIAL TYPE



SN Code Qty Desc.

CT 5883 CALIPER PIN REPAIR KIT
Dimensions

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5151 CALIPER PIN BOLT12 M16*1,5-85 mm

CT 5104 CALIPER PIN13 36*145 mm

CT 5101 CALIPER PIN14 34*80 mm

CT 5150 CALIPER PIN BOLT15 M16*1,5-150 mm

76 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5600
ADJUSTING MECHANISM SHAFT

CT 5601
CALIPER PINION SHAFT

CT 5606
CALIPER CALIBRATION SHAFT
CHAIN

SHAFT HOUSING

CT 5602
SHAFT HOUSING SET

CT 5625

CT 5602/1 SHAFT HOUSING CASTING11

CT 5311 SHAFT HOUSING SPRING12

CT 5304 LEVER BUSH11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5602 SHAFT HOUSING13

SB7...RADIAL TYPE

CT 5648
NEEDLE BEARING

CT 5627
NEEDLE BEARING SET

CT 5646
CALIPER LEVER BUSH SET

CT 5648 NEEDLE BEARING21 CT 5304 LEVER BUSH51

77

CT 5605
CALIPER CALIBRATION BOLT

CT 5757
CALIPER COVER GASKET SET

CT 5823
ADJUSTING MECHANISM
ADAPTER SET

ADJUSTING MECHANISM ADAPTER51

CALIPER LEVER

CT 5650
CALIPER LEVER

CT 5652

SB7...RADIAL TYPE

CT 5272 CALIPER COVER GASKET51 CT 5608



CALIPER LEVER

CT 5651 K001301

CALIPER CAP SET

CT 5867
OEM

CT 5205 BELLOW CAP (BLACK)61

CT 5303 CALIPER STEEL CAP62

78 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5311
SHAFT HOUSING SPRING

CT 5245
CALIPER MECHANISM COVER
GASKET

CT 5411
PLASTIC GEAR SHAFT SET

CT 5233 PLASTIC GEAR SHAFT51

SN Code Qty Desc.

CT 5678 CALIPER COVER (WITHOUT SENSOR)
Dimensions

CT 5164 COVER BOLT31

CT 5245 CALIPER MECHANISM COVER
GASKET

12

SB7...RADIAL TYPE

SN Code Qty Desc.

CT 5679 CALIPER COVER (2 WIRES SENSOR)
Dimensions

CT 5233 PLASTIC GEAR SHAFT11

CT 5164 COVER BOLT32

CT 5245 CALIPER MECHANISM COVER GASKET13

CT 5264 2 CABLES SENSOR14

79

SN Code Qty Desc.

CT 5680 CALIPER COVER (3 WIRES SENSOR)
Dimensions

CT 5233 PLASTIC GEAR SHAFT11

CT 5164 COVER BOLT32

CT 5245 CALIPER MECHANISM COVER GASKET13

CT 5265 3 CABLES SENSOR14

SN Code Qty Desc.

CT 5681 CALIPER COVER (WITHOUT SENSOR)
Dimensions

CT 5164 COVER BOLT31

CT 5245 CALIPER MECHANISM COVER GASKET12

SB7...RADIAL TYPE



SN Code Qty Desc.

CT 5682 CALIPER  COVER (2 WIRES SENSOR)
Dimensions

CT 5233 PLASTIC GEAR SHAFT11

CT 5164 COVER BOLT32

CT 5245 CALIPER MECHANISM COVER GASKET13

CT 5264 2 CABLES SENSOR14

80 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5623 CALIPER COVER (2 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5264 2 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SN Code Qty Desc.

CT 5683 CALIPER COVER (3 WIRES SENSOR)
Dimensions

CT 5233 PLASTIC GEAR SHAFT11

CT 5164 COVER BOLT32

CT 5245 CALIPER MECHANISM COVER GASKET13

CT 5265 3 CABLES SENSOR14

SB7...RADIAL TYPE

COVER BOLT KIT

CT 5417
COVER BOLT KIT

CT 5418

CT 5167 COVER BOLT81 M12*1,75-80 mm CT 5166 COVER BOLT81 M14*2-55 mm

81

COVER BOLT KIT

CT 5419 K000129, II197120061

PAD RETAINER REPAIR KIT

CT 5639
OEM

CT 5165 COVER BOLT81 M10*1,5-60 mm

SN Code Qty Desc.

CT 5413 PAD RETAINER REPAIR KIT
Dimensions

O
E
M

K000884

CT 5639 PAD RETAINER REPAIR KIT11 20 mm

CT 5242 CABLE LOCKER PLASTIC12

CT 5243 CABLE LOCKER SHEET METAL13

SB7...RADIAL TYPE



82 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5912 CALIPER REPAIR KIT
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5650 CALIPER LEVER14

CT 5648 NEEDLE BEARING25

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SN Code Qty Desc.

CT 5918 CALIPER REPAIR SET
Dimensions

CT 5602 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5652 CALIPER LEVER14

CT 5627 NEEDLE BEARING SET15

CT 5200 DUST RUBBER 74 mm26 74 mm

CT 5202 SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SB7...RADIAL TYPE



85

SN6... / SN7... / SK7... TYPE

CALIPER TAPPET & BOOT SET

CT 5221
CALIPER TAPPET & BOOT SET

CT 5814

SN Code Qty Desc. Dimensions

CT 5201 DUST RUBBER11 69 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

SN Code Qty Desc. Dimensions

CT 5201 DUST RUBBER21 69 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

SN Code Qty Desc.

CT 5813 CALIPER TAPPET & BOOT SET
Dimensions

CT 5201 DUST RUBBER11 69 mm

CT 5250 DUST RUBBER BUSH12 16*18*10 mm

CT 5203 CALIPER SHAFT HOUSING BOOT13

SN Code Qty Desc.

CT 5755 CALIPER TAPPET & BOOT SET
Dimensions

CT 5201 DUST RUBBER21 69 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

CT 5229 CALIPER SHAFT HOUSING BOOT23



SN Code Qty Desc.

CT 5801 CALIPER TAPPET & BOOT SET
Dimensions

O
E
M K001300, K010603, K000366,

K092079

CT 5201 DUST RUBBER21 69 mm

CT 5250 DUST RUBBER BUSH22 16*18*10 mm

CT 5203 CALIPER SHAFT HOUSING BOOT23

86 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER PIN & BOOT SET

CT 5815
PIN BOT & CAP SET

CT 5806

CT 5801 CALIPER TAPPET & BOOT SET11 69 mm

CT 5204 PIN BOOT (RED)12

CT 5205 BELLOW CAP (BLACK)13

CT 5204 PIN BOOT (RED)11

CT 5303 CALIPER STEEL CAP12

SN Code Qty Desc.

CT 5840 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K052759K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5111 CALIPER PIN14 32*88,50 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5312 CALIPER PIN CAP18 40/14 mm

CT 5302 PIN BOLT RING19

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5855 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000472, K017707

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5312 CALIPER PIN CAP18 40/14 mm

CT 5302 PIN BOLT RING19

87

SN Code Qty Desc.

CT 5871 CALIPER PIN REPAIR KIT
Dimensions

CT 5107 CALIPER PIN11 36*64 mm

CT 5156 CALIPER PIN BOLT12 M16*1,5-70 mm

CT 5204 PIN BOOT (RED)13

CT 5313 CALIPER PIN CAP14 40/24 mm

CT 5254 PIN BUSH15 36*40*20 mm

SN Code Qty Desc.

CT 5877 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K013007

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5156 CALIPER PIN BOLT13 M16*1,5-70 mm

CT 5107 CALIPER PIN14 36*64 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)26

CT 5312 CALIPER PIN CAP17 40/14 mm

CT 5313 CALIPER PIN CAP18 40/24 mm

CT 5305 ADJUSTING MECHANISM CAP19 38 mm

CT 5622 PAD RETAINER REPAIR KIT110 25 mm

CT 5254 PIN BUSH111 36*40*20 mm

SN6... / SN7... / SK7... TYPE



SN Code Qty Desc.

CT 5887 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K031844K50, K011117

CT 5102 CALIPER PIN11 36*114 mm

CT 5110 CALIPER PIN12 32*84 mm

CT 5259 CALIPER RUBBER BUSH13 39 mm

CT 5217 CALIPER PIN BOOT14

CT 5204 PIN BOOT (RED)15

CT 5218 PIN CAP16 40/36,5 mm

CT 5151 CALIPER PIN BOLT17 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT18 M16*1,5-80 mm

CT 5303 CALIPER STEEL CAP19

CT 5312 CALIPER PIN CAP110 40/14 mm

CT 5251 CALIPER PIN BUSH111 36*40*82

88 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5889 CALIPER PIN REPAIR KIT
Dimensions

O
E
M K001915, K048389K50,

K099604K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5312 CALIPER PIN CAP18 40/14 mm

SN Code Qty Desc.

CT 5866 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K003800

CT 5100 CALIPER PIN11 32*80 mm

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT14 M16*1,5-80 mm

CT 5301 CALIPER PIN CAP15 40/11 mm

CT 5214 PIN BOOT RING (WHITE)16

CT 5608 ADJUSTING MECHANISM ADAPTER17

CT 5305 ADJUSTING MECHANISM CAP18 38 mm

CT 5622 PAD RETAINER REPAIR KIT19 25 mm

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5876 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K000365

CT 5204 PIN BOOT (RED)11

CT 5303 CALIPER STEEL CAP12

CT 5206 RUBBER BUSH13 34*40/50 mm

CT 5252 CALIPER RUBBER BUSH14 39 mm

CT 5251 CALIPER PIN BUSH15 36*40*82

CT 5102 CALIPER PIN16 36*114 mm

CT 5101 CALIPER PIN17 34*80 mm

CT 5100 CALIPER PIN18 32*80 mm

CT 5151 CALIPER PIN BOLT29 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT110 M16*1,5-80 mm

CT 5301 CALIPER PIN CAP111 40/11 mm

89

SN Code Qty Desc.

CT 5896 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K067417K50, k067417k50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

CT 5302 PIN BOLT RING19

CT 5324 RUBBER BUSH RING 35 mm110 35 mm

CT 5312 CALIPER PIN CAP111 40/14 mm

SN Code Qty Desc.

CT 5858 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K004100, K004168, K010766

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5107 CALIPER PIN13 36*64 mm

CT 5156 CALIPER PIN BOLT14 M16*1,5-70 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)26

CT 5312 CALIPER PIN CAP17 40/14 mm

CT 5313 CALIPER PIN CAP18 40/24 mm

CT 5254 PIN BUSH19 36*40*20 mm

SN6... / SN7... / SK7... TYPE



SN Code Qty Desc.

CT 5839 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K105599K55

CT 5113 CALIPER PIN11 36*114 mm

CT 5110 CALIPER PIN12 32*84 mm

CT 5259 CALIPER RUBBER BUSH13 39 mm

CT 5217 CALIPER PIN BOOT14

CT 5204 PIN BOOT (RED)15

CT 5218 PIN CAP16 40/36,5 mm

CT 5151 CALIPER PIN BOLT17 M16*1,5-85 mm

CT 5168 PIN BOLT18 M16x1,5x80mm

CT 5303 CALIPER STEEL CAP19

CT 5312 CALIPER PIN CAP110 40/14 mm

CT 5270 PIN RUBBER BUSH111

CT 5251 CALIPER PIN BUSH112 36*40*82

90 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5836 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K001925, K028451

CT 5258 CALIPER PIN BUSH11 36*40*75 mm

CT 5108 CALIPER PIN12 36*102 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5312 CALIPER PIN CAP18 40/14 mm

SN Code Qty Desc.

CT 5899 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K001274, K002716

CT 5258 CALIPER PIN BUSH11 36*40*75 mm

CT 5108 CALIPER PIN12 36*102 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5301 CALIPER PIN CAP18 40/11 mm

CT 5302 PIN BOLT RING19

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5750 PIN REPAIR KIT
Dimensions

O
E
M

K001691

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)14

CT 5312 CALIPER PIN CAP15 40/14 mm

CT 5310 PIN CAP16 40/31 mm

91

SN Code Qty Desc.

CT 5751 PIN REPAIR KIT
Dimensions

O
E
M

K002872

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5112 CALIPER PIN13 36*70 mm

CT 5154 CALIPER PIN BOLT14 M16*1,5-75 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)26

CT 5312 CALIPER PIN CAP17 40/14 mm

CT 5310 PIN CAP18 40/31 mm

CT 5261 PIN BUSH19 36*40*20 mm

SN Code Qty Desc.

CT 5752 PIN REPAIR KIT
Dimensions

O
E
M

K001692

CT 5112 CALIPER PIN11 36*70 mm

CT 5151 CALIPER PIN BOLT12 M16*1,5-85 mm

CT 5154 CALIPER PIN BOLT13 M16*1,5-75 mm

CT 5261 PIN BUSH14 36*40*20 mm

CT 5312 CALIPER PIN CAP15 40/14 mm

CT 5204 PIN BOOT (RED)16

CT 5310 PIN CAP17 40/31 mm

SN6... / SN7... / SK7... TYPE



SN Code Qty Desc.

CT 5753 PIN REPAIR KIT
Dimensions

O
E
M

K001470

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5253 CALIPER RUBBER BUSH17 39 mm

CT 5303 CALIPER STEEL CAP18

CT 5302 PIN BOLT RING19

CT 5312 CALIPER PIN CAP110 40/14 mm

92 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5406
CALIPER PIN CAP SET

CT 5312 CALIPER PIN CAP51

CT 5414
CALIPER PIN CAP SET

CT 5425
CALIPER PIN CAP SET

CT 5313 CALIPER PIN CAP51 CT 5310 PIN CAP51

CT 5204
PIN BOOT (RED)

CT 5219 PIN BOOT (RED)11

CT 5214 PIN BOOT RING (WHITE)12

CT 5303
OEM

II39769F0063

CALIPER STEEL CAP

CT 5300
CLAMP

SN6... / SN7... / SK7... TYPE

CT 5259
CALIPER RUBBER BUSH

CT 5252
CALIPER RUBBER BUSH

CT 5323
RUBBER BUSH RING 39 mm

93

CT 5404
CALIPER PIN CAP KIT

CT 5301 CALIPER PIN CAP11

CT 5303 CALIPER STEEL CAP12

CT 5405
CALIPER PIN CAP SET

CT 5402
PAD RETAINER & ADAPTER
REPAIR KIT

CT 5301 CALIPER PIN CAP51

CT 5823
ADJUSTING MECHANISM
ADAPTER SET

CT 5608 ADJUSTING MECHANISM ADAPTER51

CT 5304
LEVER BUSH

SN6... / SN7... / SK7... TYPE

CT 5821
CALIPER MECHANISM GEAR SET

CT 5607 CALIPER MECHANISM GEAR51



SHAFT HOUSING REPAIR KIT

CT 5400
SHAFT HOUSING REPAIR KIT

CT 5401

CT 5400 SHAFT HOUSING REPAIR KIT11

CT 5304 LEVER BUSH12

94 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SHAFT HOUSING REPAIR KIT

CT 5647 Z001548

ADJUSTING MECHANISM ADAPTER SET

CT 5834
OEM

CT 5400 SHAFT HOUSING REPAIR KIT11

CT 5304 LEVER BUSH12

CT 5311 SHAFT HOUSING SPRING13

CT 5608 ADJUSTING MECHANISM ADAPTER101

SHAFT HOUSING

CT 5603
SHAFT HOUSING SET

CT 5626

CT 5603/1 SHAFT HOUSING CASTING11

CT 5311 SHAFT HOUSING SPRING12

CT 5304 LEVER BUSH11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5603 SHAFT HOUSING13

SN6... / SN7... / SK7... TYPE

SHAFT HOUSING

CT 5604
SHAFT HOUSING SET

CT 5628

CT 5604/1 SHAFT HOUSING CASTING11

CT 5311 SHAFT HOUSING SPRING12

CT 5604 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

95

CT 5600
ADJUSTING MECHANISM SHAFT

K000029

ADJUSTING MECHANISM CAP SET

CT 5828
OEM

K003902

ADJUSTING MECHANISM ADAPTER SET

CT 5829
OEM

CT 5305 ADJUSTING MECHANISM CAP101 38 mm

CT 5608 ADJUSTING MECHANISM ADAPTER102

CT 5306 ADJUSTING MECHANISM COVER CAP101 35 mm

CT 5608 ADJUSTING MECHANISM ADAPTER102

SN6... / SN7... / SK7... TYPE

CT 5660
ADJUSTING MECHANISM SHAFT

CT 5661
ADJUSTING MECHANISM SHAFT



CT 5601
CALIPER PINION SHAFT

CT 5672
PINION SHAFT

CT 5673
PINION SHAFT

96 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5674
PINION SHAFT

CT 5675
PINION SHAFT

CT 5654
CALIPER PINION SHAFT

CT 5605
CALIPER CALIBRATION BOLT

CT 5606
CALIPER CALIBRATION SHAFT
CHAIN

CT 5643
NEEDLE BEARING SET

CT 5609 NEEDLE BEARING21

SN6... / SN7... / SK7... TYPE

CALIPER LEVER

CT 5610
CALIPER LEVER

CT 5671

97

CALIPER LEVER

CT 5612
CALIPER LEVER

CT 5651

CALIPER LEVER

CT 5649
CALIPER LEVER

CT 5630

SN6... / SN7... / SK7... TYPE



CALIPER LEVER

CT 5677
CALIPER HEAD SEALING PLUG SET

CT 5831

CT 5331 CALIPER HEAD SEALING PLUG51

98 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5331
CALIPER HEAD SEALING PLUG

CT 5314
HEAD SEALING PLUG (plastıc)

CT 5837
HEAD SEALING PLUG SET
(PLASTIC)

CT 5314 HEAD SEALING PLUG (plastıc)51

CT 5230
CALIPER ACTUATOR SEAL

CT 5231
CALIPER ACTUATOR SEAL

CT 5410
PLASTIC GEAR SHAFT SET

CT 5241 PLASTIC GEAR SHAFT51

SN6... / SN7... / SK7... TYPE

CALIPER ACTUATOR SEAL SET

CT 5415
CALIPER ACTUATOR SEAL SET

CT 5416

CT 5230 CALIPER ACTUATOR SEAL51 42 mm CT 5231 CALIPER ACTUATOR SEAL51 45 mm

99

CT 5407
PLASTIC GEAR SHAFT SET

CT 5239 PLASTIC GEAR SHAFT51

CT 5408
PLASTIC GEAR SHAFT SET

CT 5409
SENSOR PLASTIC LOCKER SET

CT 5236 PLASTIC GEAR SHAFT51 CT 5237 SENSOR PLASTIC LOCKER51

SN Code Qty Desc.

CT 5633 CALIPER COVER (WITHOUT SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5164 COVER BOLT64

SN6... / SN7... / SK7... TYPE



SN Code Qty Desc.

CT 5623 CALIPER COVER (2 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5264 2 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

100 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5635 CALIPER COVER (3 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5265 3 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SN Code Qty Desc.

CT 5632 CALIPER COVER (3 WIRES SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5266 3 CABLES SENSOR (MAN TYPE)14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5636 CALIPER COVER (WITHOUT SENSOR)
Dimensions

CT 5228 CALIPER MECHANISM COVER
GASKET

11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5164 COVER BOLT64

101

SN Code Qty Desc.

CT 5637 MECHANISM COVER (2 WIRES
SENSOR) Dimensions

CT 5228 CALIPER MECHANISM COVER
GASKET

11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5264 2 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SN Code Qty Desc.

CT 5638 MECHANISM COVER (3 WIRES
SENSOR) Dimensions

CT 5228 CALIPER MECHANISM COVER
GASKET

11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

CT 5265 3 CABLES SENSOR14

CT 5164 COVER BOLT65

CT 5239 PLASTIC GEAR SHAFT16

SN6... / SN7... / SK7... TYPE



COVER (WITHOUT SENSOR)

CT 5662
CABLE PROTECTION KIT

CT 5412

CT 5242 CABLE LOCKER PLASTIC11

CT 5243 CABLE LOCKER SHEET METAL12

102 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER COVER

CT 5624
CALIPER COVER

CT 5634

CT 5624/1 CALIPER COVER (JUST COVER )11

CT 5159 SHEET METAL CAP BOLT82 M8-16 mm

CT 5634/1 CALIPER COVER(JUST COVER)11

CT 5159 SHEET METAL CAP BOLT62 M8-16 mm

CT 5160 COVET BOLT23 M 8-50

SN6... / SN7... / SK7... TYPE

K000133

PAD RETAINER REPAIR KIT

CT 5622
OEM

K000129, II197120061

PAD RETAINER REPAIR KIT

CT 5639
OEM

103

K000884

PAD RETAINER REPAIR KIT

CT 5413
OEM

CT 5639 PAD RETAINER REPAIR KIT11 20 mm

CT 5242 CABLE LOCKER PLASTIC12

CT 5243 CABLE LOCKER SHEET METAL13

K002311

PAD RETAINER REPAIR KIT

CT 5423
OEM

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5934 CALIPER REPAIR SET
Dimensions

CT 5603 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5601 CALIPER PINION SHAFT14

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

SN Code Qty Desc.

CT 5935 CALIPER REPAIR SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5601 CALIPER PINION SHAFT14

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19



SN Code Qty Desc.

CT 5907 CALIPER REPAIR SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5630 CALIPER LEVER14

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

104 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5904 CALIPER REPAIR SET
Dimensions

CT 5603 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5612 CALIPER LEVER14 Angle 0°

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SN Code Qty Desc.

CT 5915 CALIPER REPAIR SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5651 CALIPER LEVER14

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5900 CALIPER REPAIR SET
Dimensions

CT 5603 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5610 CALIPER LEVER14

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

105

SN Code Qty Desc.

CT 5913 CALIPER REPAIR SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5671 CALIPER LEVER14

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SN Code Qty Desc.

CT 5906 CALIPER REPAIR SET
Dimensions

CT 5603 SHAFT HOUSING11

CT 5605 CALIPER CALIBRATION BOLT22 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5649 CALIPER LEVER14 Angle 12°

CT 5609 NEEDLE BEARING25

CT 5201 DUST RUBBER26 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT27

CT 5250 DUST RUBBER BUSH28 16*18*10 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN19

CT 5601 CALIPER PINION SHAFT110

SN6... / SN7... / SK7... TYPE



SN Code Qty Desc.

CT 5905 CALIPER REPAIR SET
Dimensions

CT 5889 CALIPER PIN REPAIR KIT11

CT 5603 SHAFT HOUSING12

CT 5605 CALIPER CALIBRATION BOLT23 13,20 mm

CT 5600 ADJUSTING MECHANISM SHAFT14

CT 5601 CALIPER PINION SHAFT15

CT 5606 CALIPER CALIBRATION SHAFT CHAIN16

CT 5250 DUST RUBBER BUSH27 16*18*10 mm

CT 5643 NEEDLE BEARING SET18

CT 5200 DUST RUBBER 74 mm29 74 mm

CT 5202 SHAFT HOUSING BOOT210

106 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5930 CALIPER REPAIR SET
Dimensions

CT 5600 ADJUSTING MECHANISM SHAFT11

CT 5601 CALIPER PINION SHAFT12

CT 5604 SHAFT HOUSING13

CT 5606 CALIPER CALIBRATION SHAFT CHAIN15

CT 5624 CALIPER COVER15

CT 5801 CALIPER TAPPET & BOOT SET16 69 mm

CT 5605 CALIPER CALIBRATION BOLT27 13,20 mm

SN Code Qty Desc.

CT 5931 CALIPER REPAIR SET
Dimensions

CT 5600 ADJUSTING MECHANISM SHAFT11

CT 5601 CALIPER PINION SHAFT12

CT 5603 SHAFT HOUSING13

CT 5605 CALIPER CALIBRATION BOLT24 13,20 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN15

CT 5624 CALIPER COVER16

CT 5801 CALIPER TAPPET & BOOT SET17 69 mm

SN6... / SN7... / SK7... TYPE

SN Code Qty Desc.

CT 5925 ADJUSTING MECHANISM SET
Dimensions

CT 5930 CALIPER REPAIR SET11

CT 5627 NEEDLE BEARING SET12

CT 5858 CALIPER PIN REPAIR KIT13

107

SN Code Qty Desc.

CT 5928 CALIPER REPAIR SET
Dimensions

CT 5930 CALIPER REPAIR SET11

CT 5627 NEEDLE BEARING SET12

CT 5884 CALIPER PIN REPAIR KIT13

SN Code Qty Desc.

CT 5923 CALIPER REPAIR SET
Dimensions

CT 5931 CALIPER REPAIR SET11

CT 5643 NEEDLE BEARING SET12

CT 5855 CALIPER PIN REPAIR KIT13

SN6... / SN7... / SK7... TYPE



CALIPER TAPPET & BOOT SET

CT 5808
CALIPER TAPPET & BOOT SET

CT 5803

CT 5226 CALIPER TAPPET11 69 mm

CT 5260 CALIPER TAPPET BUSH12 15*17*8 mm

CT 5226 CALIPER TAPPET11 69 mm

CT 5260 CALIPER TAPPET BUSH12 15*17*8 mm

CT 5203 CALIPER SHAFT HOUSING BOOT13

109

SN Code Qty Desc.

CT 5804 CALIPER TAPPET & BOOT SET
Dimensions

CT 5226 CALIPER TAPPET21 69 mm

CT 5260 CALIPER TAPPET BUSH22 15*17*8 mm

SN Code Qty Desc.

CT 5805 CALIPER TAPPET & BOOT SET
Dimensions

O
E
M

K046523K50, K046523K50

CT 5226 CALIPER TAPPET21 69 mm

CT 5260 CALIPER TAPPET BUSH22 15*17*8 mm

CT 5203 CALIPER SHAFT HOUSING BOOT23

SL7... / SM7.../ ST7... TYPE



110 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5818 CALIPER TAPPET & BOOT SET
Dimensions

CT 5227 DUST RUBBER21

CT 5229 CALIPER SHAFT HOUSING BOOT22

CT 5308 CIRCLIP23

CT 5406
CALIPER PIN CAP SET

CT 5312 CALIPER PIN CAP51

CT 5414
CALIPER PIN CAP SET

CT 5821
CALIPER MECHANISM GEAR SET

CT 5313 CALIPER PIN CAP51 CT 5607 CALIPER MECHANISM GEAR51

SL7... / SM7.../ ST7... TYPE

SN Code Qty Desc.

CT 5805 CALIPER TAPPET & BOOT SET
Dimensions

O
E
M

K046523K50, K046523K50

CT 5226 CALIPER TAPPET21 69 mm

CT 5260 CALIPER TAPPET BUSH22 15*17*8 mm

CT 5229 CALIPER SHAFT HOUSING BOOT23

SN Code Qty Desc.

CT 5889 CALIPER PIN REPAIR KIT
Dimensions

O
E
M K001915, K048389K50,

K099604K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5152 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 5204 PIN BOOT (RED)16

CT 5252 CALIPER RUBBER BUSH17 39 mm

CT 5312 CALIPER PIN CAP18 40/14 mm

111

SN Code Qty Desc.

CT 5754 PIN REPAIR KIT
Dimensions

O
E
M

K108002K50

CT 5251 CALIPER PIN BUSH11 36*40*82

CT 5102 CALIPER PIN12 36*114 mm

CT 5107 CALIPER PIN13 36*64 mm

CT 5154 CALIPER PIN BOLT14 M16*1,5-75 mm

CT 5151 CALIPER PIN BOLT15 M16*1,5-85 mm

CT 5204 PIN BOOT (RED)26

CT 5312 CALIPER PIN CAP17 40/14 mm

CT 5313 CALIPER PIN CAP18 40/24 mm

CT 5261 PIN BUSH19 36*40*20 mm

SN Code Qty Desc.

CT 5835 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

K012912

CT 5100 CALIPER PIN11 32*80 mm

CT 5102 CALIPER PIN12 36*114 mm

CT 5151 CALIPER PIN BOLT13 M16*1,5-85 mm

CT 5152 CALIPER PIN BOLT14 M16*1,5-80 mm

CT 5312 CALIPER PIN CAP15 40/14 mm

CT 5214 PIN BOOT RING (WHITE)16

CT 5608 ADJUSTING MECHANISM ADAPTER17

CT 5305 ADJUSTING MECHANISM CAP18 38 mm

CT 5622 PAD RETAINER REPAIR KIT19 25 mm

SL7... / SM7.../ ST7... TYPE



CT 5600
ADJUSTING MECHANISM SHAFT

CT 5660
ADJUSTING MECHANISM SHAFT

CT 5684
CALIBRATION BOLT

112 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5672
PINION SHAFT

CT 5673
PINION SHAFT

CT 5674
PINION SHAFT

CT 5675
PINION SHAFT

CT 5654
CALIPER PINION SHAFT

CT 5655
CALIBRATION BOLT (NEW
MODEL)

SL7... / SM7.../ ST7... TYPE

NEEDLE BEARING

CT 5620
NEEDLE BEARING SET

CT 5686

CT 5620 NEEDLE BEARING21

113

CALIPER LEVER

CT 5685
CALIPER LEVER

CT 5687

CALIPER LEVER

CT 5653
SHAFT HOUSING SET

CT 5621

CT 5604 SHAFT HOUSING11

CT 5684 CALIBRATION BOLT22

SL7... / SM7.../ ST7... TYPE



CALIPER COVER (2 WIRES SENSOR)

CT 5623

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

114 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER COVER (3 WIRES SENSOR)
MAN TYPE

CT 5632
COVER (WITHOUT SENSOR)

CT 5662

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

SL7... / SM7.../ ST7... TYPE

CALIPER COVER (3 WIRES SENSOR)
MERCEDES TYPE

CT 5635
CALIPER COVER (WITHOUT SENSOR)

CT 5633

CT 5228 CALIPER MECHANISM COVER GASKET11

CT 5305 ADJUSTING MECHANISM CAP12 38 mm

CT 5325 COVER SEAL13

SHAFT HOUSING SET

CT 5758

CT 5604 SHAFT HOUSING11

CT 5655 CALIBRATION BOLT22

CALIPER COVER

CT 5624
CALIPER COVER

CT 5634

CT 5624/1 CALIPER COVER (JUST COVER )11

CT 5159 SHEET METAL CAP BOLT82 M8-16 mm

CT 5634/1 CALIPER COVER(JUST COVER)11

CT 5159 SHEET METAL CAP BOLT62 M8-16 mm

CT 5160 COVET BOLT23 M 8,5

115

COVER

CT 5657 Z001548

ADJUSTING MECHANISM ADAPTER SET

CT 5834
OEM

CT 5608 ADJUSTING MECHANISM ADAPTER101

CT 5690
ADJUSTING MECHANISM SHAFT

CT 5606
CALIPER CALIBRATION SHAFT
CHAIN

SL7... / SM7.../ ST7... TYPE

CT 5661
ADJUSTING MECHANISM SHAFT



CT 5408
PLASTIC GEAR SHAFT SET

CT 5236 PLASTIC GEAR SHAFT51

CT 5409
SENSOR PLASTIC LOCKER SET

CT 5331
CALIPER HEAD SEALING PLUG

CT 5237 SENSOR PLASTIC LOCKER51

116 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER HEAD SEALING PLUG SET

CT 5831
HEAD SEALING PLUG SET (PLASTIC)

CT 5837

CT 5331 CALIPER HEAD SEALING PLUG51 CT 5314 HEAD SEALING PLUG (plastıc)51

CT 5440
CALIPER PIN RUBBER CAP SET

CT 5234 CALIPER PIN RUBBER CAP51

CT 5441
CALIPER PIN RUBBER CAP SET

CT 5204
PIN BOOT (RED)

CT 5235 CALIPER PIN RUBBER CAP51 CT 5219 PIN BOOT (RED)11

CT 5214 PIN BOOT RING (WHITE)12

SL7... / SM7.../ ST7... TYPE

K000133

PAD RETAINER REPAIR KIT

CT 5622
OEM

K000029

ADJUSTING MECHANISM CAP SET

CT 5828
OEM

CT 5305 ADJUSTING MECHANISM CAP101 38 mm

CT 5608 ADJUSTING MECHANISM ADAPTER102

117

SN Code Qty Desc.

CT 5924 ADJUSTING MECHANISM SET
Dimensions

CT 5684 CALIBRATION BOLT21

CT 5604 SHAFT HOUSING12

CT 5675 PINION SHAFT13

CT 5600 ADJUSTING MECHANISM SHAFT14

CT 5606 CALIPER CALIBRATION SHAFT CHAIN15

CT 5260 CALIPER TAPPET BUSH26 15*17*8 mm

CT 5226 CALIPER TAPPET27 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT28

CT 5686 NEEDLE BEARING SET19

CT 5634 CALIPER COVER110

CT 5889 CALIPER PIN REPAIR KIT111

SN Code Qty Desc.

CT 5920 CALIPER REPAIR SET
Dimensions

CT 5684 CALIBRATION BOLT21

CT 5604 SHAFT HOUSING12

CT 5675 PINION SHAFT13

CT 5600 ADJUSTING MECHANISM SHAFT14

CT 5606 CALIPER CALIBRATION SHAFT CHAIN15

CT 5260 CALIPER TAPPET BUSH26 15*17*8 mm

CT 5226 CALIPER TAPPET27 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT28

CT 5686 NEEDLE BEARING SET19

CT 5624 CALIPER COVER110

CT 5889 CALIPER PIN REPAIR KIT111

SL7... / SM7.../ ST7... TYPE



SN Code Qty Desc.

CT 5914 CALIPER REPAIR SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5684 CALIBRATION BOLT22

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5685 CALIPER LEVER14

CT 5686 NEEDLE BEARING SET15

CT 5606 CALIPER CALIBRATION SHAFT CHAIN16

CT 5675 PINION SHAFT17

CT 5805 CALIPER TAPPET & BOOT SET18 69 mm

118 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 5919 CALIPER REPAIR SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5684 CALIBRATION BOLT22

CT 5600 ADJUSTING MECHANISM SHAFT13

CT 5653 CALIPER LEVER14

CT 5686 NEEDLE BEARING SET15

CT 5606 CALIPER CALIBRATION SHAFT CHAIN16

CT 5675 PINION SHAFT17

CT 5805 CALIPER TAPPET & BOOT SET18 69 mm

SN Code Qty Desc.

CT 5926 CALIPER REPAIR SET
Dimensions

CT 5684 CALIBRATION BOLT21

CT 5604 SHAFT HOUSING12

CT 5675 PINION SHAFT13

CT 5600 ADJUSTING MECHANISM SHAFT14

CT 5606 CALIPER CALIBRATION SHAFT CHAIN15

CT 5260 CALIPER TAPPET BUSH26 15*17*8 mm

CT 5226 CALIPER TAPPET27 69 mm

CT 5203 CALIPER SHAFT HOUSING BOOT28

CT 5686 NEEDLE BEARING SET19

CT 5624 CALIPER COVER110

CT 5754 PIN REPAIR KIT11

SL7... / SM7.../ ST7... TYPE

119

SN Code Qty Desc.

CT 5941 ADJUSTING MECHANISM SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5655 CALIBRATION BOLT (NEW MODEL)22

CT 5102 CALIPER PIN13 36*114 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5620 NEEDLE BEARING25

CT 5675 PINION SHAFT16

CT 5251 CALIPER PIN BUSH17 36*40*82

CT 5252 CALIPER RUBBER BUSH18 39 mm

CT 5312 CALIPER PIN CAP19 40/14 mm

CT 5204 PIN BOOT (RED)110

CT 5151 CALIPER PIN BOLT111 M16*1,5-85 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN112

CT 5657 COVER113

CT 5227 DUST RUBBER214

CT 5229 CALIPER SHAFT HOUSING BOOT215

CT 5308 CIRCLIP216

CT 5600 ADJUSTING MECHANISM SHAFT117

CT 5152 CALIPER PIN BOLT118 M16*1,5-80 mm

SN Code Qty Desc.

CT 5942 ADJUSTING MECHANISM SET
Dimensions

CT 5604 SHAFT HOUSING11

CT 5655 CALIBRATION BOLT (NEW MODEL)22

CT 5102 CALIPER PIN13 36*114 mm

CT 5100 CALIPER PIN14 32*80 mm

CT 5620 NEEDLE BEARING25

CT 5630 CALIPER LEVER16

CT 5675 PINION SHAFT17

CT 5251 CALIPER PIN BUSH18 36*40*82

CT 5252 CALIPER RUBBER BUSH19 39 mm

CT 5312 CALIPER PIN CAP110 40/14 mm

CT 5204 PIN BOOT (RED)111

CT 5151 CALIPER PIN BOLT112 M16*1,5-85 mm

CT 5606 CALIPER CALIBRATION SHAFT CHAIN113

CT 5657 COVER114

CT 5227 DUST RUBBER215

CT 5229 CALIPER SHAFT HOUSING BOOT216

CT 5308 CIRCLIP217

CT 5600 ADJUSTING MECHANISM SHAFT118

CT 5152 CALIPER PIN BOLT119 M16*1,5-80 mm

SL7... / SM7.../ ST7... TYPE

18

19



SN Code Qty Desc.

CT 5850 PIN REPAIR KIT
Dimensions

O
E
M

381.391

CT 17104 PIN11 24*92 mm

CT 17250 PIN BUSH12 38*24*55 mm

CT 17105 PIN13 45*150 mm

CT 17154 PIN BOLT14 M22*1,5-175 mm

CT 17155 PIN BOLT15 M16*1,5-124 mm

CT 17251 PIN BUSH26 50*45*40 mm

121

SN Code Qty Desc.

CT 5890 PIN REPAIR KIT
Dimensions

O
E
M

381.413

CT 5240 TAPPET BOOT11

CT 5223 PIN BOOT22

CT 5224 PIN BOOT23

CT 5225 PIN BOOT RING24

CT 5315 PIN BOOT RING25

CT 5316 WASHER16

CT 5317 PLASTIC WASHER17

II33692

PAD RETAINER BOLT KIT

CT 5451
OEM

PAD RETAINER KIT

CT 5450

BENDIX



CALIPER CARRIER LEFT 17.5''

CT 17900 640 195 069 0, 640 195 075 0,
6401950690, 6401950750

CALIPER CARRIER RIGHT

CT 17902
OEM

123

CALIPER CARRIER RIGHT 17,5''

CT 17903 640 195 068 0, 640 195 074 0,
6401950680, 6401950740

CALIPER CARRIER LEFT

CT 17904
OEM

640 322 005 0, 640 322 008 0,
6403220050, 6403220080

CALIPER CARRIER RIGHT

CT 17905
OEM

640 322 004 0, 640 322 007 0,
6403220040, 6403220070

CALIPER CARRIER LEFT

CT 17908
OEM

CARRIERS



40 195 017, 40 195 001, 40195017,
40195001

CALIPER CARRIER LEFT 22,5''

CT 17906
OEM

40 195 018, 40 195 002, 40195018,
40195002

CALIPER CARRIER RIGHT 22,5''

CT 17907
OEM

124 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER CARRIER RIGHT

CT 17910
CALIPER CARRIER LEFT

CT 17911

6402250310, 640 225 0310

CALIPER CARRIER RIGHT

CT 17912
OEM

6402250300, 640 225 0300

CALIPER CARRIER LEFT

CT 17913
OEM

CARRIERS

CALIPER CARRIER RIGHT

CT 17914
CALIPER CARRIER SOL

CT 17915

125

CALIPER CARRIER RIGHT

CT 17916
CALIPER CARRIER LEFT

CT 17917

CALIPER CARRIER RIGHT

CT 17918
CALIPER CARRIER LEFT

CT 17919

CARRIERS



640.915.745.4

CALIPER CARRIER RIGHT

CT 17920
OEM

640.915.744.4

CALIPER CARRIER LEFT

CT 17921
OEM

126 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER CARRIER RIGHT

CT 17922
CALIPER CARRIER LEFT

CT 17923

CALIPER CARRIER RIGHT

CT 17924
CALIPER CARRIER LEFT

CT 17925

CARRIERS

CALIPER CARRIER RIGHT

CT 17926
CALIPER CARRIER LEFT

CT 17927

127

CALIPER CARRIER RIGHT

CT 17928
CALIPER CARRIER LEFT

CT 17929

CALIPER CARRIER

CT 17930
CALIPER CARRIER

CT 17931

CARRIERS



SN Code Qty Desc.

CT 7803 CALIPER BOOT & PIN CAP SET
Dimensions

CT 7200 ADJUSTING MECHANISM DUST11

CT 7201 CALIPER PIN BOOT22

CT 7303 CALIPER PIN CAP13 34/38 mm

CT 7300 PIN CAP14 34/17 mm

129

SN Code Qty Desc.

CT 7802 CALIPER BOOT & PIN CAP SET
Dimensions

CT 7300 PIN CAP21 34/17 mm

CT 7250 CALIPER PIN BUSH32 30*34*20 mm

CT 7200 ADJUSTING MECHANISM DUST13

CT 7201 CALIPER PIN BOOT24

SN Code Qty Desc.

CT 7800 DUST RUBBER SET
Dimensions

CT 7200 ADJUSTING MECHANISM DUST11

CT 7201 CALIPER PIN BOOT22

17,5" TYPE



SN Code Qty Desc.

CT 7850 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 699, 12 999 702

CT 7200 ADJUSTING MECHANISM DUST RUBBER11

CT 7201 CALIPER PIN BOOT22

CT 7100 CALIPER PIN13 30*77 mm

CT 7153 CALIPER PIN BOLT14 M16*1,5-70 mm

CT 7101 CALIPER PIN15 30*91 mm

CT 7154 CALIPER PIN BOLT16 M16*1,5-90 mm

CT 7300 PIN CAP27 34/17 mm

CT 7250 CALIPER PIN BUSH38 30*34*20 mm

CT 7210 HEAD CAP19

130 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7857 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 704

CT 7200 ADJUSTING MECHANISM DUST RUBBER11

CT 7201 CALIPER PIN BOOT22

CT 7210 HEAD CAP13

CT 7154 CALIPER PIN BOLT14 M16*1,5-90 mm

CT 7153 CALIPER PIN BOLT15 M16*1,5-70 mm

CT 7250 CALIPER PIN BUSH36 30*34*20 mm

CT 7300 PIN CAP27 34/17 mm

SN Code Qty Desc.

CT 7858 CALIPER PIN REPAIR KIT
Dimensions

CT 7250 CALIPER PIN BUSH31 30*34*20 mm

CT 7100 CALIPER PIN12 30*77 mm

CT 7101 CALIPER PIN13 30*91 mm

CT 7153 CALIPER PIN BOLT14 M16*1,5-70 mm

CT 7154 CALIPER PIN BOLT15 M16*1,5-90 mm

17,5" TYPE

SN Code Qty Desc.

CT 7860 CALIPER BOOT & CAP SET
Dimensions

O
E
M

12 999 580

CT 7308 HEAD GASKET11

CT 7201 CALIPER PIN BOOT22

CT 7307 CALIPER HEAD SEAL13

CT 7200 ADJUSTING MECHANISM DUST14

CT 7154 CALIPER PIN BOLT15 M16*1,5-90 mm

CT 7153 CALIPER PIN BOLT16 M16*1,5-70 mm

CT 7210 HEAD CAP17

CT 7300 PIN CAP28 34/17 mm

CT 7157 COVER BOLT89 M10*1-40 mm

CT 7250 CALIPER PIN BUSH310 30*34*20 mm

CT 7209 HEAD SEAL111

131

SN Code Qty Desc.

CT 7859 HEAD GASKET SET
Dimensions

CT 7308 HEAD GASKET11

CT 7307 CALIPER HEAD SEAL12

CT 7210 HEAD CAP13

CT 7157 COVER BOLT84 M10*1-40 mm

CT 7209 HEAD SEAL15

SN Code Qty Desc.

CT 7325 HEAD GASKET SET
Dimensions

CT 7308 HEAD GASKET11

CT 7307 CALIPER HEAD SEAL12

CT 7210 HEAD CAP13

CT 7209 HEAD SEAL14

17,5" TYPE



CT 7150
CALIBRATION BOLT

CT 7151
CALIBRATION BOLT

CT 7457
SHAFT HOUSING SPRING

132 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 7456
ADJUSTING SPRING

CT 7658
NEEDLE BEARING

CT 7627
NEEDLE BEARING SET

CT 7658 NEEDLE BEARING21

WASHER & RING SET

CT 7450
WASHER & RING SET

CT 7451

CT 7458 ADJUSTER MECHANISM WASHER11

CT 7459 ADJUSTER MECHANISM WASHER12

CT 7460 ADJUSTER MECHANISM RING13

CT 7456 ADJUSTING SPRING11

CT 7458 ADJUSTER MECHANISM WASHER11

CT 7459 ADJUSTER MECHANISM WASHER13

17,5" TYPE

ADJUSTING MECHANISM REPAIR KIT

CT 7452
WASHER & RING SET

CT 7453

CT 7462 ADJUSTING MECHANISM WASHER11

CT 7463 MECHANISM TORSION SPRING RING12

CT 7464 ADJUSTING MECHANISM RING13

CT 7456 ADJUSTING SPRING11

CT 7458 ADJUSTER MECHANISM WASHER12

CT 7459 ADJUSTER MECHANISM WASHER13

133

ADJUSTING MECHANISM SET

CT 7502
ADJUSTING MECHANISM SET

CT 7503

CT 7520 ADJUSTING MECHANISM11 110 mm

CT 7150 CALIBRATION BOLT12

CT 7520 ADJUSTING MECHANISM11 110 mm

CT 7151 CALIBRATION BOLT12

ADJUSTING MECHANISM SET

CT 7600
ADJUSTING MECHANISM SET

CT 7601

CT 7520 ADJUSTING MECHANISM11 110 mm

CT 7150 CALIBRATION BOLT12

CT 7456 ADJUSTING SPRING13

CT 7520 ADJUSTING MECHANISM11 110 mm

CT 7151 CALIBRATION BOLT12

CT 7456 ADJUSTING SPRING13

17,5" TYPE



CALIPER LEVER

CT 7608
SHAFT HOUSING

CT 7609

CT 7519 SHAFT HOUSING(THIN)11

CT 7457 SHAFT HOUSING SPRING22

134 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

BRAKE LINING PLATE RIGHT

CT 7650
BRAKE LINING PLATE LEFT

CT 7651

BRAKE LINING PLATE RIGHT

CT 7652
BRAKE LINING PLATE LEFT

CT 7653

17,5" TYPE

SN Code Qty Desc.

CT 7904 ADJUSTING MECHANISM SET
Dimensions

CT 7904/1 ADJUSTING MECHANISM SET (W/O SPRING)11

CT 7457 SHAFT HOUSING SPRING22

135

SN Code Qty Desc.

CT 7668 BRAKE PAD RETAINER SET
Dimensions

SN Code Qty Desc.

CT 7900 ADJUSTING MECHANISM SET
Dimensions

CT 7200 ADJUSTING MECHANISM DUST11

CT 7201 CALIPER PIN BOOT22

CT 7154 CALIPER PIN BOLT13 M16*1,5-90 mm

CT 7101 CALIPER PIN14 30*91 mm

CT 7153 CALIPER PIN BOLT15 M16*1,5-70 mm

CT 7100 CALIPER PIN16 30*77 mm

CT 7600 ADJUSTING MECHANISM SET17 110 mm

CT 7300 PIN CAP28 34/17 mm

CT 7250 CALIPER PIN BUSH39 30*34*20 mm

CT 7210 HEAD CAP110

17,5" TYPE



SN Code Qty Desc.

CT 7901 ADJUSTING MECHANISM SET
Dimensions

CT 7200 ADJUSTING MECHANISM DUST RUBBER11

CT 7201 CALIPER PIN BOOT22

CT 7154 CALIPER PIN BOLT13 M16*1,5-90 mm

CT 7101 CALIPER PIN14 30*91 mm

CT 7153 CALIPER PIN BOLT15 M16*1,5-70 mm

CT 7100 CALIPER PIN16 30*77 mm

CT 7601 ADJUSTING MECHANISM SET17

CT 7300 PIN CAP28 34/17 mm

CT 7250 CALIPER PIN BUSH39 30*34*20 mm

CT 7210 HEAD CAP110

136 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7905 ADJUSTING MECHANISM SET
Dimensions

CT 7200 ADJUSTING MECHANISM DUST RUBBER11

CT 7201 CALIPER PIN BOOT22

CT 7154 CALIPER PIN BOLT13 M16*1,5-90 mm

CT 7101 CALIPER PIN14 30*91 mm

CT 7153 CALIPER PIN BOLT15 M16*1,5-70 mm

CT 7100 CALIPER PIN16 30*77 mm

CT 7600 ADJUSTING MECHANISM SET17 110 mm

CT 7300 PIN CAP28 34/17 mm

CT 7250 CALIPER PIN BUSH39 30*34*20 mm

CT 7210 HEAD CAP110

CT 7609 SHAFT HOUSING111

17,5" TYPE

137

SN Code Qty Desc.

CT 7920 CALIPER MECHANISM SET LEFT
Dimensions

CT 7850 CALIPER PIN REPAIR KIT11

CT 7653 BRAKE LINING PLATE LEFT12

CT 7859 HEAD GASKET SET13

CT 7627 NEEDLE BEARING SET14

CT 7608 CALIPER LEVER15

CT 7904 ADJUSTING MECHANISM SET16 110 mm

SN Code Qty Desc.

CT 7921 CALIPER MECHANISM SET RIGHT
Dimensions

CT 7850 CALIPER PIN REPAIR KIT11

CT 7652 BRAKE LINING PLATE RIGHT12

CT 7859 HEAD GASKET SET13

CT 7627 NEEDLE BEARING SET14

CT 7608 CALIPER LEVER15

CT 7904 ADJUSTING MECHANISM SET16 110 mm

17,5" TYPE



SN Code Qty Desc.

CT 7853 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 776

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7103 CALIPER PIN13 38*76 mm

CT 7156 CALIPER PIN BOLT14 M16*1,5-80 mm

CT 7102 CALIPER PIN15 38*120 mm

CT 7155 CALIPER PIN BOLT16 M16*1,5-120 mm

CT 7251 CALIPER PIN BUSH37 38*42*30 mm

CT 7301 CALIPER PIN CAP18 42/17 mm

CT 7302 CALIPER PIN CAP19 42/28 mm

CT 7208 PIN BOOT WASHER210

139

SN Code Qty Desc.

CT 7856 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 738

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7302 CALIPER PIN CAP23 42/28 mm

CT 7301 CALIPER PIN CAP24 42/17 mm

CT 7206 CALIPER PIN BOOT25

CT 7210 HEAD CAP16

CT 7208 PIN BOOT WASHER47

CT 7251 CALIPER PIN BUSH38 38*42*30 mm

CT 7102 CALIPER PIN19 38*120 mm

CT 7155 CALIPER PIN BOLT110 M16*1,5-120 mm

CT 7103 CALIPER PIN111 38*76 mm

CT 7156 CALIPER PIN BOLT112 M16*1,5-80 mm

SN Code Qty Desc.

CT 7855 CALIPER BOOT & CAP SET
Dimensions

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7302 CALIPER PIN CAP23 42/28 mm

CT 7301 CALIPER PIN CAP14 42/17 mm

CT 7206 CALIPER PIN BOOT25

CT 7210 HEAD CAP16

CT 7208 PIN BOOT WASHER47

CT 7251 CALIPER PIN BUSH38 38*42*30 mm

19,5" / 22,5"
(SINGLE PISTON) TYPE



SN Code Qty Desc.

CT 7813 CALIPER BOOT KIT
Dimensions

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7302 CALIPER PIN CAP23 42/28 mm

CT 7301 CALIPER PIN CAP14 42/17 mm

CT 7208 PIN BOOT WASHER25

CT 7251 CALIPER PIN BUSH36 38*42*30 mm

140 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7804 CALIPER BOOT SET
Dimensions

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7206 CALIPER PIN BOOT23

CT 7208 PIN BOOT WASHER44

SN Code Qty Desc.

CT 7801 CALIPER BOOT SET
Dimensions

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7208 PIN BOOT WASHER23

19,5" / 22,5"
(SINGLE PISTON) TYPE

CALIPER BOOT & SEAL SET

CT 7809
CALIBRATION BOLT

CT 7152

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7307 CALIPER HEAD SEAL12

CT 7210 HEAD CAP13

141

SN Code Qty Desc.

CT 7327 HEAD GASKET SET
Dimensions

CT 7308 HEAD GASKET11

CT 7307 CALIPER HEAD SEAL12

CT 7210 HEAD CAP13

CT 7209 HEAD SEAL14

SN Code Qty Desc.

CT 7328 HEAD GASKET SET
Dimensions

CT 7308 HEAD GASKET11

CT 7307 CALIPER HEAD SEAL12

CT 7210 HEAD CAP13

CT 7157 COVER BOLT84 M10*1-40 mm

CT 7209 HEAD SEAL15

19,5" / 22,5"
(SINGLE PISTON) TYPE



CT 7658
NEEDLE BEARING

CT 7627
NEEDLE BEARING SET

CT 7456
ADJUSTING SPRING

CT 7658 NEEDLE BEARING21

142 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTING MECHANISM SET

CT 7504
ADJUSTING MECHANISM SET

CT 7603

CT 7521 ADJUSTING MECHANISM (115MM)11 115 mm

CT 7152 CALIBRATION BOLT12

CT 7521 ADJUSTING MECHANISM (115MM)11 115 mm

CT 7152 CALIBRATION BOLT12

CT 7456 ADJUSTING SPRING13

WASHER & RING SET

CT 7450
WASHER & RING SET

CT 7451

CT 7458 ADJUSTER MECHANISM WASHER11

CT 7459 ADJUSTER MECHANISM WASHER12

CT 7460 ADJUSTER MECHANISM RING13

CT 7456 ADJUSTING SPRING11

CT 7458 ADJUSTER MECHANISM WASHER11

CT 7459 ADJUSTER MECHANISM WASHER13

19,5" / 22,5"
(SINGLE PISTON) TYPE

ADJUSTING MECHANISM REPAIR KIT

CT 7452
CALIPER LEVER

CT 7608

CT 7462 ADJUSTING MECHANISM WASHER11

CT 7463 MECHANISM TORSION SPRING RING12

CT 7464 ADJUSTING MECHANISM RING13

143

SHAFT HOUSING

CT 7611
BRAKE PAD RETAINER SET

CT 7666

CT 7518 SHAFT HOUSING (THICK)11

CT 7457 SHAFT HOUSING SPRING22

BRAKE LINING PLATE RIGHT

CT 7654
BRAKE LINING PLATE LEFT

CT 7655

19,5" / 22,5"
(SINGLE PISTON) TYPE



SN Code Qty Desc.

CT 7907 ADJUSTING MECHANISM SET
Dimensions

CT 7907/1 ADJUSTING MECHANISM SET (W/O SPRING)11

CT 7457 SHAFT HOUSING SPRING22

144 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

BRAKE LINING PLATE RIGHT

CT 7656
BRAKE LINING PLATE LEFT

CT 7657

SN Code Qty Desc.

CT 7667 BRAKE PAD RETAINER SET
Dimensions

19,5" / 22,5"
(SINGLE PISTON) TYPE

SN Code Qty Desc.

CT 7902 ADJUSTING MECHANISM SET
Dimensions

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7603 ADJUSTING MECHANISM SET13

CT 7103 CALIPER PIN14 38*76 mm

CT 7156 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 7102 CALIPER PIN16 38*120 mm

CT 7155 CALIPER PIN BOLT17 M16*1,5-120 mm

CT 7251 CALIPER PIN BUSH38 38*42*30 mm

CT 7302 CALIPER PIN CAP19 42/28 mm

CT 7301 CALIPER PIN CAP110 42/17 mm

CT 7208 PIN BOOT WASHER211

145

SN Code Qty Desc.

CT 7908 ADJUSTING MECHANISM SET
Dimensions

CT 7202 ADJUSTING MECHANISM BOOT11

CT 7203 CALIPER PIN BOOT22

CT 7603 ADJUSTING MECHANISM SET13

CT 7103 CALIPER PIN14 38*76 mm

CT 7156 CALIPER PIN BOLT15 M16*1,5-80 mm

CT 7102 CALIPER PIN16 38*120 mm

CT 7155 CALIPER PIN BOLT17 M16*1,5-120 mm

CT 7251 CALIPER PIN BUSH38 38*42*30 mm

CT 7302 CALIPER PIN CAP19 42/28 mm

CT 7301 CALIPER PIN CAP110 42/17 mm

CT 7208 PIN BOOT WASHER211

CT 7611 SHAFT HOUSING112

19,5" / 22,5"
(SINGLE PISTON) TYPE



146 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7918 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 7856 CALIPER PIN REPAIR KIT11

CT 7654 BRAKE LINING PLATE RIGHT12

CT 7859 HEAD GASKET SET13

CT 7627 NEEDLE BEARING SET14

CT 7608 CALIPER LEVER15

CT 7907 ADJUSTING MECHANISM SET16

SN Code Qty Desc.

CT 7919 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 7856 CALIPER PIN REPAIR KIT11

CT 7655 BRAKE LINING PLATE LEFT12

CT 7859 HEAD GASKET SET13

CT 7627 NEEDLE BEARING SET14

CT 7608 CALIPER LEVER15

CT 7907 ADJUSTING MECHANISM SET16

19,5" / 22,5"
(SINGLE PISTON) TYPE

147

SN Code Qty Desc.

CT 7922 CALIPER MECHANISM SET LEFT
Dimensions

CT 7853 CALIPER PIN REPAIR KIT11

CT 7657 BRAKE LINING PLATE LEFT12

CT 7859 HEAD GASKET SET13

CT 7627 NEEDLE BEARING SET14

CT 7608 CALIPER LEVER15

CT 7907 ADJUSTING MECHANISM SET16

SN Code Qty Desc.

CT 7923 CALIPER MECHANISM SET RIGHT
Dimensions

CT 7853 CALIPER PIN REPAIR KIT11

CT 7656 BRAKE LINING PLATE RIGHT12

CT 7859 HEAD GASKET SET13

CT 7627 NEEDLE BEARING SET14

CT 7608 CALIPER LEVER15

CT 7907 ADJUSTING MECHANISM SET16

19,5" / 22,5"
(SINGLE PISTON) TYPE



SN Code Qty Desc.

CT 7871 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 678

CT 7251 CALIPER PIN BUSH31 38*42*30 mm

CT 7229 CALIPER PIN BOOT12

CT 7301 CALIPER PIN CAP13 42/17 mm

CT 7206 CALIPER PIN BOOT24

CT 7112 PIN15 38*128 mm

CT 7113 PIN16 38*70 mm

CT 7163 CALIPER PIN BOLT17 M16*1,5-130 mm

CT 7156 CALIPER PIN BOLT18 M16*1,5-80 mm

CT 7208 PIN BOOT WASHER29

CT 7316 CALIPER PIN RING110

149

SN Code Qty Desc.

CT 7862 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 746, 12 999 746VT

CT 7251 CALIPER PIN BUSH31 38*42*30 mm

CT 7301 CALIPER PIN CAP12 42/17 mm

CT 7302 CALIPER PIN CAP13 42/28 mm

CT 7206 CALIPER PIN BOOT24

CT 7205 TAPPET BOOT25

CT 7102 CALIPER PIN16 38*120 mm

CT 7210 HEAD CAP27

CT 7103 CALIPER PIN18 38*76 mm

CT 7155 CALIPER PIN BOLT19 M16*1,5-120 mm

CT 7156 CALIPER PIN BOLT110 M16*1,5-80 mm

CT 7208 PIN BOOT WASHER211

CT 7310 TAPPET CLIPS212

CT 7311 TAPPET213

SN Code Qty Desc.

CT 7806 TAPPET BOOT SET
Dimensions

CT 7310 TAPPET CLIPS21

CT 7205 TAPPET BOOT22

CT 7311 TAPPET23

CT 7208 PIN BOOT WASHER24

CT 7206 CALIPER PIN BOOT25

19,5" / 22,5"
(DOUBLE PISTON) TYPE



SN Code Qty Desc.

CT 7805 TAPPET BOOT SET
Dimensions

CT 7310 TAPPET CLIPS21

CT 7205 TAPPET BOOT22

CT 7311 TAPPET23

150 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

BEARING SADDLE

CT 7621
NEEDLE BEARING SET

CT 7629

CT 7628
NEEDLE BEARING SET

CT 7467
CALIBRATION BOLT LOCKING
PLATE

CT 7602
CALIBRATION BOLT RIGHT

19,5" / 22,5"
(DOUBLE PISTON) TYPE

CALIBRATION BOLT LEFT

CT 7604
CALIBRATION BOLT SET RIGHT

CT 7607

151

CALIBRATION BOLT SET LEFT

CT 7610
CALIBRATION BOLT SET R/L

CT 7606

CT 7602 CALIBRATION BOLT RIGHT11

CT 7604 CALIBRATION BOLT LEFT12

CALIBRATION BOLT SET R/L

CT 7612
SHAFT HOUSING

CT 7605

CT 7610 CALIBRATION BOLT SET LEFT11

CT 7607 CALIBRATION BOLT SET RIGHT12

19,5" / 22,5"
(DOUBLE PISTON) TYPE



SHAFT HOUSING SET

CT 7613
CALIPER LEVER

CT 7623

152 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER LEVER

CT 7615
CALIPER LEVER REPAIR KIT

CT 7614

CALIPER MECHANISM GEAR SET RIGHT

CT 7616
CALIPER MECHANISM GEAR SET LEFT

CT 7617

19,5" / 22,5"
(DOUBLE PISTON) TYPE

CALIPER MECHANISM PIN SET

CT 7618
CALIPER LEVER PIN

CT 7619

153

CALIPER MECHANISM GEAR SET

CT 7620
CALIPER MECHANISM REPAIR KIT

CT 7824

CALIPER MECHANISM GEAR SET

CT 7625
CALIPER LEVER SET

CT 7622

19,5" / 22,5"
(DOUBLE PISTON) TYPE



SN Code Qty Desc.

CT 7326 HEAD GASKET SET
Dimensions

CT 7326/1 HEAD GASKET11

CT 7210 HEAD CAP22

CT 7307 CALIPER HEAD SEAL23

CT 7157 COVER BOLT24 M10*1-40 mm

CT 9160 BOLT55 M16*1,5-40 mm

154 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7665 BRAKE PAD RETAINER SET
Dimensions

19,5" / 22,5"
(DOUBLE PISTON) TYPE

155

SN Code Qty Desc.

CT 7924 CALIPER MECHANISM SET
Dimensions

CT 7862 CALIPER PIN REPAIR KIT11

CT 7326 HEAD GASKET SET12

CT 7629 NEEDLE BEARING SET13

CT 7628 NEEDLE BEARING SET14

CT 7615 CALIPER LEVER15

CT 7621 BEARING SADDLE16

CT 7824 CALIPER MECHANISM REPAIR KIT17

CT 7613 SHAFT HOUSING SET18

SN Code Qty Desc.

CT 7925 CALIPER MECHANISM SET
Dimensions

CT 7805 TAPPET BOOT SET11

CT 7326 HEAD GASKET SET12

CT 7629 NEEDLE BEARING SET13

CT 7628 NEEDLE BEARING SET14

CT 7615 CALIPER LEVER15

CT 7621 BEARING SADDLE16

CT 7824 CALIPER MECHANISM REPAIR KIT17

CT 7613 SHAFT HOUSING SET18

CT 7871 CALIPER PIN REPAIR KIT19

19,5" / 22,5"
(DOUBLE PISTON) TYPE



SN Code Qty Desc.

CT 7864 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

640 322 926 2

CT 7211 CALIPER PIN BOOT21

CT 7212 ADJUSTING MECHANISM BOOT12

CT 7213 PIN BOOT WASHER23

CT 7102 CALIPER PIN14 38*120 mm

CT 7103 CALIPER PIN15 38*76 mm

CT 7160 CALIPER PIN BOLT16 M16*1,5-120 mm

CT 7161 CALIPER PIN BOLT17 M16*1,5-80 mm

CT 7301 CALIPER PIN CAP28 42/17 mm

CT 7258 CALIPER PIN BUSH39 42*38*35 mm

CT 7210 HEAD CAP110

157

SN Code Qty Desc.

CT 7807 CALIPER BOOT SET
Dimensions

CT 7211 CALIPER PIN BOOT21

CT 7212 ADJUSTING MECHANISM BOOT12

CT 7213 PIN BOOT WASHER23

ADJUSTING MECHANISM

CT 7630
CALIBRATION BOLT

CT 7631

MAXX 22" TYPE



ADJUSTING MECHANISM SET

CT 7632
ADJUSTING MECHANISM WASHER SET

CT 7633

CT 7214 CALIBRATION BOLT SEAL11

CT 7468 ADJUSTER MECHANISM WASHER32

CT 7469 ADJUSTER MECHANISM WASHER13

CT 7468 ADJUSTER MECHANISM WASHER31

CT 7470 ADJUSTER MECHANISM WASHER12

CT 7469 ADJUSTER MECHANISM WASHER13

158 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SHAFT HOUSING

CT 7635
CALIPER LEVER

CT 7637

CT 7517 SHAFT HOUSING (MAX22)11

CT 7448 SHAFT HOUSING (MAXX 22)12

CT 7634
MECHANISM REPAIR KIT

CT 7473 ADJUSTER MECHANISM RING11

CT 7474 ADJUSTER MECHANISM SPRING12

CT 7475 ADJUSTER MECHANISM RING13

CT 7476
ADJUSTING MECHANISM SHIELD

CT 7477
ADJUSTING MECHANISM GEAR

MAXX 22" TYPE

CALIBRATION BOLT SEAL

CT 7214
NEEDLE BEARING SET

CT 7636

CT 7659 NEEDLE BEARING21

159

CALIPER LEVER PIN

CT 7479
NEEDLE BEARING SET

CT 7480

CT 7313 CALIPER LEVER PIN21 CT 7478 CALIPER LEVER BUSH SET11

CT 7479 CALIPER LEVER PIN12

CT 7636 NEEDLE BEARING SET13

CALIPER ADJUSTER REPAIR KIT

CT 7638 640 322 927 2, 6403229272

CALIPER ADJUSTER REPAIR KIT

CT 7639
OEM

CT 7638 CALIPER ADJUSTER REPAIR KIT11

CT 7314 HEAD SEAL SET13

MAXX 22" TYPE



CALIPER COVER

CT 7640
CALIPER COVER SEAL

CT 7320

CT 7320 CALIPER COVER SEAL11

CT 5159 SHEET METAL CAP BOLT62 M8-16 mm

CT 7640/1 CALIPER COVER WITHOUT NUT13

160 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7909 CALIPER ADJUSTING MECHANISM SET
Dimensions

CT 7909/1 ADJUSTING MECHANISM SET11

CT 7356 SHAFT HOUSING SPRING22

CALIPER LEVER BUSH SET

CT 7478
HEAD SEAL SET

CT 7314

CT 7312 CALIPER LEVER BUSH21 CT 7210 HEAD CAP11

CT 7315 MECHANISM SEAL12

MAXX 22" TYPE

CALIPER MECHANISM COVER (MERCEDES
TYPE)

CT 7646 6403229282, 640 322 928 2

CALIPER MECHANISM COVER (MAN TYPE)

CT 7647
OEM

161

BRAKE LINING PLATE RIGHT

CT 7660
BRAKE LINING PLATE LEFT

CT 7661

CALIPER PAD RETAINER

CT 7319
BRAKE PAD RETAINER SET

CT 7671

MAXX 22" TYPE



162 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7926 CALIPER MECHANISM SET LEFT
Dimensions

CT 7864 CALIPER PIN REPAIR KIT11

CT 7661 BRAKE LINING PLATE LEFT12

CT 7636 NEEDLE BEARING SET13

CT 7638 CALIPER ADJUSTER REPAIR KIT14

CT 7909 CALIPER ADJUSTING MECHANISM SET15

CT 7637 CALIPER LEVER16

CT 7640 CALIPER COVER17

CT 7315 MECHANISM SEAL18

SN Code Qty Desc.

CT 7927 CALIPER MECHANISM SET RIGHT
Dimensions

CT 7864 CALIPER PIN REPAIR KIT11

CT 7660 BRAKE LINING PLATE RIGHT12

CT 7636 NEEDLE BEARING SET13

CT 7638 CALIPER ADJUSTER REPAIR KIT14

CT 7909 CALIPER ADJUSTING MECHANISM SET15

CT 7637 CALIPER LEVER16

CT 7640 CALIPER COVER17

CT 7315 MECHANISM SEAL18

MAXX 22" TYPE



SN Code Qty Desc.

CT 7865 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

12 999 551, 12999551

CT 7109 CALIPER PIN11 35*110 mm

CT 7110 CALIPER PIN12 34,8*85mm

CT 7162 CALIPER PIN BOLT23 M16*1.5*110 MM

CT 7255 CALIPER PIN BUSH34 35*39*20 mm

CT 7301 CALIPER PIN CAP25 42/17 mm

CT 7216 CALIPER PIN BOOT26

165

SN Code Qty Desc.

CT 7810 CALIPER BOOT SET
Dimensions

O
E
M

12 999 552

CT 7215 CALIPER BOOT11

CT 7216 CALIPER PIN BOOT22

CT 7217 SEAL13

CT 7330 SPRING14

CT 7329 BEARING SADDLE15

CT 7331 BOLT16

SN Code Qty Desc.

CT 7866 CALIPER PIN REPAIR KIT
Dimensions

CT 7109 CALIPER PIN11 35*110 mm

CT 7110 CALIPER PIN12 34,8*85mm

CT 7162 CALIPER PIN BOLT23 M16*1.5*110 MM

1600 V-G TYPE



CALIPER BOOT SET

CT 7808
CALIPER WASHER & BEARING SET

CT 7867

CT 7215 CALIPER BOOT11

CT 7216 CALIPER PIN BOOT22

CT 7217 SEAL11

CT 7329 BEARING SADDLE22

CT 7481 THRUST BEARING13

166 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SPLINE SHAFT SET RIGHT

CT 7674
SPLINE SHAFT SET LEFT

CT 7675

CT 7505 SPLINE SHAFT RIGHT11

CT 7506 BEARING HOUSE RIGHT12

CT 7486 BEARING33

CT 7507 SPLINE SHAFT LEFT11

CT 7508 BEARING HOUSE LEFT12

CT 7486 BEARING33

BRAKE LINING PLATE

CT 7662
LEVER

CT 7676

1600 V-G TYPE

CALIPER REPAIR KIT

CT 7868
BEARING SET

CT 7869

CT 7330 SPRING11

CT 7331 BOLT12

CT 7332 SPRING13

CT 7486 BEARING31

167

MECHANISM SHAFT HOUSING RIGHT

CT 7509
MECHANISM SHAFT HOUSING LEFT

CT 7510

12 999 550

CALIPER REPAIR KIT RIGHT

CT 7672
OEM

12 999 549

CALIPER REPAIR KIT LEFT

CT 7673
OEM

CT 7509 MECHANISM SHAFT HOUSING RIGHT11

CT 7162 CALIPER PIN BOLT42 M16*1.5*110 MM

CT 7868 CALIPER REPAIR KIT13

CT 7510 MECHANISM SHAFT HOUSING LEFT11

CT 7162 CALIPER PIN BOLT42 M16*1.5*110 MM

CT 7868 CALIPER REPAIR KIT13

1600 V-G TYPE



SPLINE SHAFT SET RIGHT

CT 7910
SPLINE SHAFT SET LEFT

CT 7911

CT 7674 SPLINE SHAFT SET RIGHT11

CT 7509 MECHANISM SHAFT HOUSING RIGHT12

CT 7868 CALIPER REPAIR KIT13

CT 7675 SPLINE SHAFT SET LEFT11

CT 7510 MECHANISM SHAFT HOUSING LEFT12

CT 7868 CALIPER REPAIR KIT13

168 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7912 CALIPER REPAIR KIT SET RIGHT
Dimensions

O
E
M

12 999 548

CT 7910 SPLINE SHAFT SET RIGHT11

CT 7865 CALIPER PIN REPAIR KIT12

CT 7215 CALIPER BOOT13

CT 7218 SEAL14

SN Code Qty Desc.

CT 7913 CALIPER REPAIR KIT LEFT
Dimensions

O
E
M

12 999 547

CT 7911 SPLINE SHAFT SET LEFT11

CT 7865 CALIPER PIN REPAIR KIT12

CT 7215 CALIPER BOOT13

CT 7218 SEAL14

1600 V-G TYPE



SN Code Qty Desc.

CT 7863 PIN REPAIR KIT
Dimensions

O
E
M

12 999 729

CT 7105 PIN21 24,6*81 mm

CT 7106 PIN22 25*81 mm

CT 7158 PIN BOLT43 M12*1,50-90 mm

CT 7224 PIN BOOT44

CT 7225 TAPPET BOOT25

CT 7226 RUBBER CAP26

CT 7254 PIN BUSH87 25*28*15 mm

CT 7318 PIN CAP48 28/16 mm

CT 7227 O-RING29

CT 7355 SPRING210

CT 7159 BOLT211

CT 7228 SEAL212

171

1000 V-G TYPE



SN Code Qty Desc.

CT 7872 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

640 922 928 2, 6402229282

CT 7221 PIN BOOT21

CT 7251 CALIPER PIN BUSH32 38*42*30 mm

CT 7212 ADJUSTING MECHANISM BOOT13

CT 7210 HEAD CAP14

CT 7301 CALIPER PIN CAP25 42/17 mm

CT 7114 CALIPER PIN16 38*118 mm

CT 7115 CALIPER PIN17 37.7*76 mm

CT 7167 PIN BOLT28 M16*1,5-80 mm

173

SN Code Qty Desc.

CT 7873 BOOT AND BUSH REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7221 PIN BOOT22

CT 7251 CALIPER PIN BUSH33 38*42*30 mm

CT 7301 CALIPER PIN CAP24 42/17 mm

CT 7210 HEAD CAP15

640 175 920 2, 6401759202

CALIPER BOOT REPAIR KIT

CT 7812
OEM

CALIPER BOOT REPAIR KIT

CT 7811

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7210 HEAD CAP12

CT 7307 CALIPER HEAD SEAL13

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7221 PIN BOOT22

MAXX 22T TYPE



CALIPER ADJUSTER BOLT

CT 7165
NEEDLE BEARING SET

CT 7636

CT 7659 NEEDLE BEARING21

174 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

NEEDLE BEARING SET

CT 7480
CALIPER LEVER

CT 7645

CT 7478 CALIPER LEVER BUSH SET11

CT 7479 CALIPER LEVER PIN12

CT 7636 NEEDLE BEARING SET13

CT 7693 CALIPER LEVER11

CT 7312 CALIPER LEVER BUSH22

CT 7313 CALIPER LEVER PIN23

CALIPER MECHANISM COVER

CT 7641
CALIPER SHAFT HOUSING

CT 7643

CT 7309 CALİPER MECHANİSM COVER(NOT BOLT)11

CT 7223 MECHANISM COVER SEAL12

CT 5159 SHEET METAL CAP BOLT63 M8-16 mm

CT 7513 SHAFT HOUSE (MAXX 22T)11

CT 7356 SHAFT HOUSING SPRING12

MAXX 22T TYPE

SN Code Qty Desc.

CT 7642 CALIPER ADJUSTING MECHANISM
REPAIR KIT Dimensions

CT 7694 ADJUSTING MECHANISM11

CT 7468 ADJUSTER MECHANISM WASHER32

CT 7449 MECHANISM WASHER13

CT 7474 ADJUSTER MECHANISM SPRING14

CT 7471 ADJUSTER MECHANISM RING15

CT 7165 CALIPER ADJUSTER BOLT16

CT 7473 ADJUSTER MECHANISM RING17

CT 7472 ADJUSTER MECHANISM RING18

CT 7475 ADJUSTER MECHANISM RING19

175

CALIPER LINING PLATE LEFT

CT 7663
CALIPER LINING PLATE RIGHT

CT 7664

SN Code Qty Desc.

CT 7915 CALIPER ADJUSTING MECHANISM SET
Dimensions

CT 7356 SHAFT HOUSING SPRING21

CT 7915/1 ADJUSTING MECHANISM SET12

MAXX 22T TYPE



176 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7916 CALIPER MECHANISM SET LEFT
Dimensions

CT 7872 CALIPER PIN REPAIR KIT11

CT 7663 CALIPER LINING PLATE LEFT12

CT 7636 NEEDLE BEARING SET13

CT 7645 CALIPER LEVER14

CT 7641 CALIPER MECHANISM COVER15

CT 7915 CALIPER ADJUSTING MECHANISM SET16

SN Code Qty Desc.

CT 7917 CALIPER MECHANISM SET RIGHT
Dimensions

CT 7872 CALIPER PIN REPAIR KIT11

CT 7664 CALIPER LINING PLATE RIGHT12

CT 7636 NEEDLE BEARING SET13

CT 7645 CALIPER LEVER14

CT 7641 CALIPER MECHANISM COVER15

CT 7915 CALIPER ADJUSTING MECHANISM SET16

MAXX 22T TYPE



SN Code Qty Desc.

CT 7874 CALIPER PIN REPAIR KIT
Dimensions

O
E
M 640 322 938 2, 640.322.938.2,

6403229382

CT 7114 CALIPER PIN11 38*118 mm

CT 7115 CALIPER PIN12 37.7*76 mm

CT 7167 PIN BOLT23 M16*1,5-80 mm

CT 7221 PIN BOOT24

CT 7301 CALIPER PIN CAP25 42/17 mm

CT 7204 ADJUSTING MECHANISM DUST RUBBER16

CT 7222 PIN BOOT17

CT 7251 CALIPER PIN BUSH38 38*42*30 mm

179

SN Code Qty Desc.

CT 7875 CALIPER PIN REPAIR KIT
Dimensions

O
E
M 640 322 951 2, 640.322.951.2,

6403229512

CT 7114 CALIPER PIN11 38*118 mm

CT 7115 CALIPER PIN12 37.7*76 mm

CT 7167 PIN BOLT23 M16*1,5-80 mm

CT 7221 PIN BOOT24

CT 7301 CALIPER PIN CAP25 42/17 mm

CT 7251 CALIPER PIN BUSH36 38*42*30 mm

CT 7222 PIN BOOT17

SN Code Qty Desc.

CT 7876 CALIPER PIN REPAIR KIT
Dimensions

O
E
M 640.319.922.2, 640 319 922 2,

6403199222

CT 7301 CALIPER PIN CAP21 42/17 mm

CT 7204 ADJUSTING MECHANISM DUST RUBBER12

CT 7167 PIN BOLT23 M16*1,5-80 mm

CT 7221 PIN BOOT24

CT 7251 CALIPER PIN BUSH35 38*42*30 mm

MAXX 22L TYPE



SN Code Qty Desc.

CT 7877 CALIPER PIN REPAIR KIT
Dimensions

CT 7301 CALIPER PIN CAP21 42/17 mm

CT 7204 ADJUSTING MECHANISM DUST RUBBER12

CT 7222 PIN BOOT13

CT 7221 PIN BOOT24

CT 7251 CALIPER PIN BUSH35 38*42*30 mm

180 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7815 CALIPER BOOT SET
Dimensions

CT 7221 PIN BOOT21

CT 7204 ADJUSTING MECHANISM DUST RUBBER12

SN Code Qty Desc.

CT 7814 CALIPER BOOT SET
Dimensions

CT 7204 ADJUSTING MECHANISM DUST RUBBER11

CT 7222 PIN BOOT12

MAXX 22L TYPE

CALIBRATION BOLT

CT 7166
ADJUSTING MECHANISM SET

CT 7644

181

SN Code Qty Desc.

CT 7914 ADJUSTING MECHANISM SET
Dimensions

CT 7914/1 ADJUSTING MECHANISM SET11

CT 7356 SHAFT HOUSING SPRING22

ADJUSTING MECHANISM WASHER SET

CT 7633
SHAFT HOUSING

CT 7648

CT 7468 ADJUSTER MECHANISM WASHER31

CT 7470 ADJUSTER MECHANISM WASHER12

CT 7469 ADJUSTER MECHANISM WASHER13

CT 7514 SHAFT HOUSING (MAXX 22 L)11

CT 7356 SHAFT HOUSING SPRING22

MAXX 22L TYPE



NEEDLE BEARING SET

CT 7480
MECHANISM COVER SEAL SET

CT 7816

CT 7478 CALIPER LEVER BUSH SET11

CT 7479 CALIPER LEVER PIN12

CT 7636 NEEDLE BEARING SET13

CT 7223 MECHANISM COVER SEAL51

182 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

NEEDLE BEARING SET

CT 7636
MECHANISM COVER

CT 7680

CT 7659 NEEDLE BEARING21 CT 7640/1 CALIPER COVER WITHOUT NUT11

CT 7223 MECHANISM COVER SEAL12

CT 5159 SHEET METAL CAP BOLT63 M8-16 mm

CALIPER LEVER

CT 7669
CALIPER LEVER

CT 7670

MAXX 22L TYPE

640 322 945 2, 640.322.945.2,
6403229452

BRAKE LINING PLATE RIGHT

CT 7681
OEM

640 322 946 2, 640.322.946.2,
6403229462

BRAKE LINING PLATE LEFT

CT 7682
OEM

183

SN Code Qty Desc.

CT 7678 CALIPER ADJUSTER REPAIR KIT
Dimensions

CT 7222 PIN BOOT11

CT 7677 ADJUSTING GEAR & PIN SET12

CT 7315 MECHANISM SEAL13

CALIPER MECHANISM COVER (MERCEDES
TYPE)

CT 7646 6403229282, 640 322 928 2

CALIPER MECHANISM COVER (MAN TYPE)

CT 7647
OEM

MAXX 22L TYPE



184 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 7929 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 7874 CALIPER PIN REPAIR KIT11

CT 7682 BRAKE LINING PLATE LEFT12

CT 7914 ADJUSTING MECHANISM SET13

CT 7677 CALIPER ADJUSTER REPAIR KIT14

CT 7636 NEEDLE BEARING SET15

CT 7680 MECHANISM COVER16

CT 7669 CALIPER LEVER17

CT 7315 MECHANISM SEAL18

SN Code Qty Desc.

CT 7928 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 7874 CALIPER PIN REPAIR KIT11

CT 7681 BRAKE LINING PLATE RIGHT12

CT 7914 ADJUSTING MECHANISM SET13

CT 7677 CALIPER ADJUSTER REPAIR KIT14

CT 7636 NEEDLE BEARING SET15

CT 7680 MECHANISM COVER16

CT 7669 CALIPER LEVER17

CT 7315 MECHANISM SEAL18

MAXX 22L TYPE

185

SN Code Qty Desc.

CT 7931 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 7874 CALIPER PIN REPAIR KIT11

CT 7682 BRAKE LINING PLATE LEFT12

CT 7914 ADJUSTING MECHANISM SET13

CT 7677 CALIPER ADJUSTER REPAIR KIT14

CT 7636 NEEDLE BEARING SET15

CT 7680 MECHANISM COVER16

CT 7670 CALIPER LEVER17

CT 7315 MECHANISM SEAL18

SN Code Qty Desc.

CT 7930 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 7874 CALIPER PIN REPAIR KIT11

CT 7681 BRAKE LINING PLATE RIGHT12

CT 7914 ADJUSTING MECHANISM SET13

CT 7677 CALIPER ADJUSTER REPAIR KIT14

CT 7636 NEEDLE BEARING SET15

CT 7680 MECHANISM COVER16

CT 7670 CALIPER LEVER17

CT 7315 MECHANISM SEAL18

MAXX 22L TYPE



187

MAXX 17 TYPE

CALIPER BOOT REPAIR KIT

CT 7817

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7201 PIN BOOT22

CALIPER BOOT REPAIR KIT

CT 7818

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7210 HEAD CAP12

640 175 920 2, 6401759202

CALIPER BOOT REPAIR KIT

CT 7812
OEM

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7210 HEAD CAP12

CT 7307 CALIPER HEAD SEAL13

1

2 3

CT 7324

CT 7308 HEAD GASKET11

CT 7307 CALIPER HEAD SEAL12

CT 7210 HEAD CAP13

1

2

3

HEAD GASKET SET

SN Code Qty Desc.

CT 7878 CALIPER PIN REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

1

2

6

3

4

5

7

8 CT 7167 CALIPER PIN BOLT22

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

CT 7210 HEAD CAP16

CT 7116 CALIPER PIN17

CT 7117 CALIPER PIN18

34/17 mm

M16*1,5-80 mm

30*76 mm

30*34*20 mm

30*91 mm



188 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 17 TYPE

SN Code Qty Desc.

CT 7879 CALIPER PIN REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

1

2

6

3

4

5

CT 7167 CALIPER PIN BOLT22

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

CT 7210 HEAD CAP16

34/17 mm

M16*1,5-80 mm

30*34*20 mm

SN Code Qty Desc.

CT 7861 BOOT AND BUSH REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

1

2

3

4

5

CT 7210 HEAD CAP12

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

34/17 mm

30*34*20 mm

SN Code Qty Desc.

CT 7870 HEAD GASKET SET
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

1

2

3

4

5

CT 7167 CALIPER PIN BOLT22

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

CT 7210 HEAD CAP16

34/17 mm

M16*1,5-80 mm

30*34*20 mm6

8

7

9

CT 7307 CALIPER HEAD SEAL17

CT 7308 HEAD GASKET18

CT 7157 COVER BOLT89 M10*1-40 mm

189

MAXX 17 TYPE

ADJUSTING MECHANISM SET

CT 7686

CT 7472

ADJUSTING MECHANISM SET

CT 7687

CT 7695

CT 7468

CT 7449

CT 7471

CT 7472

CT 7469

CT 7168

CT 7473

CT 7474 CT 7493

CT 7695

CT 7168

CT 7473

CT 7474

CT 7493

ADJUSTING MECHANISM WASHER SET

CT 7688 CT 7633
ADJUSTING MECHANISM WASHER SET

CT 7449

CT 7471

CT 7472

CT 7469

CT 7473

CT 7474 CT 7493

CT 7468

CT 7449

CT 7471

CT 7472

CT 7469

CT 7473

CT 7468

CALIBRATION BOLT

CT 7168 CT 7627
NEEDLE BEARING SET

CT 7658 NEEDLE BEARING21



CT 7932

CT 7683 CT 7684

190 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 17 TYPE

CT 7649
CALIPER LEVER ADJUSTING MECHANISM SET

CT 7685
SHAFT HOUSING

CALIPER LINING PLATE RIGHT CALIPER LINING PLATE LEFT

ADJUSTING MECHANISM SET

CT 7644

191

MAXX 17 TYPE

CT 7935 CALIPER MECHANISM SET RIGHT
SN Code Qty Desc. Dimensions

CT 7870 HEAD GASKET SET11

CT 7932 ADJUSTING MECHANISM SET12

CT 7683 BRAKE LINING PLATE RIGHT13

CT 7627 NEEDLE BEARING SET14

CT 7936 CALIPER MECHANISM SET LEFT

1 2

3

4

1 2

3

4

SN Code Qty Desc. Dimensions

CT 7870 HEAD GASKET SET11

CT 7932 ADJUSTING MECHANISM SET12

CT 7684 BRAKE LINING PLATE LEFT13

CT 7627 NEEDLE BEARING SET14



192 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 17 TYPE

CT 7935 CALIPER MECHANISM SET RIGHT
SN Code Qty Desc. Dimensions

CT 7870 HEAD GASKET SET11

CT 7932 ADJUSTING MECHANISM SET12

CT 7683 BRAKE LINING PLATE RIGHT13

CT 7627 NEEDLE BEARING SET14

CT 7936 CALIPER MECHANISM SET LEFT
SN Code Qty Desc. Dimensions

CT 7870 HEAD GASKET SET11

CT 7932 ADJUSTING MECHANISM SET12

CT 7684 BRAKE LINING PLATE LEFT13

CT 7627 NEEDLE BEARING SET14

1 2

3

5

4

1 2

3

5

4

CT 7649 CALIPER LEVER15

CT 7649 CALIPER LEVER15



195

MAXX 19 TYPE

CALIPER BOOT REPAIR KIT

CT 7811

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7221 PIN BOOT22

ADJUSTING MECHANISM BOOT

CT 7212

1

2

SN Code Qty Desc.

CT 7880 CALIPER PIN REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7221 PIN BOOT22

CT 7251 CALIPER PIN BUSH33

CT 7301 PIN CAP24

CT 7156 PIN BOLT25

CT 7164 CALIPER HEAD CAP BOLT16

CT 7230 HEAD CAP17

38*42*30 mm

M16*1,5-80 mm

CT 7118 CALIPER PIN18 38*104 mm

1

2

3

4 7

6

5

8

9

42/17 mm

CT 7119 CALIPER PIN19 37.7*76 mm

SN Code Qty Desc.

CT 7882 BOOT AND BUSH REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7221 PIN BOOT22

CT 7251 CALIPER PIN BUSH33

CT 7301 PIN CAP24

CT 7156 PIN BOLT25

38*42*30 mm

M16*1,5-80 mm1

2

3

4

5

42/17 mm



196 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 19 TYPE

BOOT AND BUSH REPAIR KIT

CT 7884

CT 7212

1

4

3

2

CT 7315

CT 7164 CT 7230

CALIPER ADJUSTER REPAIR KIT

CT 7885

4

2

CT 7315

CT 7230

1

3

CT 7321

CT 7322

ADJUSTING MECHANISM SET

CT 7644
ADJUSTING MECHANISM REPAIR KIT

CT 7697

ADJUSTING MECHANISM WASHER SET

CT 7633
CALIBRATION BOLT

CT 7166

197

MAXX 19 TYPE

SHAFT HOUSING

CT 7522
ADJUSTING MECHANISM SET

CT 7955

CALIPER LEVER

CT 7692

CT 7312

CT 7313

NEEDLE BEARING SET

CT 7636

CT 7659 NEEDLE BEARING21

NEEDLE BEARING SET

CT 7480

CT 7659 NEEDLE BEARING21

CT 7312 CALIPER LEVER BUSH22

CT 7313 CALIPER LEVER PIN23

2

1

3

MECHANISM COVER

CT 7680

CT 7640/1 CALIPER COVER WITHOUT NUT11

CT 7223 MECHANISM COVER SEAL12

CT 5159 SHEET METAL CAP BOLT63 M8-16 mm



198 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 19 TYPE

BRAKE LINING PLATE RIGHT

CT 7690
BRAKE LINING PLATE LEFT

CT 7691

SN Code Qty Desc.

CT 7943 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 7880 CALIPER PIN REPAIR KIT11

CT 7955 ADJUSTING MECHANISM SET12

CT 7680 MECHANISM COVER13

CT 7480 NEEDLE BEARING SET14

CT 7690 BRAKE LINING PLATE RIGHT15

1

2

3

4
5 6

CT 7885 CALIPER ADJUSTER REPAIR KIT16

SN Code Qty Desc.

CT 7944 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 7880 CALIPER PIN REPAIR KIT11

CT 7955 ADJUSTING MECHANISM SET12

CT 7680 MECHANISM COVER13

CT 7480 NEEDLE BEARING SET14

CT 7691 BRAKE LINING PLATE LEFT15

1

2

3

4
5 6

CT 7885 CALIPER ADJUSTER REPAIR KIT16

199

MAXX 19 TYPE

CT 7941 CALIPER MECHANISM SET RIGHT

1

5

SN Code Qty Desc. Dimensions

CT 7880 CALIPER PIN REPAIR KIT11

CT 7955 ADJUSTING MECHANISM SET12

CT 7680 MECHANISM COVER13

CT 7636 NEEDLE BEARING SET14

CT 7690 BRAKE LINING PLATE RIGHT15

CT 7885 CALIPER ADJUSTER REPAIR KIT16

2

3

6

CT 7692 CALIPER LEVER17

7

4

CT 7942 CALIPER MECHANISM SET LEFT

1

SN Code Qty Desc. Dimensions

CT 7880 CALIPER PIN REPAIR KIT11

CT 7955 ADJUSTING MECHANISM SET12

CT 7680 MECHANISM COVER13

CT 7636 NEEDLE BEARING SET14

CT 7691 BRAKE LINING PLATE LEFT15

CT 7885 CALIPER ADJUSTER REPAIR KIT16

2

3

6

CT 7692 CALIPER LEVER17

7

4

5



201

MAXX 17 CWS TYPE

SN Code Qty Desc.

CT 7887 CALIPER PIN REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7167 CALIPER PIN BOLT22

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

CT 7164 CALIPER HEAD CAP BOLT16

CT 7116 CALIPER PIN17

CT 7117 CALIPER PIN18

34/17 mm

M16*1,5-80 mm

30*76 mm

30*34*20 mm

30*91 mm

1

2

6

3

4

5

7

8

9

CT 7230 HEAD CAP19

SN Code Qty Desc.

CT 7888 BOOT AND BUSH REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

1

2

CT 7167 CALIPER PIN BOLT22

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

CT 7164 CALIPER HEAD CAP BOLT16

CT 7230 HEAD CAP17

34/17 mm

M16*1,5-80 mm

30*34*20 mm

6

5

7

3

4

SN Code Qty Desc.

CT 7889 BOOT AND BUSH REPAIR KIT
Dimensions

CT 7212 ADJUSTING MECHANISM BOOT11

CT 7167 CALIPER PIN BOLT22

CT 7300 CALIPER PIN CAP23

CT 7201 PIN BOOT24

CT 7250 CALIPER PIN BUSH35

CT 7164 CALIPER HEAD CAP BOLT16

CT 7230 HEAD CAP17

34/17 mm

M16*1,5-80 mm

30*34*20 mm

1

2

6

5

7

3

4

9

8

CT 7308 HEAD GASKET18

CT 7157 COVER BOLT89 M10*1-40 mm



202 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 17 CWS TYPE

CALIPER COVER REPAIR KIT

CT 7323

4

CT 7230

2

CT 73153

CT 7164

1

CT 7308

CALIPER DUST COVER KIT

CT 7322

2

CT 7315

4

CT 7230

3

CT 7164

1 CT 7212

CALIPER ADJUSTER REPAIR KIT

CT 7885

4

2

CT 7315

CT 7230

1

3

CT 7321

CT 7322

CT 7627
NEEDLE BEARING SET

CT 7658 NEEDLE BEARING21

CT 7649
CALIPER LEVER

CT 7685
SHAFT HOUSING

203

MAXX 17 CWS TYPE

ADJUSTING MECHANISM SET

CT 7956
ADJUSTING MECHANISM SET

CT 7686

ADJUSTING MECHANISM REPAIR KIT

CT 7687
CALIBRATION BOLT

CT 7169

CT 7683
CALIPER LINING PLATE RIGHT

CT 7684
CALIPER LINING PLATE LEFT



204 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MAXX 17 CWS TYPE

CT 7945 CALIPER MECHANISM SET RIGHT
SN Code Qty Desc. Dimensions

CT 7887 CALIPER PIN REPAIR KIT11

CT 7956 ADJUSTING MECHANISM SET12

CT 7683 CALIPER LINING PLATE RIGHT13

CT 7885 CALIPER ADJUSTER REPAIR KIT14

CT 7627 NEEDLE BEARING SET15

CT 7157 COVER BOLT86

1

2

3

4

5

6

7

CT 7308 HEAD GASKET17

CT 7946 CALIPER MECHANISM SET LEFT
SN Code Qty Desc. Dimensions

CT 7887 CALIPER PIN REPAIR KIT11

CT 7956 ADJUSTING MECHANISM SET12

CT 7684 CALIPER LINING PLATE LEFT13

CT 7885 CALIPER ADJUSTER REPAIR KIT14

CT 7627 NEEDLE BEARING SET15

CT 7308 HEAD GASKET16

1

2

3

4

5

6

7

CT 7157 COVER BOLT87

M10*1-40 mm

M10*1-40 mm

205

MAXX 17 CWS TYPE

CT 7947 CALIPER MECHANISM SET RIGHT
SN Code Qty Desc. Dimensions

CT 7887 CALIPER PIN REPAIR KIT11

CT 7956 ADJUSTING MECHANISM SET12

CT 7683 CALIPER LINING PLATE RIGHT13

CT 7885 CALIPER ADJUSTER REPAIR KIT14

CT 7627 NEEDLE BEARING SET15

CT 7308 HEAD GASKET16

1

2

3

4

5

6

7

CT 7308 COVER BOLT87

CT 7948 CALIPER MECHANISM SET LEFT
SN Code Qty Desc. Dimensions

CT 7887 CALIPER PIN REPAIR KIT11

CT 7956 ADJUSTING MECHANISM SET12

CT 7684 CALIPER LINING PLATE LEFT13

CT 7885 CALIPER ADJUSTER REPAIR KIT14

CT 7627 NEEDLE BEARING SET15

CT 7308 HEAD GASKET16

1

2

3

4

5

6

7

CT 7157 COVER BOLT87

8

8

CT 7649 CALIPER LEVER18

CT 7649 CALIPER LEVER18

M10*1-40 mm

M10*1-40 mm



68323673

CALIPER CARRIER

CT 19900
OEM

MCK1185

CALIPER CARRIER

CT 19901
OEM

207

68323539

CALIPER CARRIER

CT 19902
OEM

68322778

CALIPER CARRIER

CT 19903
OEM

MCK1252 S

CALIPER CARRIER

CT 19904
OEM

MCK1252

CALIPER CARRIER

CT 19905
OEM

CT 19904 CALIPER CARRIER11

CT 9161 PIN BOLT12 M18*1,5-120 mm

CT 9162 PIN BOLT13 M18*1,5-80 mm

CARRIERS



BDA443

CALIPER CARRIER

CT 19906
OEM

BDA445

CALIPER CARRIER

CT 19907
OEM

CT 19917 CALIPER CARRIER11

CT 3300 PIN CAP22 45/28 mm

CT 3150 CALIPER PIN BOLT13 M20*1,5-150 mm

208 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MCK1319

CALIPER CARRIER

CT 19908
OEM

CALIPER CARRIER

CT 19909

CT 19918 CALIPER CARRIER11

CT 9161 PIN BOLT12 M18*1,5-120 mm

CT 9162 PIN BOLT13 M18*1,5-80 mm

MCK1322, MCK1297

CALIPER CARRIER

CT 19910
OEM

MCK 1138

CALIPER CARRIER

CT 19911
OEM

CT 19909 CALIPER CARRIER11

CT 9161 PIN BOLT22 M18*1,5-120 mm

CT 9162 PIN BOLT13 M18*1,5-80 mm

CARRIERS

CALIPER CARRIER

CT 19912
CALIPER CARRIER

CT 19913

209

CALIPER CARRIER

CT 19914 MCK1384

CALIPER CARRIER

CT 19915
OEM

CT 19916 CALIPER CARRIER11

CT 9200 PIN BOOT22

CT 9161 PIN BOLT13 M18*1,5-120 mm

MCK1384 S

CALIPER CARRIER

CT 19916
OEM

BDA445 S

CALIPER CARRIER

CT 19917
OEM

CARRIERS



MCK1319 S

CALIPER CARRIER

CT 19918
OEM

MCK1368

CALIPER CARRIER

CT 19919
OEM

CT 19911 CALIPER CARRIER11

CT 9200 PIN BOOT22

CT 9161 PIN BOLT13 M18*1,5-120 mm

210 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

68323546

CALIPER CARRIER

CT 19920
OEM

BDA429

CALIPER CARRIER

CT 19921
OEM

CARRIERS

FORD CARGO

CALIPER CARRIER

CT 19922
OEM

250,50 mm

305 mm

378,50 mm

290,50 mm

400,50 mm

MCK 1383, MCK1383

CALIPER BRIDGE

CT 19951
OEM

31932042

CALIPER BRIDGE

CT 19952
OEM

211

CARRIERS

MCK 1296, MCK1296

CALIPER BRIDGE

CT 19953
OEM

MCK 1318

CALIPER BRIDGE

CT 19950
OEM

CT 9172 BOLT41 M14*1,5-40 mm CT 9172 BOLT41 M14*1,5-40 mm

CT 9160 BOLT41 M16*1,5-40 mm CT 9171 BOLT41 M16*1,5-40 mm
CT 9159 BOLT12 M10*1,25-20 mm



SN Code Qty Desc.

CT 3851 PIN REPAIR KIT
Dimensions

O
E
M

MCK1102, ST1157

CT 3250 CALIPER PIN BUSH21 35*39*30 mm

CT 3251 CALIPER PIN BUSH12 35-37*40*33 mm

CT 3200 PIN BOOT23

CT 3300 PIN CAP24 45/28 mm

CT 3304 PIN RING15 37*40*15 mm

CT 3301 PIN RING16 36-37*39*15 mm

CT 3306 PIN RING27 37*48/14 mm

CT 3100 CALIPER PIN18 35*135 mm

CT 3102 CALIPER PIN19 35*73 mm

CT 3150 CALIPER PIN BOLT110 M20*1,5-150 mm

CT 3151 CALIPER PIN BOLT111 M20*1,5-88 mm

213

SN Code Qty Desc.

CT 3857 PIN REPAIR KIT
Dimensions

CT 3250 CALIPER PIN BUSH21 35*39*30 mm

CT 3251 CALIPER PIN BUSH12 35-37*40*33 mm

CT 3200 PIN BOOT23

CT 3300 PIN CAP24 45/28 mm

CT 3304 PIN RING15 37*40*15 mm

CT 3301 PIN RING16 36-37*39*15 mm

CT 3306 PIN RING27 37*48/14 mm

CT 3100 CALIPER PIN18 35*135 mm

CT 3102 CALIPER PIN19 35*73 mm

CT 3150 CALIPER PIN BOLT110 M20*1,5-150 mm

CT 3151 CALIPER PIN BOLT111 M20*1,5-88 mm

CT 3201 TAPPET BOOT212

SN Code Qty Desc.

CT 3850 PIN REPAIR KIT
Dimensions

O
E
M

MCK1103

CT 3250 CALIPER PIN BUSH21 35*39*30 mm

CT 3202 PIN RUBBER BUSH12 28,5*40* 27 mm

CT 3200 PIN BOOT23

CT 3300 PIN CAP24 45/28 mm

CT 3301 PIN RING15 36-37*39*15 mm

CT 3302 PIN RING16 30*40*19 mm

CT 3100 CALIPER PIN17 35*135 mm

CT 3101 CALIPER PIN18 28,5-110 mm

CT 3150 CALIPER PIN BOLT19 M20*1,5-150 mm

ELSA 1 /
ELSA 1 RADIAL TYPE



SN Code Qty Desc.

CT 3858 PIN REPAIR KIT
Dimensions

CT 3250 CALIPER PIN BUSH21 35*39*30 mm

CT 3202 PIN RUBBER BUSH12 28,5*40* 27 mm

CT 3200 PIN BOOT23

CT 3300 PIN CAP24 45/28 mm

CT 3301 PIN RING15 36-37*39*15 mm

CT 3302 PIN RING16 30*40*19 mm

CT 3100 CALIPER PIN17 35*135 mm

CT 3101 CALIPER PIN18 28,5-110 mm

CT 3150 CALIPER PIN BOLT19 M20*1,5-150 mm

CT 3201 TAPPET BOOT210

214 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

TAPPET BOOT

CT 3201 ST1156

TAPPET BOOT SET

CT 3810
OEM

CT 3201 TAPPET BOOT21

CT 3200
PIN BOOT

CT 3809
PIN BOOT SET

CT 9261
LEVER BUSH

CT 3200 PIN BOOT21

ELSA 1 /
ELSA 1 RADIAL TYPE

LEVER RIGHT

CT 3613
LEVER LEFT

CT 3614

CT 3623 Calper Lever - RIGHT11

CT 9261 LEVER BUSH22

CT 9263 LEVER BEARING23

CT 3624 LEVER LEFT11

CT 9261 LEVER BUSH22

CT 9263 LEVER BEARING23

215

LEVER SET RIGHT

CT 3685
LEVER SET LEFT

CT 3686

CT 3613 LEVER RIGHT11

CT 9652 NEEDLE BEARING22

CT 3614 LEVER LEFT11

CT 9652 NEEDLE BEARING22

ADJUSTING MECHANISM

CT 9603 68321678, 68321678PK10

LOCKING SHIM

CT 3602
OEM

CT 9361 WASHER51

CT 9360 WASHER42

CT 9362 WASHER13

ELSA 1 /
ELSA 1 RADIAL TYPE



ADJUSTING MECHANISM GEAR RIGHT

CT 9630
ADJUSTING MECHANISM GEAR LEFT

CT 9631

216 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTING MECHANISM KIT RIGHT

CT 9727
ADJUSTING MECHANISM KIT LEFT

CT 9728

CT 9603 ADJUSTING MECHANISM11

CT 9630 ADJUSTING MECHANISM GEAR
RIGHT

12

CT 9603 ADJUSTING MECHANISM11

CT 9631 ADJUSTING MECHANISM GEAR LEFT12

ADJUSTING MECHANISM GEAR LEFT

CT 9692
ADJUSTING MECHANISM GEAR RIGHT

CT 9693

ELSA 1 /
ELSA 1 RADIAL TYPE

MCK1212

ADJUSTING MECHANISM KIT RIGHT

CT 9729
OEM

MCK1211

ADJUSTING MECHANISM KIT LEFT

CT 9730
OEM

CT 9603 ADJUSTING MECHANISM11

CT 9693 ADJUSTING MECHANISM GEAR RIGHT12

CT 9603 ADJUSTING MECHANISM11

CT 9692 ADJUSTING MECHANISM GEAR LEFT12

217

INTERMEDIATE GEAR

CT 3612
INTERMEDIATE GEAR

CT 3620

CALIPER ADJUSTING GEAR RIGHT

CT 3600
CALIPER ADJUSTING GEAR LEFT

CT 3601

ELSA 1 /
ELSA 1 RADIAL TYPE



CALIPER ADJUSTING GEAR RIGHT

CT 3610
CALIPER ADJUSTING GEAR LEFT

CT 3611

218 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER ADJUSTING GEAR SET RIGHT

CT 3667
CALIPER ADJUSTING GEAR SET LEFT

CT 3668

CT 3600 CALIPER ADJUSTING GEAR RIGHT21 35 mm

CT 3612 INTERMEDIATE GEAR12 35 mm

CT 3475 MECHANISM GEAR SLOT23

CT 3601 CALIPER ADJUSTING GEAR LEFT21 35 mm

CT 3612 INTERMEDIATE GEAR12 35 mm

CT 3475 MECHANISM GEAR SLOT23

CALIPER ADJUSTING GEAR SET RIGHT

CT 3675
CALIPER ADJUSTING GEAR SET LEFT

CT 3676

CT 3610 CALIPER ADJUSTING GEAR RIGHT21 37,5 mm

CT 3620 INTERMEDIATE GEAR12

CT 3475 MECHANISM GEAR SLOT23

CT 3611 CALIPER ADJUSTING GEAR LEFT21 37,5 mm

CT 3620 INTERMEDIATE GEAR12

CT 3475 MECHANISM GEAR SLOT23

ELSA 1 /
ELSA 1 RADIAL TYPE

SPRING RETAINER THRUST RIGHT

CT 3460
SPRING RETAINER THRUST LEFT

CT 3461

219

SPRING RETAINER THRUST SET RIGHT

CT 3815
SPRING RETAINER THRUST SET LEFT

CT 3816

CT 3460 SPRING RETAINER THRUST RIGHT11

CT 3466 LEVER PIN12

CT 3464 SPRING RETAINER13

CT 3461 SPRING RETAINER THRUST LEFT11

CT 3466 LEVER PIN12

CT 3464 SPRING RETAINER13

CALIPER GEAR BUSH SET

CT 3625
CALIPER GEAR BUSH SET

CT 3626

CT 3476 CALIPER GEAR BUSH 35mm21 CT 3477 CALIPER MECHANISM GEAR BUSH
37,5 mm

21

ELSA 1 /
ELSA 1 RADIAL TYPE



68322563

SMALL GEAR MECHANISM RIGHT

CT 9687
OEM

68322562

SMALL GEAR MECHANISM LEFT

CT 9688
OEM

220 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

GASKET (NEW MODEL)

CT 3808
GASKET

CT 3812

GASKET

CT 3813
GASKET

CT 3814

ELSA 1 /
ELSA 1 RADIAL TYPE

BRAKE LEVER RIGHT

CT 9598
BRAKE LEVER LEFT

CT 9599

221

NEEDLE BEARING SET

CT 9874 SJ4112

NEEDLE BEARING SET

CT 9670
OEM

CT 9652 NEEDLE BEARING21 CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH23

MECHANISM GEAR SLOT

CT 3475
CALIPER GEAR SLOT SET

CT 3619

CT 3475 MECHANISM GEAR SLOT21

ELSA 1 /
ELSA 1 RADIAL TYPE



CALIPER BOLT SET

CT 9458
CALIPER BOLT SET

CT 9459

CT 9191 COVER BOLT71 M14*1,5-90 mm CT 9163 PIN BOLT41 M16*1,5-55 mm

222 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9457 ADJUSTING MECHANISM CAP&SEAL
KIT Dimensions

O
E
M

68322300PK10

CT 9329 ADJUSTING MECHANISM CAP101

CT 9325 LOCKING RING102

CT 9318 SHAFT SEAL103

CALIPER PAD SPRING SET

CT 9460 MCK1262

PAD RETAINER KIT

CT 3621
OEM

ELSA 1 /
ELSA 1 RADIAL TYPE

223

SN Code Qty Desc.

CT 3920 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9631 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 9688 SMALL GEAR MECHANISM LEFT17

CT 3614 LEVER LEFT18

CT 3602 LOCKING SHIM19

CT 3812 GASKET110

SN Code Qty Desc.

CT 3921 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9630 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 9687 SMALL GEAR MECHANISM RIGHT17

CT 3613 LEVER RIGHT18

CT 3602 LOCKING SHIM19

CT 3812 GASKET110

ELSA 1 /
ELSA 1 RADIAL TYPE



224 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3922 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9631 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 9688 SMALL GEAR MECHANISM LEFT17

CT 3812 GASKET18

CT 3602 LOCKING SHIM19

SN Code Qty Desc.

CT 3923 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9630 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 9687 SMALL GEAR MECHANISM RIGHT17

CT 3812 GASKET18

CT 3602 LOCKING SHIM19

ELSA 1 /
ELSA 1 RADIAL TYPE

225

SN Code Qty Desc.

CT 3924 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9631 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 9688 SMALL GEAR MECHANISM LEFT17

CT 3614 LEVER LEFT18

CT 3602 LOCKING SHIM19

CT 3813 GASKET110

SN Code Qty Desc.

CT 3925 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9630 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 9687 SMALL GEAR MECHANISM RIGHT17

CT 3613 LEVER RIGHT18

CT 3602 LOCKING SHIM19

CT 3813 GASKET110

ELSA 1 /
ELSA 1 RADIAL TYPE



226 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3926 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9631 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 9688 SMALL GEAR MECHANISM LEFT17

CT 3813 GASKET18

CT 3602 LOCKING SHIM19

SN Code Qty Desc.

CT 3927 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3858 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9630 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 9687 SMALL GEAR MECHANISM RIGHT17

CT 3813 GASKET18

CT 3602 LOCKING SHIM19

ELSA 1 /
ELSA 1 RADIAL TYPE

227

SN Code Qty Desc.

CT 3928 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3857 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9692 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 3602 LOCKING SHIM17

CT 9599 BRAKE LEVER LEFT18

SN Code Qty Desc.

CT 3929 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3857 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9693 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 3602 LOCKING SHIM17

CT 9598 BRAKE LEVER RIGHT18

ELSA 1 /
ELSA 1 RADIAL TYPE



228 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3930 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3857 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9631 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 3602 LOCKING SHIM17

CT 3813 GASKET18

SN Code Qty Desc.

CT 3931 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3857 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9630 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 3602 LOCKING SHIM17

CT 3813 GASKET18

ELSA 1 /
ELSA 1 RADIAL TYPE

229

SN Code Qty Desc.

CT 3932 ADJUSTING MECHANISM LEFT
Dimensions

CT 3857 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3668 CALIPER ADJUSTING GEAR SET LEFT13 35 mm

CT 3816 SPRING RETAINER THRUST SET LEFT14

CT 9631 ADJUSTING MECHANISM GEAR LEFT15

CT 9874 NEEDLE BEARING SET16

CT 3602 LOCKING SHIM17

CT 3814 GASKET18

SN Code Qty Desc.

CT 3933 ADJUSTING MECHANISM RIGHT
Dimensions

CT 3857 PIN REPAIR KIT11

CT 9603 ADJUSTING MECHANISM12

CT 3667 CALIPER ADJUSTING GEAR SET RIGHT13 35 mm

CT 3815 SPRING RETAINER THRUST SET RIGHT14

CT 9630 ADJUSTING MECHANISM GEAR RIGHT15

CT 9874 NEEDLE BEARING SET16

CT 3602 LOCKING SHIM17

CT 3814 GASKET18

ELSA 1 /
ELSA 1 RADIAL TYPE



CT 9200
PIN BOOT

CT 9811
PIN BOOT SET

CT 9221
OEM

68322655

RUBBER CAP

CT 9200 PIN BOOT21

231

68324854PK10, 68324854

TAPPET BOOT

CT 9205
OEM

MCK1139

TAPPET BOOT SET

CT 9805
OEM

CT 9205 TAPPET BOOT21

68324854PK10

TAPPET BOOT SET

CT 9813
OEM

68322655PK10

RUBBER CAP SET

CT 9814
OEM

CT 9205 TAPPET BOOT101 CT 9221 RUBBER CAP101

ELSA 2 /
ELSA 2 RADIAL TYPE



CT 9222
ACTUATOR SEAL

CT 9224
ACTUATOR SEAL

CT 9253
PIN BUSH

232 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9859 PIN REPAIR KIT
Dimensions

CT 9251 PIN BUSH21 35*39*30 mm

CT 9253 PIN BUSH12 31-32*42/45 mm

CT 9200 PIN BOOT23

CT 9300 PIN CAP24 45/28 mm

CT 9205 TAPPET BOOT25

CT 9304 RING16 37*42*14 mm

CT 9101 PIN17 35*144 mm

CT 9100 PIN18 31*84 mm

CT 9156 PIN BOLT19 M18*1,5-150 mm

CT 9155 PIN BOLT110 M18*1,5-90 mm

SN Code Qty Desc.

CT 9863 PIN REPAIR KIT
Dimensions

O
E
M

MCK1140, MCK1243

CT 9251 PIN BUSH21 35*39*30 mm

CT 9250 PIN BUSH12 31-33*42*30 mm

CT 9200 PIN BOOT23

CT 9300 PIN CAP24 45/28 mm

CT 9159 BOLT15 M10*1,25-20 mm

CT 9304 RING26 37*42*14 mm

CT 9101 PIN17 35*144 mm

CT 9100 PIN18 31*84 mm

CT 9156 PIN BOLT19 M18*1,5-150 mm

CT 9155 PIN BOLT110 M18*1,5-90 mm

CT 9160 BOLT411 M16*1,5-40 mm

ELSA 2 /
ELSA 2 RADIAL TYPE

SN Code Qty Desc.

CT 9875 PIN REPAIR KIT
Dimensions

O
E
M

MCK1289

CT 9251 PIN BUSH21 35*39*30 mm

CT 9253 PIN BUSH12 31-32*42/45 mm

CT 9200 PIN BOOT23

CT 9300 PIN CAP24 45/28 mm

CT 9304 RING15 37*42*14 mm

CT 9101 PIN16 35*144 mm

CT 9100 PIN17 31*84 mm

CT 9156 PIN BOLT18 M18*1,5-150 mm

CT 9155 PIN BOLT19 M18*1,5-90 mm

233

SN Code Qty Desc.

CT 9883 PIN REPAIR KIT
Dimensions

O
E
M

MCK1086

CT 9120 PIN11  35*126 mm

CT 9121 PIN12 33-35/66 mm

CT 9157 PIN BOLT13 M20*1,5-150 mm

CT 9200 PIN BOOT24

CT 9251 PIN BUSH35 35*39*30 mm

CT 9159 BOLT16 M10*1,25-20 mm

CT 9300 PIN CAP27 45/28 mm

CT 9326 RING28 35*43-2,5 mm

CT 9160 BOLT49 M16*1,5-40 mm

CT 3151 CALIPER PIN BOLT110 M20*1,5-88 mm

SN Code Qty Desc.

CT 9882 DUST COVER SET
Dimensions

O
E
M

MCK1088

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

CT 9222 ACTUATOR SEAL13

CT 9221 RUBBER CAP14

ELSA 2 /
ELSA 2 RADIAL TYPE



SN Code Qty Desc.

CT 9809 BOOT & BOLT SET
Dimensions

O
E
M

MCK1244

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

CT 9222 ACTUATOR SEAL13

CT 9300 PIN CAP24 45/28 mm

CT 9221 RUBBER CAP15

CT 9160 BOLT46 M16*1,5-40 mm

234 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9810 PIN BOOT & BOLT SET
Dimensions

O
E
M

MCK1087

CT 9160 BOLT41 M16*1,5-40 mm

CT 9200 PIN BOOT22

CT 9159 BOLT13 M10*1,25-20 mm

CT 9300 PIN CAP24 45/28 mm

SN Code Qty Desc.

CT 9801 TAPPET & BOOT SET
Dimensions

O
E
M

MCK1309

CT 9262 TAPPET BUSH21

CT 9319 TAPPET22

CT 9205 TAPPET BOOT23

ELSA 2 /
ELSA 2 RADIAL TYPE

TAPPET SET

CT 9881
PIN BUSH SET

CT 9815

CT 9262 TAPPET BUSH21

CT 9319 TAPPET22

CT 9251 PIN BUSH101 35*39*30 mm

235

ADJUSTING MECHANISM

CT 9600 SJ4112

NEEDLE BEARING SET

CT 9670
OEM

CT 9223 PLASTIC RING21 CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH23

ADJUSTING GEAR SET

CT 9601 SJ4098

NEEDLE BEARING SET

CT 9672
OEM

CT 9639 ADJUSTING GEAR21 CT 9265 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9652 NEEDLE BEARING23

ELSA 2 /
ELSA 2 RADIAL TYPE



ADJUSTING GEAR

CT 9639
ADJUSTING MECHANISM COVER

CT 9607

CT 9271 BUSH11

CT 9218 GASKET12

CT 9180 COVER BOLT83 M8*1,25-45 mm

236 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTING MECHANISM COVER

CT 9602
ADJUSTING MECHANISM COVER

CT 9604

CT 9218 GASKET11

CT 9180 COVER BOLT82 M8*1,25-45 mm

CT 9602/1 ADJUSTING MECHANISM COVER13

CT 9217 COVER GASKET11

CT 9180 COVER BOLT82 M8*1,25-45 mm

CT 9604/1 ADJUSTING MECHANISM COVER13

ADJUSTING GEAR SET

CT 9638
ADJUSTING MECHANISM

CT 9633

CT 9638/1 ADJUSTING GEAR (47 MM)21 CT 9226 PLASTIC RING21

ELSA 2 /
ELSA 2 RADIAL TYPE

CT 9886
OEM

MCK1240

VISUAL INDICATOR SET

CT 9635 VISUAL INDICATOR11

CT 9160 BOLT42

CT 9605
ADJUSTING GEAR RIGHT

CT 9606
ADJUSTING GEAR LEFT

CT 9440 ADJUSTING GEAR SPRING11 CT 9440 ADJUSTING GEAR SPRING11

237

CT 9635
VISUAL INDICATOR

CT 9261
LEVER BUSH

CT 9265
LEVER BUSH

BEARING SADDLE SET

CT 9653 MCK1174

PAD RETAINER REPAIR KIT

CT 9355
OEM

ELSA 2 /
ELSA 2 RADIAL TYPE



LEVER

CT 9623
LEVER

CT 9625

CT 9261 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9263 LEVER BEARING21

CT 9265 LEVER BUSH22

238 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

BUSH & SEAL SET

CT 9682
TAPPET AND BOOT SET

CT 9820

CT 9270 GEAR BUSH21

CT 9219 SEAL22

CT 9307 TAPPET BOOT RING23

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

SN Code Qty Desc.

CT 9450 RUBBER CAP REPAIR KIT
Dimensions

CT 9221 RUBBER CAP11

CT 9327 RING12

CT 9318 SHAFT SEAL13

ELSA 2 /
ELSA 2 RADIAL TYPE

239

SN Code Qty Desc.

CT 9900 ADJUSTING MECHANISM SET
Dimensions

CT 9607/1 ADJUSTING MECHANISM COVER(JUST COVER)11

CT 9601 ADJUSTING GEAR SET12

CT 9600 ADJUSTING MECHANISM13

CT 9180 COVER BOLT84 M8*1,25-45 mm

CT 9218 GASKET15

CT 9205 TAPPET BOOT26

SN Code Qty Desc.

CT 9902 ADJUSTING MECHANISM SET
Dimensions

CT 9604/1 ADJUSTING MECHANISM COVER11

CT 9638 ADJUSTING GEAR SET12

CT 9633 ADJUSTING MECHANISM13

CT 9180 COVER BOLT84 M8*1,25-45 mm

CT 9217 COVER GASKET15

CT 9205 TAPPET BOOT26

ELSA 2 /
ELSA 2 RADIAL TYPE



240 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9918 COMPLETE REPAIR SET LEFT
Dimensions

CT 9863 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9900 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9606 ADJUSTING GEAR LEFT17

CT 9222 ACTUATOR SEAL18

CT 9874 NEEDLE BEARING SET19

CT 9623 LEVER110

SN Code Qty Desc.

CT 9919 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9863 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9900 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9605 ADJUSTING GEAR RIGHT17

CT 9222 ACTUATOR SEAL18

CT 9874 NEEDLE BEARING SET19

CT 9623 LEVER110

ELSA 2 /
ELSA 2 RADIAL TYPE

241

SN Code Qty Desc.

CT 9920 COMPLETE REPAIR SET LEFT
Dimensions

CT 9863 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9900 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9606 ADJUSTING GEAR LEFT17

CT 9222 ACTUATOR SEAL18

CT 9670 NEEDLE BEARING SET19

SN Code Qty Desc.

CT 9921 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9863 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9900 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9605 ADJUSTING GEAR RIGHT17

CT 9222 ACTUATOR SEAL18

CT 9670 NEEDLE BEARING SET19

ELSA 2 /
ELSA 2 RADIAL TYPE



242 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9922 COMPLETE REPAIR SET LEFT
Dimensions

CT 9883 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9902 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9606 ADJUSTING GEAR LEFT17

CT 9222 ACTUATOR SEAL18

CT 9874 NEEDLE BEARING SET19

CT 9625 LEVER110

SN Code Qty Desc.

CT 9923 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9883 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9902 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9605 ADJUSTING GEAR RIGHT17

CT 9222 ACTUATOR SEAL18

CT 9874 NEEDLE BEARING SET19

CT 9625 LEVER110

ELSA 2 /
ELSA 2 RADIAL TYPE

243

SN Code Qty Desc.

CT 9924 COMPLETE REPAIR SET LEFT
Dimensions

CT 9883 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9902 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9606 ADJUSTING GEAR LEFT17

CT 9222 ACTUATOR SEAL18

CT 9672 NEEDLE BEARING SET19

SN Code Qty Desc.

CT 9925 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9883 PIN REPAIR KIT11

CT 9653 BEARING SADDLE SET12

CT 9635 VISUAL INDICATOR13

CT 9902 ADJUSTING MECHANISM SET14

CT 9355 PAD RETAINER REPAIR KIT15

CT 9805 TAPPET BOOT SET16

CT 9605 ADJUSTING GEAR RIGHT17

CT 9222 ACTUATOR SEAL18

CT 9672 NEEDLE BEARING SET19

ELSA 2 /
ELSA 2 RADIAL TYPE



SN Code Qty Desc.

CT 9864 PIN REPAIR KIT
Dimensions

O
E
M

MCK1254

CT 9251 PIN BUSH21 35*39*30 mm

CT 9250 PIN BUSH12 31-33*42*30 mm

CT 9200 PIN BOOT23

CT 9305 PIN CAP24 44*17 mm

CT 9159 BOLT15 M10*1,25-20 mm

CT 9310 PIN RING26 37*39*10 mm

CT 9114 PIN17 35*117 mm

CT 9115 PIN18 31*78 mm

CT 9161 PIN BOLT19 M18*1,5-120 mm

CT 9162 PIN BOLT110 M18*1,5-80 mm

CT 9172 BOLT411 M14*1,5-40 mm

245

SN Code Qty Desc.

CT 9872 PIN REPAIR KIT
Dimensions

O
E
M

MCK1298

CT 9251 PIN BUSH21 35*39*30 mm

CT 9200 PIN BOOT22

CT 9305 PIN CAP23 44*17 mm

CT 9159 BOLT14 M10*1,25-20 mm

CT 9109 PIN15 35*117 mm

CT 9110 PIN16 31*78 mm

CT 9161 PIN BOLT17 M18*1,5-120 mm

CT 9162 PIN BOLT18 M18*1,5-80 mm

CT 9172 BOLT49 M14*1,5-40 mm

CT 9250 PIN BUSH110 31-33*42*30 mm

CT 9310 PIN RING211 37*39*10 mm

CT 9171 BOLT412 M16*1,5-40 mm

SN Code Qty Desc.

CT 9873 PIN REPAIR KIT
Dimensions

O
E
M

MCK1317

CT 9109 PIN11 35*117 mm

CT 9118 PIN12 31*117mm

CT 9161 PIN BOLT23 M18*1,5-120 mm

CT 9200 PIN BOOT24

CT 9251 PIN BUSH25 35*39*30 mm

CT 9159 BOLT16 M10*1,25-20 mm

CT 9305 PIN CAP27 44*17 mm

CT 9310 PIN RING28 37*39*10 mm

CT 9171 BOLT49 M16*1,5-40 mm

CT 9250 PIN BUSH210 31-33*42*30 mm

ELSA 195 / 225 /
EX 225 TYPE



SN Code Qty Desc.

CT 9896 PIN REPAIR KIT
Dimensions

O
E
M

MCK1323

CT 9251 PIN BUSH21 35*39*30 mm

CT 9250 PIN BUSH12 31-33*42*30 mm

CT 9200 PIN BOOT23

CT 9305 PIN CAP24 44*17 mm

CT 9159 BOLT15 M10*1,25-20 mm

CT 9310 PIN RING26 37*39*10 mm

CT 9114 PIN17 35*117 mm

CT 9115 PIN18 31*78 mm

CT 9161 PIN BOLT19 M18*1,5-120 mm

CT 9162 PIN BOLT110 M18*1,5-80 mm

CT 9171 BOLT411 M16*1,5-40 mm

246 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9897 PIN REPAIR KIT
Dimensions

O
E
M

225200

CT 9109 PIN11 35*117 mm

CT 9110 PIN12 31*78 mm

CT 9161 PIN BOLT13 M18*1,5-120 mm

CT 9162 PIN BOLT14 M18*1,5-80 mm

CT 9200 PIN BOOT25

CT 9172 BOLT46 M14*1,5-40 mm

CT 9305 PIN CAP27 44*17 mm

CT 9205 TAPPET BOOT28

SN Code Qty Desc.

CT 9809 BOOT & BOLT SET
Dimensions

O
E
M

MCK1244

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

CT 9222 ACTUATOR SEAL13

CT 9300 PIN CAP24 45/28 mm

CT 9221 RUBBER CAP15

CT 9160 BOLT46 M16*1,5-40 mm

ELSA 195 / 225 /
EX 225 TYPE

SN Code Qty Desc.

CT 9882 DUST COVER SET
Dimensions

O
E
M

MCK1088

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

CT 9222 ACTUATOR SEAL13

CT 9221 RUBBER CAP14

247

SN Code Qty Desc.

CT 9884 BOOT & CAP SET
Dimensions

O
E
M

MCK1310

CT 9172 BOLT41 M14*1,5-40 mm

CT 9200 PIN BOOT22

CT 9305 PIN CAP23 44*17 mm

CT 9171 BOLT44 M16*1,5-40 mm

CT 9161 PIN BOLT15 M18*1,5-120 mm

SN Code Qty Desc.

CT 9885 BOOT & CAP SET
Dimensions

O
E
M

MCK1253

CT 9172 BOLT41 M14*1,5-40 mm

CT 9200 PIN BOOT22

CT 9305 PIN CAP23 44*17 mm

ELSA 195 / 225 /
EX 225 TYPE



SN Code Qty Desc.

CT 9801 TAPPET & BOOT SET
Dimensions

O
E
M

MCK1309

CT 9262 TAPPET BUSH21

CT 9319 TAPPET22

CT 9205 TAPPET BOOT23

248 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

TAPPET SET

CT 9881
PIN BUSH SET

CT 9815

CT 9262 TAPPET BUSH21

CT 9319 TAPPET22

CT 9251 PIN BUSH101 35*39*30 mm

68323746PK10

ACTUATOR SEAL SET

CT 9812
OEM

68322655PK10

RUBBER CAP SET

CT 9814
OEM

CT 9222 ACTUATOR SEAL101 CT 9221 RUBBER CAP101

ELSA 195 / 225 /
EX 225 TYPE

CT 9200
PIN BOOT

CT 9811
PIN BOOT SET

CT 9221
OEM

68322655

RUBBER CAP

CT 9200 PIN BOOT21

249

68324854PK10

TAPPET BOOT SET

CT 9813
OEM

NEEDLE BEARING SET

CT 9874

CT 9205 TAPPET BOOT101 CT 9652 NEEDLE BEARING21

CT 9222
ACTUATOR SEAL

CT 9224
ACTUATOR SEAL

CT 9261
LEVER BUSH

ELSA 195 / 225 /
EX 225 TYPE



CT 9268
LEVER BUSH

CT 9609
ADJUSTING GEAR

CT 9636
ADJUSTING GEAR

250 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTING MECHANISM

CT 9600
ADJUSTING GEAR SET

CT 9601

CT 9223 PLASTIC RING21 CT 9639 ADJUSTING GEAR21

ADJUSTING GEAR

CT 9639 SJ4112

NEEDLE BEARING SET

CT 9670
OEM

CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH23

ELSA 195 / 225 /
EX 225 TYPE

ADJUSTING MECHANISM COVER SET

CT 9608
ADJUSTING MECHANISM COVER

CT 9634

CT 9220 GASKET11

CT 9181 COVER BOLT82 M8*1,25-45 mm

CT 9608/1 ADJUSTING MECHANISM COVER13

CT 9220 GASKET11

CT 9181 COVER BOLT82 M8*1,25-45 mm

CT 9634/1 ADJUSTING MECHANISM COVER13

251

LEVER

CT 9698
LEVER

CT 9658

CT 9268 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH21

CT 9263 LEVER BEARING22

LEVER

CT 9632
LEVER

CT 9735

CT 9261 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9263 LEVER BEARING21

CT 9261 LEVER BUSH22

ELSA 195 / 225 /
EX 225 TYPE



LEVER

CT 9736
BEARING SADDLE SET

CT 9653

CT 9263 LEVER BEARING21

CT 9261 LEVER BUSH22

252 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9382 SENSOR COVER REPAIR KIT
Dimensions

O
E
M MCK1352, MST1504, 68324331,

68130055

CT 9228 SENSOR COVER PLASTIC11

CT 9169 BOLT12 M10*1,50-16 mm

CT 9318 SHAFT SEAL13

SN Code Qty Desc.

CT 9682 BUSH & SEAL SET
Dimensions

CT 9270 GEAR BUSH21

CT 9219 SEAL22

CT 9307 TAPPET BOOT RING23

ELSA 195 / 225 /
EX 225 TYPE

MCK1311

VISUAL INDICATOR

CT 9461
OEM

RING

CT 9327

253

NEEDLE BEARING SET

CT 9673
RUBBER CAP REPAIR KIT

CT 9450

CT 9268 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9874 NEEDLE BEARING SET13

CT 9221 RUBBER CAP11

CT 9327 RING12

CT 9318 SHAFT SEAL13

MCK1174

PAD RETAINER REPAIR KIT

CT 9355
OEM

MBA112, 68324769

CALIPER PAD SPRING SET

CT 9462
OEM

ELSA 195 / 225 /
EX 225 TYPE



254 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9901 ADJUSTING MECHANISM SET
Dimensions

CT9608/1 ADJUSTING MECHANISM COVER11

CT 9601 ADJUSTING GEAR SET12

CT 9600 ADJUSTING MECHANISM13

CT 9181 COVER BOLT84 M8*1,25-45 mm

CT 9220 GASKET15

CT 9205 TAPPET BOOT26

SN Code Qty Desc.

CT 9926 COMPLETE REPAIR SET
Dimensions

CT 9864 PIN REPAIR KIT11

CT 9636 ADJUSTING GEAR12

CT 9224 ACTUATOR SEAL13

CT 9461 VISUAL INDICATOR14

CT 9653 BEARING SADDLE SET15

CT 9874 NEEDLE BEARING SET16

CT 9805 TAPPET BOOT SET17

CT 9221 RUBBER CAP18

CT 9901 ADJUSTING MECHANISM SET19

CT 9632 LEVER110

CT 9355 PAD RETAINER REPAIR KIT111

ELSA 195 / 225 /
EX 225 TYPE

255

SN Code Qty Desc.

CT 9927 COMPLETE REPAIR SET
Dimensions

CT 9864 PIN REPAIR KIT11

CT 9609 ADJUSTING GEAR12

CT 9224 ACTUATOR SEAL13

CT 9461 VISUAL INDICATOR14

CT 9653 BEARING SADDLE SET15

CT 9874 NEEDLE BEARING SET16

CT 9805 TAPPET BOOT SET17

CT 9221 RUBBER CAP18

CT 9901 ADJUSTING MECHANISM SET19

CT 9658 LEVER110

CT 9355 PAD RETAINER REPAIR KIT111

SN Code Qty Desc.

CT 9928 COMPLETE REPAIR SET
Dimensions

CT 9864 PIN REPAIR KIT11

CT 9609 ADJUSTING GEAR12

CT 9224 ACTUATOR SEAL13

CT 9461 VISUAL INDICATOR14

CT 9653 BEARING SADDLE SET15

CT 9874 NEEDLE BEARING SET16

CT 9805 TAPPET BOOT SET17

CT 9221 RUBBER CAP18

CT 9901 ADJUSTING MECHANISM SET19

CT 9736 LEVER110

ELSA 195 / 225 /
EX 225 TYPE



256 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9929 COMPLETE REPAIR SET
Dimensions

CT 9873 PIN REPAIR KIT11

CT 9609 ADJUSTING GEAR12

CT 9224 ACTUATOR SEAL13

CT 9461 VISUAL INDICATOR14

CT 9653 BEARING SADDLE SET15

CT 9874 NEEDLE BEARING SET16

CT 9805 TAPPET BOOT SET17

CT 9221 RUBBER CAP18

CT 9901 ADJUSTING MECHANISM SET19

CT 9698 LEVER110

CT 9355 PAD RETAINER REPAIR KIT111

SN Code Qty Desc.

CT 9930 COMPLETE REPAIR SET
Dimensions

CT 9864 PIN REPAIR KIT11

CT 9609 ADJUSTING GEAR12

CT 9224 ACTUATOR SEAL13

CT 9461 VISUAL INDICATOR14

CT 9653 BEARING SADDLE SET15

CT 9670 NEEDLE BEARING SET16

CT 9805 TAPPET BOOT SET17

CT 9221 RUBBER CAP18

CT 9901 ADJUSTING MECHANISM SET19

ELSA 195 / 225 /
EX 225 TYPE



SN Code Qty Desc.

CT 9861 PIN REPAIR KIT
Dimensions

CT 9259 PIN BUSH11 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9257 PIN BUSH13 35*40*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN16 35*102 mm

CT 9106 PIN17 35*60 mm

CT 9153 PIN BOLT18 M20*2-125 mm

CT 9154 PIN BOLT19 M20*2-80 mm

259

SN Code Qty Desc.

CT 9888 PIN REPAIR KIT
Dimensions

O
E
M

MCK1116

CT 9259 PIN BUSH11 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9280 FIBER BUSH13 35*39*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN16 35*102 mm

CT 9106 PIN17 35*60 mm

CT 9153 PIN BOLT18 M20*2-125 mm

CT 9154 PIN BOLT19 M20*2-80 mm

SN Code Qty Desc.

CT 9850 PIN REPAIR KIT
Dimensions

O
E
M

MCK1134, SJ4094

CT 9102 PIN11 35*102 mm

CT 9106 PIN12 35*60 mm

CT 9153 PIN BOLT13 M20*2-125 mm

CT 9154 PIN BOLT14 M20*2-80 mm

CT 9266 FIBER BUSH25 35*39*38 mm

CT 9259 PIN BUSH16 35-36x39x30 mm

CT 9301 PIN RING27 37*40*11 mm

CT 9200 PIN BOOT28

CT 9302 PIN CAP29 40/18,5 mm

B DUCO TYPE



SN Code Qty Desc.

CT 9862 PIN REPAIR KIT
Dimensions

O
E
M

MCK1299

CT 9102 PIN11 35*102 mm

CT 9153 PIN BOLT22 M20*2-125 mm

CT 9154 PIN BOLT13 M20*2-80 mm

CT 9200 PIN BOOT24

CT 9302 PIN CAP25 40/18,5 mm

260 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9857 PIN REPAIR KIT
Dimensions

O
E
M

MCK1065, MCK1066

CT 9102 PIN11 35*102 mm

CT 9200 PIN BOOT22

CT 9302 PIN CAP23 40/18,5 mm

SN Code Qty Desc.

CT 9800 TAPPET & BOOT SET
Dimensions

O
E
M

MCK1238

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

B DUCO TYPE

CT 9200
PIN BOOT

CT 9811
PIN BOOT SET

CT 9315
RUBBER CAP

CT 9200 PIN BOOT21

261

PIN BOOT RING SET

CT 9378 68322655PK10

RUBBER CAP SET

CT 9814
OEM

CT 9314 PIN BOOT RING101 35,5*37,5*6 mm CT 9221 RUBBER CAP101

CT 9813
OEM

68324854PK10

TAPPET BOOT SET

CT 9205 TAPPET BOOT101

CT 9450
RUBBER CAP REPAIR KIT

CT 9357
OEM

SJ4111

CALIPER VISUAL INDICATOR

CT 9221 RUBBER CAP11

CT 9327 RING12

CT 9318 SHAFT SEAL13

B DUCO TYPE



68322563

SMALL GEAR MECHANISM RIGHT

CT 9687
OEM

68322562

SMALL GEAR MECHANISM LEFT

CT 9688
OEM

262 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

NEEDLE BEARING SET

CT 9874 SJ4112

NEEDLE BEARING SET

CT 9670
OEM

CT 9652 NEEDLE BEARING21 CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH23

TAPPET AND BOOT SET

CT 9820
CALIPER COVER BOLT SET

CT 9451

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

CT 9190 CALIPER COVER BOLT81 M 14*1,5-55 mm

B DUCO TYPE

SN Code Qty Desc.

CT 9852 PIN REPAIR KIT
Dimensions

CT 9102 PIN11 35*102 mm

CT 9106 PIN12 35*60 mm

CT 9153 PIN BOLT13 M20*2-125 mm

CT 9154 PIN BOLT14 M20*2-80 mm

CT 9302 PIN CAP25 40/18,5 mm

CT 9200 PIN BOOT26

CT 9301 PIN RING27 37*40*11 mm

263

SN Code Qty Desc.

CT 9613 ADJUSTING MECHANISM SHAFT
Dimensions

O
E
M

MCK1050

CT 9350 ADJUSTING MECHANISM SHAFT11

CT 9351 THRUST BEARING12

CT 9352 THRUST WASHER23

CT 9353 MECHANISM BEARING14

CT 9354 MECHANISM BEARING15

SN Code Qty Desc.

CT 9624 LEVER SET
Dimensions

O
E
M

MCK1048

CT 9726 LEVER11

CT 9261 LEVER BUSH22

CT 9313 ACTUATOR SEAL13

CT 9263 LEVER BEARING24

CT 9652 NEEDLE BEARING25

B DUCO TYPE



SN Code Qty Desc.

CT 9616 ADJUSTING MECHANISM SET RIGHT
Dimensions

O
E
M

MCK1237

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9662 ADJUSTING MECHANISM RIGHT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

264 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9617 ADJUSTING MECHANISM SET LEFT
Dimensions

O
E
M

MCK1236

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9663 ADJUSTING MECHANISM LEFT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

MCK1263

PAD RETAINER KIT

CT 9380
OEM

MCK1352, MST1504, 68324331,
68130055

SENSOR COVER REPAIR KIT

CT 9382
OEM

CT 9228 SENSOR COVER PLASTIC11

CT 9169 BOLT12 M10*1,50-16 mm

CT 9318 SHAFT SEAL13

B DUCO TYPE

265

SN Code Qty Desc.

CT 9912 COMPLETE REPAIR SET
Dimensions

CT 9861 PIN REPAIR KIT11

CT 9616 ADJUSTING MECHANISM SET RIGHT12

CT 9624 LEVER SET13

CT 9613 ADJUSTING MECHANISM SHAFT14

CT 9315 RUBBER CAP15

CT 9357 CALIPER VISUAL INDICATOR16

B DUCO TYPE



SN Code Qty Desc.

CT 9850 PIN REPAIR KIT
Dimensions

O
E
M

MCK1134, SJ4094

CT 9102 PIN11 35*102 mm

CT 9106 PIN12 35*60 mm

CT 9153 PIN BOLT13 M20*2-125 mm

CT 9154 PIN BOLT14 M20*2-80 mm

CT 9266 FIBER BUSH25 35*39*38 mm

CT 9259 PIN BUSH16 35-36x39x30 mm

CT 9301 PIN RING27 37*40*11 mm

CT 9200 PIN BOOT28

CT 9302 PIN CAP29 40/18,5 mm

267

SN Code Qty Desc.

CT 9852 PIN REPAIR KIT
Dimensions

CT 9102 PIN11 35*102 mm

CT 9106 PIN12 35*60 mm

CT 9153 PIN BOLT13 M20*2-125 mm

CT 9154 PIN BOLT14 M20*2-80 mm

CT 9302 PIN CAP25 40/18,5 mm

CT 9200 PIN BOOT26

CT 9301 PIN RING27 37*40*11 mm

SN Code Qty Desc.

CT 9861 PIN REPAIR KIT
Dimensions

CT 9259 PIN BUSH11 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9257 PIN BUSH13 35*40*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN16 35*102 mm

CT 9106 PIN17 35*60 mm

CT 9153 PIN BOLT18 M20*2-125 mm

CT 9154 PIN BOLT19 M20*2-80 mm

C DUCO TYPE



SN Code Qty Desc.

CT 9888 PIN REPAIR KIT
Dimensions

O
E
M

MCK1116

CT 9259 PIN BUSH11 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9280 FIBER BUSH13 35*39*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN16 35*102 mm

CT 9106 PIN17 35*60 mm

CT 9153 PIN BOLT18 M20*2-125 mm

CT 9154 PIN BOLT19 M20*2-80 mm

268 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9857 PIN REPAIR KIT
Dimensions

O
E
M

MCK1065, MCK1066

CT 9102 PIN11 35*102 mm

CT 9200 PIN BOOT22

CT 9302 PIN CAP23 40/18,5 mm

SN Code Qty Desc.

CT 9862 PIN REPAIR KIT
Dimensions

O
E
M

MCK1299

CT 9102 PIN11 35*102 mm

CT 9153 PIN BOLT22 M20*2-125 mm

CT 9154 PIN BOLT13 M20*2-80 mm

CT 9200 PIN BOOT24

CT 9302 PIN CAP25 40/18,5 mm

C DUCO TYPE

SN Code Qty Desc.

CT 9800 TAPPET & BOOT SET
Dimensions

O
E
M

MCK1238

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

269

SN Code Qty Desc.

CT 9616 ADJUSTING MECHANISM SET RIGHT
Dimensions

O
E
M

MCK1237

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9662 ADJUSTING MECHANISM RIGHT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

SN Code Qty Desc.

CT 9617 ADJUSTING MECHANISM SET LEFT
Dimensions

O
E
M

MCK1236

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9663 ADJUSTING MECHANISM LEFT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

C DUCO TYPE



NEEDLE BEARING SET

CT 9874 SJ4112

NEEDLE BEARING SET

CT 9670
OEM

CT 9652 NEEDLE BEARING21 CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH23

270 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

68324854PK10, 68324854

TAPPET BOOT

CT 9205
OEM

MCK1139

TAPPET BOOT SET

CT 9805
OEM

CT 9205 TAPPET BOOT21

CT 9200
PIN BOOT

CT 9811
PIN BOOT SET

CT 9261
LEVER BUSH

CT 9200 PIN BOOT21

C DUCO TYPE

MCK1112, SJ4103

ADJUSTING MECHANISM SHAFT RIGHT

CT 9610
OEM

MCK1111, SJ4102

ADJUSTING MECHANISM SHAFT LEFT

CT 9611
OEM

CT 9318 SHAFT SEAL11 CT 9318 SHAFT SEAL11

271

MCK1113, SJ4110

ADJUSTING MECHANISM FRONT R/L

CT 9612
OEM

MCK1129

INTERMEDIATE GEAR

CT 9628
OEM

CT 9313 ACTUATOR SEAL11

CT 9318 SHAFT SEAL12

68322485

TAPPET ANTI ROTATION PLATE

CT 9629
OEM

SJ4111

CALIPER VISUAL INDICATOR

CT 9357
OEM

C DUCO TYPE



LEVER RIGHT

CT 9626
LEVER LEFT

CT 9627

CT 9261 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH21

CT 9263 LEVER BEARING22

272 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MCK1128

LEVER RIGHT

CT 9668
OEM

MCK1127

LEVER LEFT

CT 9669
OEM

CT 9261 LEVER BUSH21

CT 9652 NEEDLE BEARING22

CT 9322 SEAL13

CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9322 SEAL13

68322563

SMALL GEAR MECHANISM RIGHT

CT 9687
OEM

68322562

SMALL GEAR MECHANISM LEFT

CT 9688
OEM

C DUCO TYPE

68324854PK10

TAPPET BOOT SET

CT 9813
OEM

68322655PK10

RUBBER CAP SET

CT 9814
OEM

CT 9205 TAPPET BOOT101 CT 9221 RUBBER CAP101

273

MCK1041

GASKET SET

CT 9807
OEM

TAPPET AND BOOT SET

CT 9820

CT 9221 RUBBER CAP11

CT 9317 GASKET12

CT 9318 SHAFT SEAL13

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

PIN BOOT RING SET

CT 9378 MCK1264

PAD RETAINER KIT

CT 9381
OEM

CT 9314 PIN BOOT RING101 35,5*37,5*6 mm

C DUCO TYPE



SN Code Qty Desc.

CT 9382 SENSOR COVER REPAIR KIT
Dimensions

O
E
M MCK1352, MST1504, 68324331,

68130055

CT 9228 SENSOR COVER PLASTIC11

CT 9169 BOLT12 M10*1,50-16 mm

CT 9318 SHAFT SEAL13

274 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER COVER BOLT SET

CT 9451 MBA103

CALIPER PAD SPRING SET

CT 9452
OEM

CT 9190 CALIPER COVER BOLT81 M 14*1,5-55 mm

SN Code Qty Desc.

CT 9450 RUBBER CAP REPAIR KIT
Dimensions

CT 9221 RUBBER CAP11

CT 9327 RING12

CT 9318 SHAFT SEAL13

C DUCO TYPE

275

SN Code Qty Desc.

CT 9913 COMPLETE REPAIR SET LEFT
Dimensions

CT 9861 PIN REPAIR KIT11

CT 9617 ADJUSTING MECHANISM SET LEFT12

CT 9669 LEVER LEFT13

CT 9317 GASKET14

CT 9629 TAPPET ANTI ROTATION PLATE15

CT 9628 INTERMEDIATE GEAR16

CT 9357 CALIPER VISUAL INDICATOR17

CT 9688 SMALL GEAR MECHANISM LEFT18

CT 9611 ADJUSTING MECHANISM SHAFT LEFT19

SN Code Qty Desc.

CT 9914 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9861 PIN REPAIR KIT11

CT 9616 ADJUSTING MECHANISM SET RIGHT12

CT 9668 LEVER RIGHT13

CT 9317 GASKET14

CT 9629 TAPPET ANTI ROTATION PLATE15

CT 9628 INTERMEDIATE GEAR16

CT 9357 CALIPER VISUAL INDICATOR17

CT 9687 SMALL GEAR MECHANISM RIGHT18

CT 9610 ADJUSTING MECHANISM SHAFT RIGHT19

C DUCO TYPE



SN Code Qty Desc.

CT 9858 PIN REPAIR KIT
Dimensions

CT 9259 PIN BUSH21 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9257 PIN BUSH13 35*40*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN26 35*102 mm

CT 9153 PIN BOLT27 M20*2-125 mm

277

SN Code Qty Desc.

CT 9851 PIN REPAIR KIT
Dimensions

O
E
M

MCK1135, SJ4107

CT 9102 PIN21 35*102 mm

CT 9153 PIN BOLT22 M20*2-125 mm

CT 9266 FIBER BUSH23 35*39*38 mm

CT 9259 PIN BUSH24 35-36x39x30 mm

CT 9301 PIN RING25 37*40*11 mm

CT 9302 PIN CAP26 40/18,5 mm

CT 9200 PIN BOOT27

SN Code Qty Desc.

CT 9852 PIN REPAIR KIT
Dimensions

CT 9102 PIN11 35*102 mm

CT 9106 PIN12 35*60 mm

CT 9153 PIN BOLT13 M20*2-125 mm

CT 9154 PIN BOLT14 M20*2-80 mm

CT 9302 PIN CAP25 40/18,5 mm

CT 9200 PIN BOOT26

CT 9301 PIN RING27 37*40*11 mm

D DUCO RADIAL



SN Code Qty Desc.

CT 9854 PIN REPAIR KIT
Dimensions

CT 9102 PIN21 35*102 mm

CT 9153 PIN BOLT22 M20*2-125 mm

CT 9259 PIN BUSH23 35-36x39x30 mm

CT 9302 PIN CAP24 40/18,5 mm

CT 9301 PIN RING25 37*40*11 mm

CT 9205 TAPPET BOOT26

CT 9257 PIN BUSH17 35*40*77 mm

CT 9200 PIN BOOT28

278 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9880 PIN REPAIR KIT
Dimensions

O
E
M

MCK1118

CT 9259 PIN BUSH21 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9280 FIBER BUSH13 35*39*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN26 35*102 mm

CT 9153 PIN BOLT27 M20*2-125 mm

SN Code Qty Desc.

CT 9800 TAPPET & BOOT SET
Dimensions

O
E
M

MCK1238

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

D DUCO RADIAL

CT 9200
PIN BOOT

CT 9811
PIN BOOT SET

CT 9315
RUBBER CAP

CT 9200 PIN BOOT21

279

68324854PK10, 68324854

TAPPET BOOT

CT 9205
OEM

MCK1139

TAPPET BOOT SET

CT 9805
OEM

CT 9205 TAPPET BOOT21

68324854PK10

TAPPET BOOT SET

CT 9813
OEM

68322655PK10

RUBBER CAP SET

CT 9814
OEM

CT 9205 TAPPET BOOT101 CT 9221 RUBBER CAP101

D DUCO RADIAL



PIN BOOT RING SET

CT 9378 SJ4111

CALIPER VISUAL INDICATOR

CT 9357
OEM

CT 9314 PIN BOOT RING101 35,5*37,5*6 mm

280 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MCK1112, SJ4103

ADJUSTING MECHANISM SHAFT RIGHT

CT 9610
OEM

MCK1111, SJ4102

ADJUSTING MECHANISM SHAFT LEFT

CT 9611
OEM

CT 9318 SHAFT SEAL11 CT 9318 SHAFT SEAL11

MCK1113, SJ4110

ADJUSTING MECHANISM FRONT R/L

CT 9612
OEM

MCK1067

INTERMEDIATE GEAR

CT 9618
OEM

CT 9313 ACTUATOR SEAL11

CT 9318 SHAFT SEAL12

D DUCO RADIAL

68322900

TAPPET ANTI ROTATION PLATE

CT 9619
OEM

LEVER

CT 9622

CT 9265 LEVER BUSH21

CT 9263 LEVER BEARING22

281

SJ4108

LEVER SET

CT 9685
OEM

68322563

SMALL GEAR MECHANISM RIGHT

CT 9687
OEM

CT 9322 SEAL11

CT 9652 NEEDLE BEARING22

CT 9263 LEVER BEARING23

68322562

SMALL GEAR MECHANISM LEFT

CT 9688
OEM

SJ4109

GASKET SET

CT 9806
OEM

CT 9316 GASKET11

CT 9313 ACTUATOR SEAL12

CT 9315 RUBBER CAP13

D DUCO RADIAL



TAPPET AND BOOT SET

CT 9820
NEEDLE BEARING SET

CT 9874

CT 9205 TAPPET BOOT21

CT 9200 PIN BOOT22

CT 9652 NEEDLE BEARING21

282 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9616 ADJUSTING MECHANISM SET RIGHT
Dimensions

O
E
M

MCK1237

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9662 ADJUSTING MECHANISM RIGHT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

SN Code Qty Desc.

CT 9617 ADJUSTING MECHANISM SET LEFT
Dimensions

O
E
M

MCK1236

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9663 ADJUSTING MECHANISM LEFT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

D DUCO RADIAL

CALIPER COVER BOLT SET

CT 9451 MCK1264

PAD RETAINER KIT

CT 9381
OEM

CT 9190 CALIPER COVER BOLT81 M 14*1,5-55 mm

283

SN Code Qty Desc.

CT 9382 SENSOR COVER REPAIR KIT
Dimensions

O
E
M MCK1352, MST1504, 68324331,

68130055

CT 9228 SENSOR COVER PLASTIC11

CT 9169 BOLT12 M10*1,50-16 mm

CT 9318 SHAFT SEAL13

LEVER BUSH

CT 9261
LEVER BUSH

CT 9265

D DUCO RADIAL



284 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9917 COMPLETE REPAIR SET
Dimensions

CT 9858 PIN REPAIR KIT11

CT 9616 ADJUSTING MECHANISM SET RIGHT12

CT 9610 ADJUSTING MECHANISM SHAFT RIGHT13

CT 9357 CALIPER VISUAL INDICATOR14

CT 9687 SMALL GEAR MECHANISM RIGHT15

CT 9685 LEVER SET16

CT 9618 INTERMEDIATE GEAR17

CT 9316 GASKET18

CT 9619 TAPPET ANTI ROTATION PLATE19

D DUCO RADIAL



SN Code Qty Desc.

CT 9850 PIN REPAIR KIT
Dimensions

O
E
M

MCK1134, SJ4094

CT 9102 PIN11 35*102 mm

CT 9106 PIN12 35*60 mm

CT 9153 PIN BOLT13 M20*2-125 mm

CT 9154 PIN BOLT14 M20*2-80 mm

CT 9266 FIBER BUSH25 35*39*38 mm

CT 9259 PIN BUSH16 35-36x39x30 mm

CT 9301 PIN RING27 37*40*11 mm

CT 9200 PIN BOOT28

CT 9302 PIN CAP29 40/18,5 mm

287

SN Code Qty Desc.

CT 9888 PIN REPAIR KIT
Dimensions

O
E
M

MCK1116

CT 9259 PIN BUSH11 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9280 FIBER BUSH13 35*39*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN16 35*102 mm

CT 9106 PIN17 35*60 mm

CT 9153 PIN BOLT18 M20*2-125 mm

CT 9154 PIN BOLT19 M20*2-80 mm

SN Code Qty Desc.

CT 9861 PIN REPAIR KIT
Dimensions

CT 9259 PIN BUSH11 35-36x39x30 mm

CT 9302 PIN CAP22 40/18,5 mm

CT 9257 PIN BUSH13 35*40*77 mm

CT 9200 PIN BOOT24

CT 9301 PIN RING25 37*40*11 mm

CT 9102 PIN16 35*102 mm

CT 9106 PIN17 35*60 mm

CT 9153 PIN BOLT18 M20*2-125 mm

CT 9154 PIN BOLT19 M20*2-80 mm

D DUCO AXIAL



SN Code Qty Desc.

CT 9862 PIN REPAIR KIT
Dimensions

O
E
M

MCK1299

CT 9102 PIN11 35*102 mm

CT 9153 PIN BOLT22 M20*2-125 mm

CT 9154 PIN BOLT13 M20*2-80 mm

CT 9200 PIN BOOT24

CT 9302 PIN CAP25 40/18,5 mm

288 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9857 PIN REPAIR KIT
Dimensions

O
E
M

MCK1065, MCK1066

CT 9102 PIN11 35*102 mm

CT 9200 PIN BOOT22

CT 9302 PIN CAP23 40/18,5 mm

SN Code Qty Desc.

CT 9800 TAPPET & BOOT SET
Dimensions

O
E
M

MCK1238

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

D DUCO AXIAL

CT 9200
PIN BOOT

CT 9811
PIN BOOT SET

CT 9315
RUBBER CAP

CT 9200 PIN BOOT21

289

MCK1139

TAPPET BOOT SET

CT 9805
OEM

68322655PK10

RUBBER CAP SET

CT 9814
OEM

CT 9205 TAPPET BOOT21 CT 9221 RUBBER CAP101

68324854PK10

TAPPET BOOT SET

CT 9813
OEM

PIN BOOT RING SET

CT 9378

CT 9205 TAPPET BOOT101 CT 9314 PIN BOOT RING101 35,5*37,5*6 mm

D DUCO AXIAL



SJ4111

CALIPER VISUAL INDICATOR

CT 9357
OEM

NEEDLE BEARING SET

CT 9874

CT 9652 NEEDLE BEARING21

290 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SJ4112

NEEDLE BEARING SET

CT 9670
OEM

SJ4098

NEEDLE BEARING SET

CT 9672
OEM

CT 9652 NEEDLE BEARING21

CT 9263 LEVER BEARING22

CT 9261 LEVER BUSH23

CT 9265 LEVER BUSH21

CT 9263 LEVER BEARING22

CT 9652 NEEDLE BEARING23

LEVER RIGHT

CT 9620
LEVER LEFT

CT 9621

CT 9263 LEVER BEARING21

CT 9261 LEVER BUSH22

CT 9261 LEVER BUSH21

CT 9263 LEVER BEARING22

D DUCO AXIAL

MCK1398, SJ4096

LEVER SET LEFT

CT 9683
OEM

MCK1399, SJ4097

LEVER SET RIGHT

CT 9684
OEM

CT 9322 SEAL11

CT 8652 LEVER22

CT 9621 LEVER LEFT13

CT 9322 SEAL11

CT 9652 NEEDLE BEARING22

CT 9620 LEVER RIGHT13

291

68322563

SMALL GEAR MECHANISM RIGHT

CT 9687
OEM

68322562

SMALL GEAR MECHANISM LEFT

CT 9688
OEM

MCK1067

INTERMEDIATE GEAR

CT 9618
OEM

68322900

TAPPET ANTI ROTATION PLATE

CT 9619
OEM

D DUCO AXIAL



SN Code Qty Desc.

CT 9616 ADJUSTING MECHANISM SET RIGHT
Dimensions

O
E
M

MCK1237

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9662 ADJUSTING MECHANISM RIGHT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

292 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9617 ADJUSTING MECHANISM SET LEFT
Dimensions

O
E
M

MCK1236

CT 9205 TAPPET BOOT21

CT 9312 TAPPET RING22

CT 9311 BRAKE DUST RUBBER TAPPET23

CT 9663 ADJUSTING MECHANISM LEFT24

CT 9215 SEAL25

CT 9260 FLANGED BUSH26

MCK1112, SJ4103

ADJUSTING MECHANISM SHAFT RIGHT

CT 9610
OEM

MCK1113, SJ4110

ADJUSTING MECHANISM FRONT R/L

CT 9612
OEM

CT 9318 SHAFT SEAL11 CT 9313 ACTUATOR SEAL11

CT 9318 SHAFT SEAL12

D DUCO AXIAL

MCK1264

PAD RETAINER KIT

CT 9381
OEM

SJ4105

GASKET SET

CT 9808
OEM

CT 9318 SHAFT SEAL11

CT 9323 GASKET12

CT 9313 ACTUATOR SEAL13

293

CALIPER COVER BOLT SET

CT 9451 MBA104

CALIPER PAD SPRING SET

CT 9453
OEM

CT 9190 CALIPER COVER BOLT81 M 14*1,5-55 mm

SN Code Qty Desc.

CT 9382 SENSOR COVER REPAIR KIT
Dimensions

O
E
M MCK1352, MST1504, 68324331,

68130055

CT 9228 SENSOR COVER PLASTIC11

CT 9169 BOLT12 M10*1,50-16 mm

CT 9318 SHAFT SEAL13

D DUCO AXIAL



294 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9915 COMPLETE REPAIR SET LEFT
Dimensions

CT 9861 PIN REPAIR KIT11

CT 9617 ADJUSTING MECHANISM SET LEFT12

CT 9611 ADJUSTING MECHANISM SHAFT LEFT13

CT 9357 CALIPER VISUAL INDICATOR14

CT 9688 SMALL GEAR MECHANISM LEFT15

CT 9683 LEVER SET LEFT16

CT 9628 INTERMEDIATE GEAR17

CT 9323 GASKET18

CT 9629 TAPPET ANTI ROTATION PLATE19

SN Code Qty Desc.

CT 9916 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9861 PIN REPAIR KIT11

CT 9616 ADJUSTING MECHANISM SET RIGHT12

CT 9610 ADJUSTING MECHANISM SHAFT RIGHT13

CT 9357 CALIPER VISUAL INDICATOR14

CT 9687 SMALL GEAR MECHANISM RIGHT15

CT 9684 LEVER SET RIGHT16

CT 9628 INTERMEDIATE GEAR17

CT 9323 GASKET18

CT 9629 TAPPET ANTI ROTATION PLATE19

D DUCO AXIAL



SN Code Qty Desc.

CT 9877 BOOT REPAIR KIT
Dimensions

CT 9213 TAPPET BOOT21

CT 9212 PIN BOOT22

297

SN Code Qty Desc.

CT 9878 BOOT & BOLT REPAIR KIT
Dimensions

CT 9213 TAPPET BOOT21

CT 9212 PIN BOOT22

CT 9324 PIN CAP23 37/25 mm

CT 9185 BOLT44 M10*1,5-25 mm

CT 9168 PLUG BOLT15 1,75*1,25*1,75

CT 9321 WASHER16

CT 9184 BOLT27 M10*1,5-20 mm

CT 9186 BOLT28 M8*1,25-16 mm

CT 9183 TAPPET BOLT29 M8*1,25-20 mm

SN Code Qty Desc.

CT 9865 PIN REPAIR KIT
Dimensions

O
E
M

MCK1191

CT 9213 TAPPET BOOT21

CT 9212 PIN BOOT22

CT 9324 PIN CAP23 37/25 mm

CT 9173 PIN BOLT14 M14*1,5-70 mm

CT 9174 PIN BOLT15 M14*1,5-50 mm

DX 175



SN Code Qty Desc.

CT 9894 CALIPER PIN & BOOT REPAIR KIT
Dimensions

O
E
M

MCK1170

CT 9213 TAPPET BOOT21

CT 9212 PIN BOOT22

CT 9324 PIN CAP23 37/25 mm

CT 9328 GASKET14

CT 9321 WASHER15

CT 9168 PLUG BOLT16 1,75*1,25*1,75

CT 9184 BOLT27 M10*1,5-20 mm

CT 9186 BOLT28 M8*1,25-16 mm

CT 9183 TAPPET BOLT29 M8*1,25-20 mm

CT 9185 BOLT410 M10*1,5-25 mm

CT 9254 PIN BUSH411 28*32*22,3 mm

CT 9122 PIN112 28*96 mm

CT 9123 PIN113 28*96 mm

CT 9173 PIN BOLT114 M14*1,5-70 mm

CT 9174 PIN BOLT115 M14*1,5-50 mm

298 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9870 PIN REPAIR KIT
Dimensions

CT 9122 PIN11 28*96 mm

CT 9123 PIN12 28*96 mm

CT 9324 PIN CAP23 37/25 mm

CT 9173 PIN BOLT14 M14*1,5-70 mm

CT 9174 PIN BOLT15 M14*1,5-50 mm

CT 9254 PIN BUSH46 28*32*22,3 mm

SN Code Qty Desc.

CT 9697 SHAFT &COVER REPAIR KIT
Dimensions

CT 9644 ECCENTRIC SHAFT11

CT 9645 COVER PLATE12

CT 9363 DUST COVER13

CT 9364 SEAL14

CT 9646 SHAFT NEEDLE BEARING15

CT 9321 WASHER16

CT 9168 PLUG BOLT17 1,75*1,25*1,75

CT 9186 BOLT28 M8*1,25-16 mm

DX 175

SN Code Qty Desc.

CT 9699 COVER PLATE SET
Dimensions

CT 9364 SEAL11

CT 9645 COVER PLATE12

CT 9186 BOLT23 M8*1,25-16 mm

299

SN Code Qty Desc.

CT 9700 PLATE REPAIR KIT RIGHT
Dimensions

CT 9365 PLATE11

CT 9178 CALIBRATION BOLT RIGHT22

CT 9183 TAPPET BOLT23 M8*1,25-20 mm

SN Code Qty Desc.

CT 9701 PLATE REPAIR KIT LEFT
Dimensions

CT 9365 PLATE11

CT 9179 CALIBRATION BOLT LEFT22

CT 9183 TAPPET BOLT23 M8*1,25-20 mm

DX 175



SHAFT HOUSING

CT 9650
NEEDLE BEARING SET

CT 9686

CT 9277 NEEDLE BEARING21

300 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

PISTON & PIGNON SET RIGHT

CT 9712
PISTON & PIGNON SET LEFT

CT 9713

CT 9337 PISTON RIGHT21

CT 9339 PIGNON22

CT 9338 PISTON LEFT21

CT 9339 PIGNON22

CENTRAL FORK & PIGNON

CT 9679
COVER PLATE SEAL SET

CT 9817

CT 9335 CENTRAL FORK11

CT 9336 PIGNON12

CT 9364 SEAL51

DX 175

SN Code Qty Desc.

CT 9681 BEARING SET
Dimensions

CT 9277 NEEDLE BEARING21

CT 9278 SHAFT HOUSING BUSH12

CT 9646 SHAFT NEEDLE BEARING13

301

SN Code Qty Desc.

CT 9704 SHAFT HOUSING PISTON SET RIGHT
Dimensions

CT 9650 SHAFT HOUSING11

CT 9700 PLATE REPAIR KIT RIGHT12

CT 9712 PISTON & PIGNON SET RIGHT13

CT 9679 CENTRAL FORK & PIGNON14

SN Code Qty Desc.

CT 9705 SHAFT HOUSING PISTON SET LEFT
Dimensions

CT 9650 SHAFT HOUSING11

CT 9701 PLATE REPAIR KIT LEFT12

CT 9713 PISTON & PIGNON SET LEFT13

CT 9679 CENTRAL FORK & PIGNON14

DX 175



SN Code Qty Desc.

CT 9702 SHAFT HOUSING PISTON SET R
Dimensions

CT 9650 SHAFT HOUSING11

CT 9337 PISTON RIGHT22

CT 9335 CENTRAL FORK13

CT 9336 PIGNON14

CT 9339 PIGNON25

302 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9703 SHAFT HOUSING PISTON SET LEFT
Dimensions

CT 9650 SHAFT HOUSING11

CT 9338 PISTON LEFT22

CT 9335 CENTRAL FORK13

CT 9336 PIGNON14

CT 9339 PIGNON25

SN Code Qty Desc.

CT 9708 MECHANISM REPAIR KIT RIGHT
Dimensions

CT 9371 ADJUSTING MECHANISM RIGHT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9342 WAVY WASHER24

CT 9343 RING25

CT 9344 SEAL26

DX 175

SN Code Qty Desc.

CT 9709 MECHANISM REPAIR KIT LEFT
Dimensions

CT 9372 ADJUSTING MECHANISM LEFT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9342 WAVY WASHER24

CT 9343 RING25

CT 9344 SEAL26

303

SN Code Qty Desc.

CT 9710 MECHANISM REPAIR KIT RIGHT
Dimensions

CT 9371 ADJUSTING MECHANISM RIGHT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9342 WAVY WASHER24

CT 9343 RING25

CT 9344 SEAL26

CT 9168 PLUG BOLT17 1,75*1,25*1,75

CT 9321 WASHER18

CT 9184 BOLT29 M10*1,5-20 mm

CT 9186 BOLT610 M8*1,25-16 mm

CT 9335 CENTRAL FORK111

CT 9336 PIGNON112

SN Code Qty Desc.

CT 9711 MECHANISM REPAIR KIT LEFT
Dimensions

CT 9372 ADJUSTING MECHANISM LEFT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9342 WAVY WASHER24

CT 9343 RING25

CT 9344 SEAL26

CT 9168 PLUG BOLT17 1,75*1,25*1,75

CT 9321 WASHER18

CT 9184 BOLT29 M10*1,5-20 mm

CT 9186 BOLT610 M8*1,25-16 mm

CT 9335 CENTRAL FORK111

CT 9336 PIGNON112

DX 175



CALIPER ACTUATOR END PLATE LEFT

CT 9463
CALIPER ACTUATOR END PLATE RIGHT

CT 9464

304 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

DUST COVER SET

CT 9816
PAD RETAINER

CT 9359

CT 9363 DUST COVER51

DX 175

305

SN Code Qty Desc.

CT 9908 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9894 CALIPER PIN & BOOT REPAIR KIT11

CT 9708 MECHANISM REPAIR KIT RIGHT12

CT 9704 SHAFT HOUSING PISTON SET RIGHT13

CT 9697 SHAFT &COVER REPAIR KIT14

CT 9277 NEEDLE BEARING15

CT 9359 PAD RETAINER16

SN Code Qty Desc.

CT 9909 COMPLETE REPAIR KIT LEFT
Dimensions

CT 9894 CALIPER PIN & BOOT REPAIR KIT11

CT 9709 MECHANISM REPAIR KIT LEFT12

CT 9705 SHAFT HOUSING PISTON SET LEFT13

CT 9697 SHAFT &COVER REPAIR KIT14

CT 9277 NEEDLE BEARING15

CT 9359 PAD RETAINER16

DX 175



SN Code Qty Desc.

CT 9868 CALIPER BOOT REPAIR KIT
Dimensions

CT 9206 PIN BOOT21

CT 9207 TAPPET BOOT22

CT 9208 TAPPET BOOT SEAL23

307

SN Code Qty Desc.

CT 9866 PIN REPAIR KIT
Dimensions

O
E
M

MCK1192

CT 9206 PIN BOOT21

CT 9309 PIN CAP22 42/28 mm

CT 9207 TAPPET BOOT23

CT 9208 TAPPET BOOT SEAL24

CT 9187 PIN BOLT15 M16*1,5-80 mm

CT 9163 PIN BOLT16 M16*1,5-55 mm

SN Code Qty Desc.

CT 9867 PIN REPAIR KIT
Dimensions

O
E
M

MCK1171

CT 9206 PIN BOOT21

CT 9309 PIN CAP22 42/28 mm

CT 9207 TAPPET BOOT23

CT 9208 TAPPET BOOT SEAL24

CT 9187 PIN BOLT15 M16*1,5-80 mm

CT 9163 PIN BOLT16 M16*1,5-55 mm

CT 9116 PIN17 32*97-37 mm

CT 9117 PIN18 32*97-62 mm

CT 9252 PIN BUSH29 32*36*55 mm

CT 9164 BOLT410 M12*1,75-30 mm

CT 9320 GASKET111

CT 9321 WASHER112

CT 9168 PLUG BOLT113 1,75*1,25*1,75

CT 9165 BOLT214 M12*1,75-20 mm

CT 9166 BOLT215 M8*1,25-20 mm

CT 9167 BOLT216 M10*1,5-20 mm

DX 195 TYPE



SN Code Qty Desc.

CT 9869 PIN REPAIR KIT
Dimensions

CT 9309 PIN CAP21 42/28 mm

CT 9252 PIN BUSH22 32*36*55 mm

CT 9187 PIN BOLT13 M16*1,5-80 mm

CT 9163 PIN BOLT14 M16*1,5-55 mm

CT 9116 PIN15 32*97-37 mm

CT 9117 PIN16 32*97-62 mm

308 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CALIPER SHAFT HOUSING

CT 9657
COVER PLATE

CT 9674

CT 9637 COVER PLATE11

CT 9320 GASKET12

CT 9166 BOLT23 M8*1,25-20 mm

CALIPER BEARING SET

CT 9671 MCK1344

BEARING & BUSH REPAIR KIT

CT 9678
OEM

CT 9655 NEEDLE BEARING21

CT 9654 ECCENTRIC SHAFT NEEDLE
BEARING

12

CT 9655 NEEDLE BEARING21

CT 9654 ECCENTRIC SHAFT NEEDLE
BEARING

12

CT 9274 SHAFT HOUSING BUSH13

DX 195 TYPE

MCK1294, MCK1168,
MCK1169

SHAFT BEARING REPAIR KIT

CT 9694
OEM

ECCENTRIC SHAFT

CT 9656

CT 9674 COVER PLATE11

CT 9671 CALIPER BEARING SET12

CT 9168 PLUG BOLT13 1,75*1,25*1,75

CT 9655 NEEDLE BEARING21

CT 9647 ECCENTRIC SHAFT12

309

PISTON REPAIR KIT RIGHT

CT 9666
PISTON REPAIR KIT LEFT

CT 9667

CT 9332 PISTON RIGHT21

CT 9333 PIGNON22

CT 9334 PISTON LEFT21

CT 9333 PIGNON22

DSB5R

ADJUSTING MECHANISM REPAIR KIT RIGHT

CT 9676
OEM

DSB5L

ADJUSTING MECHANISM REPAIR KIT LEFT

CT 9677
OEM

CT 9374 ADJUSTING MECHANISM RIGHT11

CT 9345 PIGNON12

CT 9346 SPRING13

CT 9375 ADJUSTING MECHANISM LEFT11

CT 9345 PIGNON12

CT 9346 SPRING13

DX 195 TYPE



PLATE REPAIR KIT RIGHT

CT 9659
PLATE REPAIR KIT LEFT

CT 9660

CT 9175 CALIBRATION BOLT RIGHT21

CT 9176 TAPPET BOLT22

CT 9689 PLATE13

CT 9177 CALIBRATION BOLT LEFT21

CT 9176 TAPPET BOLT22

CT 9689 PLATE13

310 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9690 ADJUSTING MECHANISM REPAIR KIT
RIGHT Dimensions

O
E
M

MCK1291

CT 9374 ADJUSTING MECHANISM RIGHT11

CT 9345 PIGNON12

CT 9346 SPRING13

CT 9347 WAVY WASHER24

CT 9348 RING25

CT 9344 SEAL26

CT 9330 MECHANISM CENTRAL FORK17

CT 9331 MECHANISM PIGNON18

SN Code Qty Desc.

CT 9691 ADJUSTING MECHANISM REPAIR KIT
LEFT Dimensions

O
E
M

MCK1290

CT 9375 ADJUSTING MECHANISM LEFT11

CT 9345 PIGNON12

CT 9346 SPRING13

CT 9347 WAVY WASHER24

CT 9348 RING25

CT 9344 SEAL26

CT 9330 MECHANISM CENTRAL FORK17

CT 9331 MECHANISM PIGNON18

DX 195 TYPE

CT 9274
SHAFT HOUSING BUSH

CT 9276
COVER PLATE SEAL

CT 9356
DUST COVER

311

COVER PLATE SEAL SET

CT 9819
DUST COVER SET

CT 9818

CT 9276 COVER PLATE SEAL51 CT 9356 DUST COVER51

ECCENTRIC SHAFT NEEDLE BEARING

CT 9654
BEVEL WASHER SET

CT 9651

CT 9275 BEVEL WASHER51

DX 195 TYPE



PAD RETAINER

CT 9358
NEEDLE BEARING

CT 9655

312 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9675 CENTRAL FORK & PIGNON
Dimensions

CT 9330 MECHANISM CENTRAL FORK11

CT 9331 MECHANISM PIGNON12

SN Code Qty Desc.

CT 9695 ADJUSTING MECHANISM REPAIR KIT
RIGHT Dimensions

O
E
M

MCK1293

CT 9657 CALIPER SHAFT HOUSING11

CT 9666 PISTON REPAIR KIT RIGHT12

CT 9659 PLATE REPAIR KIT RIGHT13

CT 9675 CENTRAL FORK & PIGNON14

DX 195 TYPE

SN Code Qty Desc.

CT 9696 ADJUSTING MECHANISM REPAIR KIT
LEFT Dimensions

O
E
M

MCK1292

CT 9657 CALIPER SHAFT HOUSING11

CT 9667 PISTON REPAIR KIT LEFT12

CT 9660 PLATE REPAIR KIT LEFT13

CT 9675 CENTRAL FORK & PIGNON14

313

SN Code Qty Desc.

CT 9714 SHAFT HOUSING & PISTON SET RIGHT
Dimensions

O
E
M

DSB6R

CT 9657 CALIPER SHAFT HOUSING11

CT 9666 PISTON REPAIR KIT RIGHT12

CT 9675 CENTRAL FORK & PIGNON13

SN Code Qty Desc.

CT 9715 SHAFT HOUSING & PISTON SET LEFT
Dimensions

O
E
M

DSB6L

CT 9657 CALIPER SHAFT HOUSING11

CT 9667 PISTON REPAIR KIT LEFT12

CT 9675 CENTRAL FORK & PIGNON13

DX 195 TYPE



MBA100

CALIPER PAD REPAIR KIT

CT 9373
OEM

MBA100

CALIPER PAD SPRING SET

CT 9467
OEM

314 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MCK1160

SHAFT LEVER

CT 9642
OEM

MCK1161

SHAFT LEVER

CT 9643
OEM

CALIPER ACTUATOR END PLATE LEFT

CT 9465
CALIPER ACTUATOR END PLATE RIGHT

CT 9466

DX 195 TYPE

315

SN Code Qty Desc.

CT 9906 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9867 PIN REPAIR KIT11

CT 9695 ADJUSTING MECHANISM REPAIR KIT RIGHT12

CT 9676 ADJUSTING MECHANISM REPAIR KIT RIGHT13

CT 9694 SHAFT BEARING REPAIR KIT14

SN Code Qty Desc.

CT 9907 COMPLETE REPAIR SET LEFT
Dimensions

CT 9696 ADJUSTING MECHANISM REPAIR KIT LEFT11

CT 9677 ADJUSTING MECHANISM REPAIR KIT LEFT12

CT 9867 PIN REPAIR KIT13

CT 9694 SHAFT BEARING REPAIR KIT14

DX 195 TYPE



SN Code Qty Desc.

CT 9879 BOOT & PIN REPAIR KIT
Dimensions

O
E
M

MCK1172

CT 9209 PIN BOOT21

CT 9303 PIN CAP22 42/31 mm

CT 9210 TAPPET BOOT23

CT 9211 TAPPET BOOT SEAL24

CT 9150 PIN BOLT15 M18*2,5-90 mm

CT 9151 PIN BOLT16 M18*2,5-55 mm

CT 9103 PIN17 35*98 mm

CT 9104 PIN18 35*98 mm

CT 9264 PIN BUSH29 35*39*50 mm

CT 9164 BOLT410 M12*1,75-30 mm

CT 9320 GASKET111

CT 9321 WASHER112

CT 9168 PLUG BOLT113 1,75*1,25*1,75

CT 9165 BOLT214 M12*1,75-20 mm

CT 9166 BOLT215 M8*1,25-20 mm

CT 9176 BOLT216 M10*1,5-20 mm

317

SN Code Qty Desc.

CT 9891 BOOT & BOLT REPAIR KIT
Dimensions

CT 9209 PIN BOOT21

CT 9211 TAPPET BOOT SEAL22

CT 9210 TAPPET BOOT23

CT 9303 PIN CAP24 42/31 mm

CT 9164 BOLT45 M12*1,75-30 mm

CT 9166 BOLT26 M8*1,25-20 mm

CT 9165 BOLT27 M12*1,75-20 mm

CT 9176 TAPPET BOLT28

SN Code Qty Desc.

CT 9892 PIN REPAIR KIT
Dimensions

O
E
M

MCK1193

CT 9209 PIN BOOT21

CT 9210 TAPPET BOOT22

CT 9211 TAPPET BOOT SEAL23

CT 9303 PIN CAP24 42/31 mm

CT 9150 PIN BOLT15 M18*2,5-90 mm

CT 9151 PIN BOLT16 M18*2,5-55 mm

DX 225 TYPE



SN Code Qty Desc.

CT 9876 DUST RUBBER REPAIR KIT
Dimensions

CT 9209 PIN BOOT21

CT 9210 TAPPET BOOT22

CT 9211 TAPPET BOOT SEAL23

318 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9887 PIN REPAIR KIT
Dimensions

CT 9303 PIN CAP21 42/31 mm

CT 9150 PIN BOLT12 M18*2,5-90 mm

CT 9151 PIN BOLT13 M18*2,5-55 mm

CT 9103 PIN14 35*98 mm

CT 9104 PIN15 35*98 mm

CT 9264 PIN BUSH26 35*39*50 mm

SHAFT HOUSING

CT 9716 MCK1294, MCK1168,
MCK1169

SHAFT BEARING REPAIR KIT

CT 9694
OEM

CT 9674 COVER PLATE11

CT 9671 CALIPER BEARING SET12

CT 9168 PLUG BOLT13 1,75*1,25*1,75

DX 225 TYPE

COVER PLATE

CT 9674
ECCENTRIC SHAFT

CT 9656

CT 9637 COVER PLATE11

CT 9320 GASKET12

CT 9166 BOLT23 M8*1,25-20 mm

CT 9655 NEEDLE BEARING21

CT 9647 ECCENTRIC SHAFT12

319

CT 9356
DUST COVER

CT 9654
ECCENTRIC SHAFT NEEDLE
BEARING

CT 9274
SHAFT HOUSING BUSH

CT 9276
COVER PLATE SEAL

CT 9818
DUST COVER SET

CT 9819
COVER PLATE SEAL SET

CT 9356 DUST COVER51 CT 9276 COVER PLATE SEAL51

DX 225 TYPE



CALIPER BEARING SET

CT 9671 MCK1344

BEARING & BUSH REPAIR KIT

CT 9678
OEM

CT 9655 NEEDLE BEARING21

CT 9654 ECCENTRIC SHAFT NEEDLE
BEARING

12

CT 9655 NEEDLE BEARING21

CT 9654 ECCENTRIC SHAFT NEEDLE
BEARING

12

CT 9274 SHAFT HOUSING BUSH13

320 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

BEVEL WASHER SET

CT 9651
CALIPER AND PLATE GASKET

CT 9225

CT 9275 BEVEL WASHER51

PISTON & PIGNON REPAIR SET L

CT 9664
PISTON & PIGNON REPAIR SET R

CT 9665

CT 9719 PISTON LEFT21

CT 9333 PIGNON22

CT 9718 PISTON RIGHT21

CT 9333 PIGNON22

DX 225 TYPE

PLATE REPAIR KIT LEFT

CT 9648
PLATE REPAIR KIT RIGHT

CT 9649

CT 9717 PLATE11

CT 9177 CALIBRATION BOLT LEFT22

CT 9176 TAPPET BOLT23

CT 9717 PLATE11

CT 9175 CALIBRATION BOLT RIGHT22

CT 9176 TAPPET BOLT23

321

CENTRAL FORK & PIGNON

CT 9675
CALIPER PAD RETAINER

CT 9470

CT 9330 MECHANISM CENTRAL FORK11

CT 9331 MECHANISM PIGNON12

SN Code Qty Desc.

CT 9640 ADJUSTING MECHANISM REPAIR KIT
LEFT Dimensions

CT 9377 ADJUSTING MECHANISM LEFT11

CT 9345 PIGNON12

CT 9346 SPRING13

CT 9347 WAVY WASHER24

CT 9348 RING25

CT 9344 SEAL26

DX 225 TYPE



SN Code Qty Desc.

CT 9641 ADJUSTING MECHANISM REPAIR KIT
RIGHT Dimensions

CT 9376 ADJUSTING MECHANISM RIGHT11

CT 9345 PIGNON12

CT 9346 SPRING13

CT 9347 WAVY WASHER24

CT 9348 RING25

CT 9344 SEAL26

322 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9724 ADJUSTING MECHANISM REPAIR KIT
RIGHT Dimensions

CT 9376 ADJUSTING MECHANISM RIGHT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9348 RING24

CT 9347 WAVY WASHER25

CT 9344 SEAL26

CT 9164 BOLT67 M12*1,75-30 mm

CT 9165 BOLT28 M12*1,75-20 mm

CT 9330 MECHANISM CENTRAL FORK19

CT 9331 MECHANISM PIGNON110

SN Code Qty Desc.

CT 9725 ADJUSTING MECHANISM REPAIR KIT
LEFT Dimensions

CT 9377 ADJUSTING MECHANISM LEFT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9348 RING24

CT 9347 WAVY WASHER25

CT 9344 SEAL26

CT 9164 BOLT67 M12*1,75-30 mm

CT 9165 BOLT28 M12*1,75-20 mm

CT 9330 MECHANISM CENTRAL FORK19

CT 9331 MECHANISM PIGNON110

DX 225 TYPE

SN Code Qty Desc.

CT 9722 SHAFT HOUSING REPAIR KIT RIGHT
Dimensions

CT 9716 SHAFT HOUSING11

CT 9665 PISTON & PIGNON REPAIR SET R12

CT 9717 PLATE13

CT 9175 CALIBRATION BOLT RIGHT24

CT 9176 TAPPET BOLT25

CT 9330 MECHANISM CENTRAL FORK16

CT 9331 MECHANISM PIGNON17

323

SN Code Qty Desc.

CT 9723 SHAFT HOUSING REPAIR KIT LEFT
Dimensions

CT 9716 SHAFT HOUSING11

CT 9664 PISTON & PIGNON REPAIR SET L12

CT 9717 PLATE13

CT 9177 CALIBRATION BOLT LEFT24

CT 9176 TAPPET BOLT25

CT 9330 MECHANISM CENTRAL FORK16

CT 9331 MECHANISM PIGNON17

SN Code Qty Desc.

CT 9720 SHAFT HOUSING SET RIGHT
Dimensions

CT 9716 SHAFT HOUSING11

CT 9665 PISTON & PIGNON REPAIR SET R12

CT 9330 MECHANISM CENTRAL FORK13

CT 9331 MECHANISM PIGNON14

DX 225 TYPE



SN Code Qty Desc.

CT 9721 SHAFT HOUSING SET LEFT
Dimensions

CT 9716 SHAFT HOUSING11

CT 9664 PISTON & PIGNON REPAIR SET L12

CT 9330 MECHANISM CENTRAL FORK13

CT 9331 MECHANISM PIGNON14

324 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MCK1160

SHAFT LEVER

CT 9642
OEM

MCK1161

SHAFT LEVER

CT 9643
OEM

CALIPER ACTUATOR END PLATE LEFT

CT 9468
CALIPER ACTUATOR END PLATE RIGHT

CT 9469

DX 225 TYPE

SN Code Qty Desc.

CT 9738 ADJUSTING MECHANISM REPAIR KIT
RIGHT Dimensions

CT 9376 ADJUSTING MECHANISM RIGHT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9348 RING24

CT 9347 WAVY WASHER25

CT 9344 SEAL26

CT 9164 BOLT67 M12*1,75-30 mm

CT 9165 BOLT28 M12*1,75-20 mm

CT 9330 MECHANISM CENTRAL FORK19

CT 9331 MECHANISM PIGNON110

CT 9225 CALIPER AND PLATE GASKET111

325

SN Code Qty Desc.

CT 9739 ADJUSTING MECHANISM REPAIR KIT
LEFT Dimensions

CT 9377 ADJUSTING MECHANISM LEFT11

CT 9346 SPRING12

CT 9345 PIGNON13

CT 9348 RING24

CT 9347 WAVY WASHER25

CT 9344 SEAL26

CT 9164 BOLT67 M12*1,75-30 mm

CT 9165 BOLT28 M12*1,75-20 mm

CT 9330 MECHANISM CENTRAL FORK19

CT 9331 MECHANISM PIGNON110

CT 9225 CALIPER AND PLATE GASKET111

SN Code Qty Desc.

CT 9373 CALIPER PAD REPAIR KIT
Dimensions

O
E
M

MBA100

DX 225 TYPE



326 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 9910 COMPLETE REPAIR SET RIGHT
Dimensions

CT 9722 SHAFT HOUSING REPAIR KIT RIGHT11

CT 9879 BOOT & PIN REPAIR KIT12

CT 9694 SHAFT BEARING REPAIR KIT13

CT 9641 ADJUSTING MECHANISM REPAIR KIT RIGHT14

CT 9470 PAD RETAINER15

SN Code Qty Desc.

CT 9911 COMPLETE REPAIR SET LEFT
Dimensions

CT 9723 SHAFT HOUSING REPAIR KIT LEFT11

CT 9879 BOOT & PIN REPAIR KIT12

CT 9694 SHAFT BEARING REPAIR KIT13

CT 9640 ADJUSTING MECHANISM REPAIR KIT LEFT14

CT 9470 PAD RETAINER15

DX 225 TYPE



SN Code Qty Desc.

CT 3855 PIN REPAIR KIT
Dimensions

O
E
M

MCK1213, SJ1228, SJ4011

CT 3253 CALIPER PIN BUSH21 32*36*40 mm

CT 3255 CALIPER PIN BUSH12 32,5-33,2*36*30 mm

CT 3203 PIN BOOT23

CT 3303 PIN CAP24 37/11 mm

CT 3305 DUST COVER25

CT 3104 CALIPER PIN16 32*117 mm

CT 3103 CALIPER PIN17 32*73 mm

CT 3155 PIN BOLT18 M18*1,5-117 mm

CT 3154 PIN BOLT19 M18*1,5-95 mm

329

SN Code Qty Desc.

CT 3852 PIN REPAIR KIT
Dimensions

O
E
M

SJ1213

CT 3255 CALIPER PIN BUSH21 32,5-33,2*36*30 mm

CT 3203 PIN BOOT22

CT 3303 PIN CAP23 37/11 mm

CT 3305 DUST COVER24

CT 3104 CALIPER PIN15 32*117 mm

CT 3103 CALIPER PIN16 32*73 mm

CT 3155 PIN BOLT17 M18*1,5-117 mm

CT 3154 PIN BOLT18 M18*1,5-95 mm

SN Code Qty Desc.

CT 3854 PIN REPAIR KIT
Dimensions

CT 3253 CALIPER PIN BUSH21 32*36*40 mm

CT 3254 PIN BUSH12 32*36*62 mm

CT 3203 PIN BOOT23

CT 3303 PIN CAP24 37/11 mm

CT 3305 DUST COVER25

CT 3104 CALIPER PIN16 32*117 mm

CT 3103 CALIPER PIN17 32*73 mm

CT 3155 PIN BOLT18 M18*1,5-117 mm

CT 3154 PIN BOLT19 M18*1,5-95 mm

D3 TYPE



SN Code Qty Desc.

CT 3853 PIN REPAIR KIT
Dimensions

O
E
M

SJ4001

CT 3203 PIN BOOT21

CT 3303 PIN CAP22 37/11 mm

CT 3305 DUST COVER23

CT 3104 CALIPER PIN14 32*117 mm

CT 3103 CALIPER PIN15 32*73 mm

CT 3155 PIN BOLT16 M18*1,5-117 mm

CT 3154 PIN BOLT17 M18*1,5-95 mm

330 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 3152
ADJUSTER BOLT

CT 3157
RUBBER CAP

CT 3252
SPLINE SHAFT BUSH

CT 3161
COVER BOLT

CT 3162
COVER BOLT

CT 3457
WAVY WASHER

D3 TYPE

CT 3468
WAVY WASHER SMALL

CT 3458
TORSION SPRING BEARING

CT 3609
ADJUSTING GEAR SMALL

331

CT 3657
THRUST BEARING

CT 3658
SPLINE SHAFT BOOT

CT 3659
BOOT

CT 3660
SPLINE SHAFT BEARING SET

CT 3655 WASHER11

CT 3656 BEARING222

CT 3670
GEAR & BOLT REPAIR KIT RIGHT

CT 3671
GEAR & BOLT REPAIR KIT LEFT

CT 3609 ADJUSTING GEAR SMALL11

CT 3451 SPRING  RIGHT12

CT 3152 ADJUSTER BOLT13

CT 3609 ADJUSTING GEAR SMALL11

CT 3452 SPRING LEFT12

CT 3152 ADJUSTER BOLT13

D3 TYPE



TORSION SPRING SET RIGHT

CT 3678
TORSION SPRING SET LEFT

CT 3679

CT 3453 SPRING  RIGHT11

CT 3451 SPRING  RIGHT12

CT 3452 SPRING LEFT11

CT 3454 SPRING LEFT12

332 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

GEAR & BOLT REPAIR KIT RIGHT

CT 3672
GEAR & BOLT REPAIR KIT LEFT

CT 3673

CT 3670 GEAR & BOLT REPAIR KIT RIGHT11

CT 3157 RUBBER CAP12

CT 3671 GEAR & BOLT REPAIR KIT LEFT11

CT 3157 RUBBER CAP12

DUST COVER

CT 3207
DUST COVER SET

CT 3674

CT 3207 DUST COVER11

CT 3659 BOOT12

CT 3157 RUBBER CAP13

D3 TYPE

DUST RUBBER & BOOTS REPAIR KIT

CT 3677
SEAL SET

CT 3821

CT 3659 BOOT11

CT 3207 DUST COVER12

CT 3162 COVER BOLT43 M8*1,25-40 mm

CT 3459 SEAL101

333

CALIPER ADJUSTING GEAR RIGHT

CT 3605
CALIPER ADJUSTING GEAR LEFT

CT 3606

CIRCLIP SET

CT 3822
CALIBRATION RING SET

CT 3823

CT 3462 CIRCLIP101 CT 3463 CALIBRATION RING101

D3 TYPE



SN Code Qty Desc.

CT 3811 TORSION SPRING BEARING SET
Dimensions

CT 3458 TORSION SPRING BEARING11

CT 3471 WASHER32

CT 3472 WASHER43

334 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3824 CALIPER SEAL & BUSH SET
Dimensions

CT 3252 SPLINE SHAFT BUSH11 50*55*20 mm

CT 3658 SPLINE SHAFT BOOT12

CT 3462 CIRCLIP13

CT 3459 SEAL14

31932070, 68321507, 68321508

SHAFT LEVER

CT 3669
OEM

68321502

SHAFT ADJUSTER

CT 3692
OEM

D3 TYPE

BEARING HOUSE RIGHT

CT 3664
BEARING HOUSE LEFT

CT 3665

335

SPLINE SHAFT FRONT RIGHT 48 TEETH

CT 3683
SPLINE SHAFT FRONT LEFT 48 TEETH

CT 3684

CT 3683/1 SPLINE SHAFT FRONT RIGHT 48 TEETH11

CT 3664 BEARING HOUSE RIGHT12

CT 3684/1 SPLINE SHAFT FRONT LEFT 48 TEETH11

CT 3665 BEARING HOUSE LEFT12

SPLINE SHAFT FRONT RIGHT

CT 3651
SPLINE SHAFT FRONT LEFT

CT 3652

CT 3651/1 SPLINE SHAFT FRONT RIGHT11

CT 3664 BEARING HOUSE RIGHT12

CT 3652/1 SPLINE SHAFT FRONT LEFT11

CT 3665 BEARING HOUSE LEFT12

D3 TYPE



SPLINE SHAFT REAR RIGHT

CT 3653
SPLINE SHAFT REAR LEFT

CT 3654

CT 3653/1 SPLINE SHAFT REAR RIGHT11

CT 3664 BEARING HOUSE RIGHT12

CT 3654/1 SPLINE SHAFT REAR11

CT 3665 BEARING HOUSE LEFT12

336 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

BRAKE LINING PLATE

CT 3650 68320550, 68323027

PAD RETAINER KIT

CT 3695
OEM

SN Code Qty Desc.

CT 9460 CALIPER PAD SPRING SET
Dimensions

D3 TYPE

337

SN Code Qty Desc.

CT 3900 ADJUSTING MECHANISM SET (FRONT RIGHT)
Dimensions

CT 3651/1 SPLINE SHAFT FRONT RIGHT11 26 FREZE / TEETH

CT 3664 BEARING HOUSE RIGHT12

CT 3453 SPRING  RIGHT13

CT 3252 SPLINE SHAFT BUSH14 50*55*20 mm

CT 3609 ADJUSTING GEAR SMALL15

CT 3605 CALIPER ADJUSTING GEAR RIGHT16

CT 3657 THRUST BEARING17

CT 3157 RUBBER CAP18

CT 3451 SPRING  RIGHT19

CT 3162 COVER BOLT410 M8*1,25-40 mm

CT 3457 WAVY WASHER111

CT 3658 SPLINE SHAFT BOOT112

CT 3207 DUST COVER113

CT 3659 BOOT114

CT 3660 SPLINE SHAFT BEARING SET115

CT 3152 ADJUSTER BOLT116 M10*1,5-50 mm

CT 3471 WASHER317

CT 3458 TORSION SPRING BEARING118

CT 3161 COVER BOLT219 M8*1,25-16 mm

CT 3472 WASHER420

SN Code Qty Desc.

CT 3901 ADJUSTING MECHANISM SET (FRONT LEFT)
Dimensions

CT 3652/1 SPLINE SHAFT FRONT LEFT11 26 FREZE / TEETH

CT 3665 BEARING HOUSE LEFT12

CT 3454 SPRING LEFT13

CT 3252 SPLINE SHAFT BUSH14 50*55*20 mm

CT 3609 ADJUSTING GEAR SMALL15

CT 3606 CALIPER ADJUSTING GEAR LEFT16

CT 3657 THRUST BEARING17

CT 3157 RUBBER CAP18

CT 3452 SPRING LEFT19

CT 3162 COVER BOLT410 M8*1,25-40 mm

CT 3457 WAVY WASHER111

CT 3658 SPLINE SHAFT BOOT112

CT 3207 DUST COVER113

CT 3659 BOOT114

CT 3660 SPLINE SHAFT BEARING SET115

CT 3152 ADJUSTER BOLT116 M10*1,5-50 mm

CT 3471 WASHER317

CT 3458 TORSION SPRING BEARING118

CT 3161 COVER BOLT219 M8*1,25-16 mm

CT 3472 WASHER420

D3 TYPE



338 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3902 ADJUSTING MECHANISM SET (REAR RIGHT)
Dimensions

CT 3653/1 SPLINE SHAFT REAR RIGHT11 26 FREZE / TEETH

CT 3664 BEARING HOUSE RIGHT12

CT 3453 SPRING  RIGHT13

CT 3252 SPLINE SHAFT BUSH14 50*55*20 mm

CT 3609 ADJUSTING GEAR SMALL15

CT 3605 CALIPER ADJUSTING GEAR RIGHT16

CT 3657 THRUST BEARING17

CT 3157 RUBBER CAP18

CT 3451 SPRING  RIGHT19

CT 3162 COVER BOLT410 M8*1,25-40 mm

CT 3457 WAVY WASHER111

CT 3658 SPLINE SHAFT BOOT112

CT 3207 DUST COVER113

CT 3659 BOOT114

CT 3660 SPLINE SHAFT BEARING SET115

CT 3152 ADJUSTER BOLT116 M10*1,5-50 mm

CT 3471 WASHER317

CT 3458 TORSION SPRING BEARING118

CT 3161 COVER BOLT219 M8*1,25-16 mm

CT 3472 WASHER420

SN Code Qty Desc.

CT 3903 ADJUSTING MECHANISM SET (REAR LEFT)
Dimensions

CT 3654/1 SPLINE SHAFT REAR LEFT11 26 FREZE / TEETH

CT 3665 BEARING HOUSE LEFT12

CT 3454 SPRING LEFT13

CT 3252 SPLINE SHAFT BUSH14 50*55*20 mm

CT 3609 ADJUSTING GEAR SMALL15

CT 3606 CALIPER ADJUSTING GEAR LEFT16

CT 3657 THRUST BEARING17

CT 3157 RUBBER CAP18

CT 3452 SPRING LEFT19

CT 3162 COVER BOLT410 M8*1,25-40 mm

CT 3457 WAVY WASHER111

CT 3658 SPLINE SHAFT BOOT112

CT 3207 DUST COVER113

CT 3659 BOOT114

CT 3660 SPLINE SHAFT BEARING SET115

CT 3152 ADJUSTER BOLT116 M10*1,5-50 mm

CT 3471 WASHER317

CT 3458 TORSION SPRING BEARING118

CT 3161 COVER BOLT219 M8*1,25-16 mm

CT 3472 WASHER420

D3 TYPE

339

SN Code Qty Desc.

CT 3910 ADJUSTING MECHANISM SET FRONT LEFT
Dimensions

CT 3683/1 SPLINE SHAFT FRONT RIGHT 48 FREZE / TEETH11

CT 3664 BEARING HOUSE RIGHT12

CT 3453 SPRING  RIGHT13

CT 3252 SPLINE SHAFT BUSH14 50*55*20 mm

CT 3609 ADJUSTING GEAR SMALL15

CT 3605 CALIPER ADJUSTING GEAR RIGHT16

CT 3657 THRUST BEARING17

CT 3157 RUBBER CAP18

CT 3451 SPRING  RIGHT19

CT 3162 COVER BOLT410 M8*1,25-40 mm

CT 3457 WAVY WASHER111

CT 3658 SPLINE SHAFT BOOT112

CT 3207 DUST COVER113

CT 3659 BOOT114

CT 3660 SPLINE SHAFT BEARING SET115

CT 3152 ADJUSTER BOLT116 M10*1,5-50 mm

CT 3471 WASHER317

CT 3458 TORSION SPRING BEARING118

CT 3161 COVER BOLT219 M8*1,25-16 mm

CT 3472 WASHER420

SN Code Qty Desc.

CT 3911 ADJUSTING MECHANISM SET FRONT LEFT
Dimensions

CT 3684/1 SPLINE SHAFT FRONT LEFT 48 FREZE / TEETH11

CT 3665 BEARING HOUSE LEFT12

CT 3454 SPRING LEFT13

CT 3252 SPLINE SHAFT BUSH14 50*55*20 mm

CT 3609 ADJUSTING GEAR SMALL15

CT 3606 CALIPER ADJUSTING GEAR LEFT16

CT 3657 THRUST BEARING17

CT 3157 RUBBER CAP18

CT 3452 SPRING LEFT19

CT 3162 COVER BOLT410 M8*1,25-40 mm

CT 3457 WAVY WASHER111

CT 3658 SPLINE SHAFT BOOT112

CT 3207 DUST COVER113

CT 3659 BOOT114

CT 3660 SPLINE SHAFT BEARING SET115

CT 3152 ADJUSTER BOLT116 M10*1,5-50 mm

CT 3471 WASHER317

CT 3458 TORSION SPRING BEARING118

CT 3161 COVER BOLT219 M8*1,25-16 mm

CT 3472 WASHER420

D3 TYPE



340 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3934 ADJUSTING MECHANISM SET FRONT RIGHT
Dimensions

CT 3910 ADJUSTING MECHANISM SET FRONT RIGHT11

CT 3855 PIN REPAIR KIT12

CT 3692 SHAFT ADJUSTER13

CT 3650 BRAKE LINING PLATE14

SN Code Qty Desc.

CT 3935 ADJUSTING MECHANISM SET FRONT LEFT
Dimensions

CT 3911 ADJUSTING MECHANISM SET FRONT LEFT11

CT 3855 PIN REPAIR KIT12

CT 3692 SHAFT ADJUSTER13

CT 3650 BRAKE LINING PLATE14

D3 TYPE

341

SN Code Qty Desc.

CT 3936 ADJUSTING MECHANISM SET FRONT RIGHT
Dimensions

CT 3900 ADJUSTING MECHANISM SET (FRONT RIGHT)11

CT 3855 PIN REPAIR KIT12

CT 3669 SHAFT LEVER13

CT 3650 BRAKE LINING PLATE14

SN Code Qty Desc.

CT 3937 ADJUSTING MECHANISM SET FRONT LEFT
Dimensions

CT 3901 ADJUSTING MECHANISM SET (FRONT LEFT)11

CT 3855 PIN REPAIR KIT12

CT 3669 SHAFT LEVER13

CT 3650 BRAKE LINING PLATE14

D3 TYPE



342 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3938 ADJUSTING MECHANISM SET REAR RIGHT
Dimensions

CT 3902 ADJUSTING MECHANISM SET (REAR RIGHT)11

CT 3855 PIN REPAIR KIT12

CT 3669 SHAFT LEVER13

CT 3650 BRAKE LINING PLATE14

SN Code Qty Desc.

CT 3939 ADJUSTING MECHANISM SET REAR LEFT
Dimensions

CT 3903 ADJUSTING MECHANISM SET (REAR LEFT)11

CT 3855 PIN REPAIR KIT12

CT 3669 SHAFT LEVER13

CT 3650 BRAKE LINING PLATE14

D3 TYPE



SN Code Qty Desc.

CT 9893 PIN REPAIR KIT
Dimensions

O
E
M

SJ4052

CT 9111 PIN11 30*115 mm

CT 9112 PIN12 30*75 mm

CT 9188 PIN BOLT13 M18*1,5-135 mm

CT 9189 PIN BOLT14 M18*1,5-95 mm

CT 9267 FLANGED BUSH25 30*34*26 mm

CT 9281 RING26 32*42*12 mm

CT 9282 PIN CAP17 42/43 mm

CT 9269 PIN BUSH18 30-31*34*26 mm

CT 3217 PIN DUST RUBBER29

CT 9283 PIN CAP110 37*11 mm

345

SN Code Qty Desc.

CT 3817 TAPPET BOOT & SEAL SET
Dimensions

O
E
M

SJ4078, SJ4032

CT 3204 TAPPET BOOT11

CT 3217 PIN DUST RUBBER22

CT 3205 GASKET13

CT 3206 ACTUATOR SEAL14

CT 3208 O-RING15

CT 9200 PIN BOOT26

CT 3209 ACTUATOR SEAL17

CT 3210 ACTUATOR SEAL18

CT 3211 ACTUATOR SEAL19

SN Code Qty Desc.

CT 3818 TAPPET BOOT & SEAL SET
Dimensions

O
E
M

SJ4061

CT 3204 TAPPET BOOT11

CT 3205 GASKET12

CT 3206 ACTUATOR SEAL13

CT 3208 O-RING14

CT 3209 ACTUATOR SEAL15

CT 3210 ACTUATOR SEAL16

CT 3211 ACTUATOR SEAL17

CT 9200 PIN BOOT28

C LISA TYPE



SJ4074

CALIPER ADJUSTING GEAR RIGHT

CT 3603
OEM

SJ4073

CALIPER ADJUSTING GEAR LEFT

CT 3604
OEM

346 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SJ4114

CALIPER ADJUSTING GEAR RIGHT

CT 3607
OEM

SJ4113

CALIPER ADJUSTING GEAR LEFT

CT 3608
OEM

SPLINE SHAFT RIGHT

CT 3617
SPLINE SHAFT LEFT

CT 3618

C LISA TYPE

SN Code Qty Desc.

CT 3687 SPLINE SHAFT SET RIGHT
Dimensions

O
E
M

MCK1022, MCK1152

CT 3617 SPLINE SHAFT RIGHT11

CT 3661 STEEL BALL32

CT 3689 BEARING HOUSE RIGHT13

CT 3307 SHAFT HOUSING PIN14

347

SN Code Qty Desc.

CT 3688 BRAKE SPLINE SHAFT SET LEFT
Dimensions

O
E
M

MCK1021, MCK1151

CT 3618 SPLINE SHAFT LEFT11

CT 3661 STEEL BALL32

CT 3690 BEARING HOUSE LEFT13

CT 3307 SHAFT HOUSING PIN14

SN Code Qty Desc.

CT 3662 ROLLER BEARING SET
Dimensions

O
E
M

SJ4031

CT 3212 NEEDLE BEARING11

CT 3213 ROLLER BEARING12

CT 3214 ROLLER BEARING WASHER13

CT 3215 BUSH14

CT 3216 DUST EXCLUDER RETAINER15

C LISA TYPE



BRAKE LINING PLATE

CT 3680 68915080, 68915081

SHAFT LEVER

CT 3696
OEM

348 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3819 PIN BOOT REPAIR KIT
Dimensions

O
E
M

SJ4077

CT 9200 PIN BOOT21

CT 3217 PIN DUST RUBBER22

C LISA TYPE

349

SN Code Qty Desc.

CT 3908 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 9893 PIN REPAIR KIT11

CT 3817 TAPPET BOOT & SEAL SET12

CT 3607 CALIPER ADJUSTING GEAR RIGHT13

CT 3662 ROLLER BEARING SET14

CT 3687 SPLINE SHAFT SET RIGHT15

CT 3603 CALIPER ADJUSTING GEAR RIGHT16

CT 3680 BRAKE LINING PLATE17

SN Code Qty Desc.

CT 3909 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 9893 PIN REPAIR KIT11

CT 3817 TAPPET BOOT & SEAL SET12

CT 3608 CALIPER ADJUSTING GEAR LEFT13

CT 3662 ROLLER BEARING SET14

CT 3688 BRAKE SPLINE SHAFT SET LEFT15

CT 3604 CALIPER ADJUSTING GEAR LEFT16

CT 3680 BRAKE LINING PLATE17

C LISA TYPE



SN Code Qty Desc.

CT 9860 PIN REPAIR KIT
Dimensions

O
E
M

MCK1104, SJ4076

CT 9105 PIN11 35*132 mm

CT 9108 PIN12 35*79 mm

CT 9157 PIN BOLT13 M20*1,5-150 mm

CT 9158 PIN BOLT14 M20*1,5-100 mm

CT 9308 PIN RING25 37*47*12 mm

CT 9251 PIN BUSH26 35*39*30 mm

CT 9256 PIN BUSH27 35*41*30 mm

CT 9200 PIN BOOT28

CT 9305 PIN CAP29 44*17 mm

CT 9258 PIN BUSH110 35-36*39*47 mm

351

SN Code Qty Desc.

CT 3818 TAPPET BOOT & SEAL SET
Dimensions

O
E
M

SJ4061

CT 3204 TAPPET BOOT11

CT 3205 GASKET12

CT 3206 ACTUATOR SEAL13

CT 3208 O-RING14

CT 3209 ACTUATOR SEAL15

CT 3210 ACTUATOR SEAL16

CT 3211 ACTUATOR SEAL17

CT 9200 PIN BOOT28

SN Code Qty Desc.

CT 3817 TAPPET BOOT & SEAL SET
Dimensions

O
E
M

SJ4078, SJ4032

CT 3204 TAPPET BOOT11

CT 3217 PIN DUST RUBBER22

CT 3205 GASKET13

CT 3206 ACTUATOR SEAL14

CT 3208 O-RING15

CT 9200 PIN BOOT26

CT 3209 ACTUATOR SEAL17

CT 3210 ACTUATOR SEAL18

CT 3211 ACTUATOR SEAL19

D LISA TYPE



SJ4053

PIN BOOT SET

CT 3820
OEM

SJ4077

PIN BOOT REPAIR KIT

CT 3819
OEM

CT 3217 PIN DUST RUBBER21 CT 9200 PIN BOOT21

CT 3217 PIN DUST RUBBER22

352 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SJ4021

PIN BOLT & CAP REPAIR KIT

CT 9856
OEM

CALIPER BOLT SET

CT 9458

CT 9158 PIN BOLT11 M20*1,5-100 mm

CT 9157 PIN BOLT12 M20*1,5-150 mm

CT 9305 PIN CAP23 44*17 mm

CT 9191 COVER BOLT71 M14*1,5-90 mm

SJ4074

CALIPER ADJUSTING GEAR RIGHT

CT 3603
OEM

SJ4073

CALIPER ADJUSTING GEAR LEFT

CT 3604
OEM

D LISA TYPE

SJ4114

CALIPER ADJUSTING GEAR RIGHT

CT 3607
OEM

SJ4113

CALIPER ADJUSTING GEAR LEFT

CT 3608
OEM

353

SPLINE SHAFT RIGHT

CT 3617
SPLINE SHAFT LEFT

CT 3618

SN Code Qty Desc.

CT 3662 ROLLER BEARING SET
Dimensions

O
E
M

SJ4031

CT 3212 NEEDLE BEARING11

CT 3213 ROLLER BEARING12

CT 3214 ROLLER BEARING WASHER13

CT 3215 BUSH14

CT 3216 DUST EXCLUDER RETAINER15

D LISA TYPE



SN Code Qty Desc.

CT 3687 SPLINE SHAFT SET RIGHT
Dimensions

O
E
M

MCK1022, MCK1152

CT 3617 SPLINE SHAFT RIGHT11

CT 3661 STEEL BALL32

CT 3689 BEARING HOUSE RIGHT13

CT 3307 SHAFT HOUSING PIN14

354 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 3688 BRAKE SPLINE SHAFT SET LEFT
Dimensions

O
E
M

MCK1021, MCK1151

CT 3618 SPLINE SHAFT LEFT11

CT 3661 STEEL BALL32

CT 3690 BEARING HOUSE LEFT13

CT 3307 SHAFT HOUSING PIN14

SJ4117

BRAKE LINING PLATE

CT 3663
OEM

68915080, 68915081

SHAFT LEVER

CT 3696
OEM

D LISA TYPE

355

SN Code Qty Desc.

CT 3906 ADJUSTING MECHANISM SET RIGHT
Dimensions

CT 3687 SPLINE SHAFT SET RIGHT11

CT 3607 CALIPER ADJUSTING GEAR RIGHT12

CT 3603 CALIPER ADJUSTING GEAR RIGHT13

CT 3663 BRAKE LINING PLATE14

CT 3662 ROLLER BEARING SET15

CT 9860 PIN REPAIR KIT16

CT 3817 TAPPET BOOT & SEAL SET17

SN Code Qty Desc.

CT 3907 ADJUSTING MECHANISM SET LEFT
Dimensions

CT 3688 BRAKE SPLINE SHAFT SET LEFT11

CT 3608 CALIPER ADJUSTING GEAR LEFT12

CT 3604 CALIPER ADJUSTING GEAR LEFT13

CT 3663 BRAKE LINING PLATE14

CT 3662 ROLLER BEARING SET15

CT 9860 PIN REPAIR KIT16

CT 3817 TAPPET BOOT & SEAL SET17

D LISA TYPE



CT 11411
WEDGE ASSEMBLY

CT 11643
PROTECTIVE HOOD SET

CT 11948
BRAKE ADJUSTER ASSEMBLIES
SET

357

BRAKE ADJUSTER BRACKET  SET

CT 11647
ADJUSTING PLUNGER SET

CT 11645

CT 11206 PROTECTIVE HOOD21

ADJUSTING BOLT SET

CT 11644
BRAKE WEDGE BUSHING

CT 11676

360 SIMPLEX

CT 11642 BRAKE ADJUSTER
ASSEMBLIES

21

CT 11413 BRAKE ADJUSTER BRACKET  101 CT 11674 ADJUSTING PLUNGER21

CT 11675 ADJUSTING BOLT51



358 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

360 SIMPLEX

SN Code Qty Desc.

CT 11947 BRAKE WEDGE SET
Dimensions

CT 11411 WEDGE ASSEMBLY11

CT 11206 PROTECTIVE HOOD22

CT 11674 ADJUSTING PLUNGER23

CT 11675 ADJUSTING BOLT24

CT 11676 BRAKE WEDGE BUSHING15

CT 11422 BRAKE WEDGE CIRCLIP16

O
E
M

SP 7971
81.50455.0001
5000 823 232

1 2

3

4

5

6

SN Code Qty Desc.

CT 11949 ADJUSTER REPAIR KIT
Dimensions

CT 11411 WEDGE ASSEMBLY11

CT 11642 BRAKE ADJUSTER ASSEMBLIES22

CT 11674 ADJUSTING PLUNGER23

CT 11675 ADJUSTING BOLT24

CT 11676 BRAKE WEDGE BUSHING15

CT 11422 BRAKE WEDGE CIRCLIP16

1

3

4

5

6

2

7

CT 11413 BRAKE ADJUSTER BRACKET  27

CT 11960 BRAKE UNIT COMPLETE



CALIPER CARRIER

CT 18900
CALIPER CARRIER

CT 18901

361

CARRIERS



SN Code Qty Desc.

CT 8807 CALIPER BOOT SET
Dimensions

CT 8204 CALIPER BOOT21 78,5 mm

CT 8402 SPRING22 78,5 mm

363

SN Code Qty Desc.

CT 8803 CALIPER BOOT SET
Dimensions

O
E
M

87405

CT 8204 CALIPER BOOT21 78,5 mm

CT 8206 PLUG22

CT 8202 PLUG23

CT 8205 O-RING24

CT 8158 BOLT25

CT 8402 SPRING26 78,5 mm

SN Code Qty Desc.

CT 8804 CALIPER BOOT SET
Dimensions

O
E
M

94663

CT 8204 CALIPER BOOT21 78,5 mm

CT 8206 PLUG22

CT 8202 PLUG23

CT 8205 O-RING24

CT 8158 BOLT25

MARK II / III TYPE



SN Code Qty Desc.

CT 8808 CALIPER PLUG SET
Dimensions

O
E
M

87408

CT 8158 BOLT21

CT 8206 PLUG22

CT 8202 PLUG23

CT 8205 O-RING24

364 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8859 PIN REPAIR KIT
Dimensions

O
E
M

87406

CT 8202 PLUG21

CT 8250 PLASTIC BUSH42

CT 8311 STEEL CAP43

CT 8201 PIN BOOT84

CT 8101 CALIPER PIN45 35*69 mm

CT 8157 CALIPER PIN BOLT46 M14*2-60 mm

CT 8304 RING87

CT 8158 BOLT28

CT 8205 O-RING29

CT 8206 PLUG210

SN Code Qty Desc.

CT 8860 PIN REPAIR KIT
Dimensions

O
E
M

94661

CT 8202 PLUG21

CT 8250 PLASTIC BUSH42

CT 8311 STEEL CAP43

CT 8201 PIN BOOT84

CT 8150 CALIPER PIN BOLT45 M14*2-52 mm

CT 8157 CALIPER PIN BOLT46 M14*2-60 mm

CT 8304 RING87

CT 8158 BOLT28

CT 8205 O-RING29

CT 8206 PLUG210

CT 8302 PIN CAP211 57/40 mm

MARK II / III TYPE

SN Code Qty Desc.

CT 8861 PIN REPAIR KIT
Dimensions

O
E
M

87680

CT 8202 PLUG21

CT 8250 PLASTIC BUSH42

CT 8311 STEEL CAP43

CT 8201 PIN BOOT84

CT 8304 RING85

CT 8206 PLUG26

CT 8302 PIN CAP27 57/40 mm

CT 8158 BOLT28

CT 8205 O-RING29

365

SN Code Qty Desc.

CT 8862 PIN REPAIR KIT
Dimensions

O
E
M

89723

CT 8201 PIN BOOT21

CT 8302 PIN CAP22 57/40 mm

CT 8311 STEEL CAP43

CT 8202 PLUG24

CT 8304 RING25

CT 8206 PLUG26

CT 8250 PLASTIC BUSH17

CT 8205 O-RING28

CT 8158 BOLT29

CT 8633
NEEDLE BEARING SET

CT 8657 NEEDLE BEARING21

CT 8634
NEEDLE BEARING SET

CT 8805
OEM

89927

PIN CAP SET

CT 8658 NEEDLE BEARING21 CT 8302 PIN CAP21

MARK II / III TYPE



MECHANISM CLAMP

CT 8628
CALIBRATION BOLT SET (R+L)

CT 8629

CT 8666 CALIBRATION BOLT LEFT 862911

CT 8665 CALIBRATION BOLT RIGHT 862912

366 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTING MECHANISM

CT 8630
MECHANISM COVER SET

CT 8631

CT 8659 RING21

CT 8660 ADJUSTING MECHANISM12

CT 8164 CALIPER PIN BOLT (CT 8630)23

CT 8163 MECHANISM COVER BOLT (CT 8631)41

CT 8662 MECHANISM COVER (CT 8631)12

CT 8664 CAP NUT (CT 8631)43

SHAFT HOUSING

CT 8632
LEVER

CT 8635

CT 8510 SHAFT HOUSING11

CT 8406 CALIPER WASHER22

CT 8667 SPRING (CT 8632)13

MARK II / III TYPE

CALIBRATION GEAR LEFT

CT 8636
CALIBRATION GEAR RIGHT

CT 8637

367

90673

PAD RETAINER REPAIR KIT

CT 8623
OEM

91216

PAD RETAINER KIT

CT 8639
OEM

CT 8623 PAD RETAINER REPAIR KIT11

CT 8403 CALIPER PAD SPRING22

89925

CALIPER PLUG SET

CT 8809
OEM

MECHANISM LOCKER PLATE SET

CT 8641

CT 8202 PLUG21

CT 8215 ADJUSTER MECHANISM SEAL22

CT 8202 PLUG21

CT 8515 LOCKER PLATE SET12

MARK II / III TYPE



SN Code Qty Desc.

CT 8640 PAD RETAINER KIT
Dimensions

CT 8623 PAD RETAINER REPAIR KIT21

CT 8403 CALIPER PAD SPRING42

CT 8202 PLUG23

368 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8903 COMPLETE MECHANISM SET
Dimensions

CT 8905 COMPLETE MECHANISM SET11

CT 8639 PAD RETAINER KIT12

CT 8859 PIN REPAIR KIT13

SN Code Qty Desc.

CT 8905 COMPLETE MECHANISM SET
Dimensions

CT 8807 CALIPER BOOT SET11 78,5 mm

CT 8631 MECHANISM COVER SET12

CT 8632 SHAFT HOUSING13

CT 8629 CALIBRATION BOLT SET (R+L)14

CT 8630 ADJUSTING MECHANISM15

CT 8636 CALIBRATION GEAR LEFT16

CT 8637 CALIBRATION GEAR RIGHT17

CT 8635 LEVER18

CT 8641 MECHANISM LOCKER PLATE SET19

CT 8628 MECHANISM CLAMP110

CT 8633 NEEDLE BEARING SET111

CT 8634 NEEDLE BEARING SET112

MARK II / III TYPE



SN Code Qty Desc.

CT 8800 CALIPER BOOT SET
Dimensions

O
E
M

89794

CT 8300 CLAMP21

CT 8200 CALIPER BOOT22 67 mm

CT 8400 SPRING23 67 mm

371

SN Code Qty Desc.

CT 8801 CALIPER BOOT SET
Dimensions

CT 8301 CLIPS21

CT 8202 PLUG12

CT 8200 CALIPER BOOT23 67 mm

CT 8400 SPRING24 67 mm

94665

CALIPER SPRING SET

CT 8811
OEM

92731

CALIPER SPRING & PLATE SET

CT 8812
OEM

CT 8301 CLIPS21

CT 8400 SPRING22 67 mm

CT 8650 PLATE11

CT 8400 SPRING22 67 mm

CT 8301 CLIPS23

MARK IV TYPE



SN Code Qty Desc.

CT 8856 PIN REPAIR KIT
Dimensions

O
E
M

89541

CT 8202 PLUG21

CT 8302 PIN CAP22 57/40 mm

CT 8303 STEEL CAP43

CT 8201 PIN BOOT84

CT 8105 PIN45 35*70 mm

CT 8150 CALIPER PIN BOLT46 M14*2-52 mm

CT 8304 RING87

CT 8250 PLASTIC BUSH48

372 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8860 PIN REPAIR KIT
Dimensions

O
E
M

94661

CT 8202 PLUG21

CT 8250 PLASTIC BUSH42

CT 8311 STEEL CAP43

CT 8201 PIN BOOT84

CT 8150 CALIPER PIN BOLT45 M14*2-52 mm

CT 8157 CALIPER PIN BOLT46 M14*2-60 mm

CT 8304 RING87

CT 8158 BOLT28

CT 8205 O-RING29

CT 8206 PLUG210

CT 8302 PIN CAP211 57/40 mm

SN Code Qty Desc.

CT 8851 PIN REPAIR KIT
Dimensions

CT 8201 PIN BOOT81

CT 8302 PIN CAP22 57/40 mm

CT 8250 PLASTIC BUSH43

CT 8150 CALIPER PIN BOLT44 M14*2-52 mm

CT 8304 RING85

CT 8202 PLUG26

MARK IV TYPE

SN Code Qty Desc.

CT 8861 PIN REPAIR KIT
Dimensions

O
E
M

87680

CT 8202 PLUG21

CT 8250 PLASTIC BUSH42

CT 8311 STEEL CAP43

CT 8201 PIN BOOT84

CT 8304 RING85

CT 8206 PLUG26

CT 8302 PIN CAP27 57/40 mm

CT 8158 BOLT28

CT 8205 O-RING29

373

SN Code Qty Desc.

CT 8862 PIN REPAIR KIT
Dimensions

O
E
M

89723

CT 8201 PIN BOOT21

CT 8302 PIN CAP22 57/40 mm

CT 8311 STEEL CAP43

CT 8202 PLUG24

CT 8304 RING25

CT 8206 PLUG26

CT 8250 PLASTIC BUSH17

CT 8205 O-RING28

CT 8158 BOLT29

MECHANISM CLAMP

CT 8621
SHAFT HOUSING SET

CT 8603

CT 8404 CALIPER SPRING11

CT 8513 SHAFT HOUSING (CT 8603)12

CT 8408 CALIPER RING13

MARK IV TYPE



MECHANISM COVER

CT 8625
LEVER

CT 8652

CT 8647 MECHANISM COVER (CT 8625)11

CT 8162 MECHANISM COVER BOLT (8625)42

374 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 8624
LEVER PIN

CT 8605
CALIBRATION BOLT

CT 8606
CALIBRATION BOLT

CT 8617
ADJUSTING MECHANISM GEAR

CT 8618
ADJUSTING MECHANISM

CT 8612
MECHANISM GEAR

MARK IV TYPE

CT 8613
NEEDLE BEARING

CT 8614
NEEDLE BEARING SET

CT 8616
NEEDLE BEARING

CT 8613 NEEDLE BEARING21

375

CT 8627
MECHANISM LOCKER PLATE SET

CT 8516 MECHANISM LOCKER PLATE11

CT 8156 SCREW22

CT 8215 ADJUSTER MECHANISM SEAL23

CT 8650
PLATE

CT 8805
OEM

89927

PIN CAP SET

CT 8301 CLIPS21 CT 8302 PIN CAP21

90693

ADJUSTER SHAFT SET

CT 8857
OEM

90673

PAD RETAINER REPAIR KIT

CT 8623
OEM

CT 8215 ADJUSTER MECHANISM SEAL21

CT 8202 PLUG22

CT 8156 SCREW23

MARK IV TYPE



CALIPER PAD SPRING KIT

CT 8638 91216

PAD RETAINER KIT

CT 8639
OEM

CT 8403 CALIPER PAD SPRING21 CT 8623 PAD RETAINER REPAIR KIT11

CT 8403 CALIPER PAD SPRING22

376 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8640 PAD RETAINER KIT
Dimensions

CT 8623 PAD RETAINER REPAIR KIT21

CT 8403 CALIPER PAD SPRING42

CT 8202 PLUG23

SN Code Qty Desc.

CT 8901 COMPLETE MECHANISM SET
Dimensions

CT 8800 CALIPER BOOT SET11

CT 8652 LEVER12

CT 8616 NEEDLE BEARING13

CT 8612 MECHANISM GEAR14

CT 8617 ADJUSTING MECHANISM GEAR15

CT 8608 MECHANISM GEAR16

CT 8614 NEEDLE BEARING SET17

CT 8625 MECHANISM COVER18

CT 8603 SHAFT HOUSING SET19

CT 8621 MECHANISM CLAMP110

CT 8618 ADJUSTING MECHANISM111

CT 8624 LEVER PIN112

MARK IV TYPE

377

SN Code Qty Desc.

CT 8902 COMPLETE MECHANISM SET
Dimensions

CT 8800 CALIPER BOOT SET11

CT 8652 LEVER12

CT 8616 NEEDLE BEARING13

CT 8612 MECHANISM GEAR14

CT 8617 ADJUSTING MECHANISM GEAR15

CT 8608 MECHANISM GEAR16

CT 8614 NEEDLE BEARING SET17

CT 8625 MECHANISM COVER18

CT 8603 SHAFT HOUSING SET19

CT 8621 MECHANISM CLAMP110

CT 8618 ADJUSTING MECHANISM111

CT 8624 LEVER PIN112

CT 8627 MECHANISM LOCKER PLATE SET113

CT 8650 PLATE114

SN Code Qty Desc.

CT 8906 COMPLETE MECHANISM SET
Dimensions

CT 8902 COMPLETE MECHANISM SET11

CT 8856 PIN REPAIR KIT12

CT 8813 ADJUSTER SHAFT SET13

CT 8639 PAD RETAINER KIT14

MARK IV TYPE



SN Code Qty Desc.

CT 8800 CALIPER BOOT SET
Dimensions

O
E
M

89794

CT 8300 CLAMP21

CT 8200 CALIPER BOOT22 67 mm

CT 8400 SPRING23 67 mm

379

SN Code Qty Desc.

CT 8801 CALIPER BOOT SET
Dimensions

CT 8301 CLIPS21

CT 8202 PLUG12

CT 8200 CALIPER BOOT23 67 mm

CT 8400 SPRING24 67 mm

SN Code Qty Desc.

CT 8802 CALIPER BOOT SET
Dimensions

O
E
M

91011

CT 8301 CLIPS21

CT 8202 PLUG12

CT 8200 CALIPER BOOT23 67 mm

CT 8400 SPRING24 67 mm

MODUL X GEN 1 TYPE



SN Code Qty Desc.

CT 8850 PIN REPAIR KIT
Dimensions

O
E
M

91012

CT 8202 PLUG11

CT 8306 PIN CAP22 42/28 mm

CT 8303 STEEL CAP43

CT 8201 PIN BOOT64

CT 8102 PIN45 35*64 mm

CT 8151 PIN BOLT46 M14*2-42 mm

CT 8250 PLASTIC BUSH47

380 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8855 BRAKE PIN REPAIR KIT 94660
Dimensions

O
E
M

94660

CT 8201 PIN BOOT61

CT 8303 STEEL CAP42

CT 8150 CALIPER PIN BOLT43 M14*2-52 mm

CT 8151 PIN BOLT44 M14*2-42 mm

CT 8250 PLASTIC BUSH45

CT 8306 PIN CAP26 42/28 mm

CT 8202 PLUG17

SN Code Qty Desc.

CT 8863 PIN REPAIR KIT
Dimensions

O
E
M

93299

CT 8202 PLUG11

CT 8306 PIN CAP22 42/28 mm

CT 8303 STEEL CAP43

CT 8201 PIN BOOT64

CT 8103 CALIPER PIN45 35*64 mm

CT 8151 PIN BOLT46 M14*2-42 mm

CT 8250 PLASTIC BUSH47

MODUL X GEN 1 TYPE

SN Code Qty Desc.

CT 8853 DUST RUBBER & PIN SET
Dimensions

O
E
M

91013

CT 8201 PIN BOOT61

CT 8250 PLASTIC BUSH42

CT 8303 STEEL CAP43

CT 8306 PIN CAP24 42/28 mm

CT 8202 PLUG15

381

SN Code Qty Desc.

CT 8854 DUST RUBBER & PIN SET
Dimensions

O
E
M

91014

CT 8201 PIN BOOT21

CT 8306 PIN CAP22 42/28 mm

CT 8303 STEEL CAP43

CT 8202 PLUG14

CT 8250 PLASTIC BUSH15

SN Code Qty Desc.

CT 8810 TAPPET PLATE & BOLT SET
Dimensions

O
E
M

94664

CT 8650 PLATE11

CT 8605 CALIBRATION BOLT22

CT 8200 CALIPER BOOT23 67 mm

CT 8202 PLUG14

MODUL X GEN 1 TYPE



94665

CALIPER SPRING SET

CT 8811
OEM

92731

CALIPER SPRING & PLATE SET

CT 8812
OEM

CT 8301 CLIPS21

CT 8400 SPRING22 67 mm

CT 8650 PLATE11

CT 8400 SPRING22 67 mm

CT 8301 CLIPS23

382 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 8806
OEM

91019

PIN CAP REPAIR KIT

CT 8306 PIN CAP21

CT 8617
ADJUSTING MECHANISM GEAR

CT 8618
ADJUSTING MECHANISM

CT 8650
PLATE

CT 8301 CLIPS21

CT 8605
CALIBRATION BOLT

CT 8613
NEEDLE BEARING

MODUL X GEN 1 TYPE

NEEDLE BEARING SET

CT 8614
NEEDLE BEARING

CT 8616

CT 8613 NEEDLE BEARING21

383

SN Code Qty Desc.

CT 8603 SHAFT HOUSING SET
Dimensions

CT 8404 CALIPER SPRING11

CT 8513 SHAFT HOUSING (CT 8603)12

CT 8408 CALIPER RING13

CT 8409 CALIPER WAVY WASHER14

CT 8410 CALIPER WASHER15

LEVER

CT 8652
LEVER PIN

CT 8642

MODUL X GEN 1 TYPE



MECHANISM COVER

CT 8622 89925

CALIPER PLUG SET

CT 8809
OEM

CT 8161 MECHANISM COVER BOLT (FOR CT M8-30MM 8622)41

CT 8646 MECHANISM COVER12

CT 8202 PLUG21

CT 8215 ADJUSTER MECHANISM SEAL22

384 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8813 ADJUSTER SHAFT SET
Dimensions

O
E
M

94892

CT 8202 PLUG11

CT 8215 ADJUSTER MECHANISM SEAL12

CT 8156 SCREW13

ADJUSTING MECHANISM GEAR

CT 8643
MECHANISM CLAMP

CT 8651

CT 8644 ADJUSTING MECHANISM GEAR (CT 8643)11

CT 8645 WASHER12

MODUL X GEN 1 TYPE

90673

PAD RETAINER REPAIR KIT

CT 8623
OEM

CALIPER PAD SPRING KIT

CT 8638

CT 8403 CALIPER PAD SPRING21

385

SN Code Qty Desc.

CT 8639 PAD RETAINER KIT
Dimensions

O
E
M

91216

CT 8623 PAD RETAINER REPAIR KIT11

CT 8403 CALIPER PAD SPRING22

SN Code Qty Desc.

CT 8640 PAD RETAINER KIT
Dimensions

CT 8623 PAD RETAINER REPAIR KIT21

CT 8403 CALIPER PAD SPRING42

CT 8202 PLUG23

MODUL X GEN 1 TYPE



386 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8904 COMPLETE MECHANISM SET
Dimensions

CT 8200 CALIPER BOOT21 67 mm

CT 8300 CLAMP22

CT 8400 SPRING23 67 mm

CT 8605 CALIBRATION BOLT24

CT 8618 ADJUSTING MECHANISM15

CT 8617 ADJUSTING MECHANISM GEAR16

CT 8643 ADJUSTING MECHANISM GEAR17

CT 8616 NEEDLE BEARING18

CT 8614 NEEDLE BEARING SET19

CT 8603 SHAFT HOUSING SET110

CT 8651 MECHANISM CLAMP111

CT 8652 LEVER112

CT 8642 LEVER PIN113

CT 8622 MECHANISM COVER114

CT 8813 ADJUSTER SHAFT SET115

SN Code Qty Desc.

CT 8907 COMPLETE MECHANISM SET
Dimensions

CT 8904 COMPLETE MECHANISM SET11

CT 8850 PIN REPAIR KIT12

CT 8813 ADJUSTER SHAFT SET13

CT 8639 PAD RETAINER KIT14

MODUL X GEN 1 TYPE



SN Code Qty Desc.

CT 8800 CALIPER BOOT SET
Dimensions

O
E
M

89794

CT 8300 CLAMP21

CT 8200 CALIPER BOOT22 67 mm

CT 8400 SPRING23 67 mm

389

SN Code Qty Desc.

CT 8801 CALIPER BOOT SET
Dimensions

CT 8301 CLIPS21

CT 8202 PLUG12

CT 8200 CALIPER BOOT23 67 mm

CT 8400 SPRING24 67 mm

SN Code Qty Desc.

CT 8802 CALIPER BOOT SET
Dimensions

O
E
M

91011

CT 8301 CLIPS21

CT 8202 PLUG12

CT 8200 CALIPER BOOT23 67 mm

CT 8400 SPRING24 67 mm

MODUL X GEN 2 TYPE



SN Code Qty Desc.

CT 8855 BRAKE PIN REPAIR KIT 94660
Dimensions

O
E
M

94660

CT 8201 PIN BOOT61

CT 8303 STEEL CAP42

CT 8150 CALIPER PIN BOLT43 M14*2-52 mm

CT 8151 PIN BOLT44 M14*2-42 mm

CT 8250 PLASTIC BUSH45

CT 8306 PIN CAP26 42/28 mm

CT 8202 PLUG17

390 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8863 PIN REPAIR KIT
Dimensions

O
E
M

93299

CT 8202 PLUG11

CT 8306 PIN CAP22 42/28 mm

CT 8303 STEEL CAP43

CT 8201 PIN BOOT64

CT 8103 CALIPER PIN45 35*64 mm

CT 8151 PIN BOLT46 M14*2-42 mm

CT 8250 PLASTIC BUSH47

SN Code Qty Desc.

CT 8853 DUST RUBBER & PIN SET
Dimensions

O
E
M

91013

CT 8201 PIN BOOT61

CT 8250 PLASTIC BUSH42

CT 8303 STEEL CAP43

CT 8306 PIN CAP24 42/28 mm

CT 8202 PLUG15

MODUL X GEN 2 TYPE

SN Code Qty Desc.

CT 8854 DUST RUBBER & PIN SET
Dimensions

O
E
M

91014

CT 8201 PIN BOOT21

CT 8306 PIN CAP22 42/28 mm

CT 8303 STEEL CAP43

CT 8202 PLUG14

CT 8250 PLASTIC BUSH15

391

CT 8806
OEM

91019

PIN CAP REPAIR KIT

CT 8306 PIN CAP21

CT 8608
MECHANISM GEAR

CT 8609
MECHANISM GEAR

ADJUSTING MECHANISM

CT 8610
MANUEL ADJUSTING GEAR

CT 8611

MODUL X GEN 2 TYPE



CALIBRATION BOLT

CT 8607
CALIBRATION BOLT SET

CT 8626

CT 8607 CALIBRATION BOLT21

392 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8602 SHAFT HOSUING
Dimensions

CT 8404 CALIPER SPRING11

CT 8408 CALIPER RING12

CT 8409 CALIPER WAVY WASHER13

CT 8410 CALIPER WASHER14

CT 8512 SHAFT HOUSING15

NEEDLE BEARING

CT 8619
NEEDLE BEARING SET

CT 8615

MODUL X GEN 2 TYPE

MECHANISM CLAMP

CT 8655
MECHANISM PLATE

CT 8656

393

MECHANISM COVER

CT 8622
LEVER

CT 8653

CT 8161 MECHANISM COVER BOLT (FOR CT
8622 )

41 M8-30MM

CT 8646 MECHANISM COVER12

94892

ADJUSTER SHAFT SET

CT 8813
OEM

LEVER PIN

CT 8620

CT 8202 PLUG11

CT 8215 ADJUSTER MECHANISM SEAL12

CT 8156 SCREW13

MODUL X GEN 2 TYPE



90673

PAD RETAINER REPAIR KIT

CT 8623
OEM

CALIPER PAD SPRING KIT

CT 8638

CT 8403 CALIPER PAD SPRING21

394 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 8639 PAD RETAINER KIT
Dimensions

O
E
M

91216

CT 8623 PAD RETAINER REPAIR KIT11

CT 8403 CALIPER PAD SPRING22

SN Code Qty Desc.

CT 8640 PAD RETAINER KIT
Dimensions

CT 8623 PAD RETAINER REPAIR KIT21

CT 8403 CALIPER PAD SPRING42

CT 8202 PLUG23

MODUL X GEN 2 TYPE

395

SN Code Qty Desc.

CT 8900 COMPLETE MECHANISM SET
Dimensions

CT 8200 CALIPER BOOT21 67 mm

CT 8300 CLAMP22

CT 8400 SPRING23 67 mm

CT 8626 CALIBRATION BOLT SET14

CT 8609 MECHANISM GEAR15

CT 8610 ADJUSTING MECHANISM16

CT 8608 MECHANISM GEAR17

CT 8611 MANUEL ADJUSTING GEAR18

CT 8619 NEEDLE BEARING19

CT 8615 NEEDLE BEARING SET110

CT 8602 SHAFT HOSUING111

CT 8653 LEVER112

CT 8656 MECHANISM PLATE113

CT 8655 MECHANISM CLAMP114

CT 8620 LEVER PIN115

CT 8622 MECHANISM COVER116

CT 8813 ADJUSTER SHAFT SET117

SN Code Qty Desc.

CT 8908 COMPLETE MECHANISM SET
Dimensions

CT 8900 COMPLETE MECHANISM SET11

CT 8863 PIN REPAIR KIT12

CT 8813 ADJUSTER SHAFT SET13

CT 8639 PAD RETAINER KIT14

MODUL X GEN 2 TYPE



CALIPER CARRIER

CT 16900
CALIPER CARRIER

CT 16901

397

SN Code Qty Desc.

CT 6850 CALIPER PIN REPAIR KIT
Dimensions

CT 6300 RING21

CT 6301 CALIPER PIN CAP12 45/22 mm

CT 6302 CALIPER PIN CAP13 42/26 mm

CT 6200 CALIPER PIN BOOT24

CT 6100 CALIPER PIN15 35*120 mm

CT 6150 CALIPER PIN BOLT26 M16*1,5-80 mm

CT 6251 COMPOSITE BUSH17 35,7*35,4/38 mm

CT 6101 CALIPER PIN18 35,5*87 mm

CT 6252 BUSH19 39,5*36*14,5 mm

CT 6250 PIN BUSH210 35*39*30 mm

CT 6205 PLASTIC CAP111

SN Code Qty Desc.

CT 6851 PIN REPAIR KIT
Dimensions

CT 6150 CALIPER PIN BOLT21 M16*1,5-80 mm

CT 6301 CALIPER PIN CAP12 45/22 mm

CT 6302 CALIPER PIN CAP13 42/26 mm

CT 6251 COMPOSITE BUSH14 35,7*35,4/38 mm

CT 6200 CALIPER PIN BOOT25

CT 6101 CALIPER PIN16 35,5*87 mm

CT 6100 CALIPER PIN17 35*120 mm

CT 6202 ADJUSTMENT SCREW BELLOW18

SBS 2220 TYPE

11

9
CT 6300 RING29



SN Code Qty Desc.

CT 6808 RESET SHAFT KIT
Dimensions

O
E
M

3434386200

CT 6201 RESET SHAFT11

CT 6205 PLASTIC CAP12

CT 6203 RESET SHAFT GEAR13

398 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

3434386300

MECHANISM BELLOW & CAP SET

CT 6809
OEM

RESET SHAFT KIT

CT 6810

CT 6202 ADJUSTMENT SCREW BELLOW11

CT 6205 PLASTIC CAP12

CT 6201 RESET SHAFT11

CT 6205 PLASTIC CAP12

RESET SHAFT SET

CT 6800
ADJUSTMENT SCREW BELLOW SET

CT 6801

CT 6201 RESET SHAFT51 CT 6202 ADJUSTMENT SCREW BELLOW51

SBS 2220 TYPE

RESET SHAFT GEAR SET

CT 6802
RESET SHAFT PLUG SET

CT 6803

CT 6203 RESET SHAFT GEAR51 CT 6205 PLASTIC CAP51

399

PROTECTION PLUG SET

CT 6804
MECHANISM BEARING HOUSE SET

CT 6805

CT 6204 PLASTIC CAP51 CT 6207 MECHANISM BEARING HOUSE51

MECHANISM BEARING REPAIR KIT

CT 6806
MECHANISM LOCKER SET

CT 6807

CT 6450 BEARING11

CT 6451 BEARING12

CT 6452 BEARING13

CT 6206 MECHANISM LOCKING PLASTIC51

SBS 2220 TYPE



MECHANISM PROTECTION CAP

CT 6208
MECHANISM PROTECTION CAP SET

CT 6811

CT 6208 MECHANISM PROTECTION CAP51

400 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTING MECHANISM

CT 6600
MECHANISM BEARING HOUSE

CT 6602

CALIPER NEEDLE BEARING SET

CT 6604
CALIPER ADJUSTING SHAFT

CT 6605

SBS 2220 TYPE

NEEDLE BEARING SET

CT 6607
ROLLER BEARING SET

CT 6608

CT 6604 CALIPER NEEDLE BEARING SET11

CT 6606 BEARING22

401

CALIPER LEVER

CT 6610
PAT RETAINER REPAIR KIT

CT 6611

CT 6303 PAD RETAINER11

CT 6204 PLASTIC CAP12

CT 6304 PAD RETAINER SPRING13

CALIPER SHAFT HOUSING

CT 6603
CALIPER SHAFT HOUSING (JOST TYPE)

CT 6613

SBS 2220 TYPE



402 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 6900 COMPLETE MECHANISM SET
Dimensions

CT 6202 ADJUSTMENT SCREW BELLOW11

CT 6610 CALIPER LEVER12

CT 6608 ROLLER BEARING SET13

CT 6602 MECHANISM BEARING HOUSE14

CT 6607 NEEDLE BEARING SET15

CT 6605 CALIPER ADJUSTING SHAFT16

CT 6603 CALIPER SHAFT HOUSING17

CT 6600 ADJUSTING MECHANISM18

CT 6206 MECHANISM LOCKING PLASTIC19

SN Code Qty Desc.

CT 6901 COMPLETE MECHANISM SET
Dimensions

CT 6900 COMPLETE MECHANISM SET11

CT 6850 CALIPER PIN REPAIR KIT12

CT 6808 RESET SHAFT KIT13

CT 6611 PAT RETAINER REPAIR KIT14

SBS 2220 TYPE

403

SN Code Qty Desc.

CT 6910 COMPLETE MECHANISM SET (JOST TYPE)
Dimensions

CT 6613 CALIPER SHAFT HOUSING (JOST TYPE)11

CT 6602 MECHANISM BEARING HOUSE12

CT 6610 CALIPER LEVER13

CT 6608 ROLLER BEARING SET14

CT 6602 MECHANISM BEARING HOUSE15

CT 6607 NEEDLE BEARING SET16

CT 6605 CALIPER ADJUSTING SHAFT17

CT 6600 ADJUSTING MECHANISM18

CT 6206 MECHANISM LOCKING PLASTIC19

SN Code Qty Desc.

CT 6911 COMPLETE MECHANISM SET (JOST TYPE)
Dimensions

CT 6910 COMPLETE MECHANISM SET (JOST TYPE)11

CT 6850 CALIPER PIN REPAIR KIT12

CT 6201 RESET SHAFT13

CT 6611 PAT RETAINER REPAIR KIT14

CT 6203 RESET SHAFT GEAR15

SBS 2220 TYPE



SN Code Qty Desc.

CT 17855 CALIPER PIN REPAIR KIT
Dimensions

CT 17106 CALIPER PIN21 20*71 mm

CT 17156 CALIPER PIN BOLT22 M12*1,25-85 mm

CT 17301 PIN CAP23 22/8 mm

CT 17205 CALIPER PIN BOOT24

CT 17300 PIN CAP25 22/12 mm

405

SN Code Qty Desc.

CT 17853 CALIPER PIN REPAIR KIT
Dimensions

CT 17107 CALIPER PIN21 20/80 mm

CT 17158 PIN BOLT22 M12*1,25-95 mm

CT 17303 PLUG23

CT 17205 CALIPER PIN BOOT24

SN Code Qty Desc.

CT 17852 CALIPER PIN REPAIR KIT
Dimensions

O
E
M

ST1153

CT 17108 CALIPER PIN21 20/71 mm

CT 17157 PIN BOLT22 M12*1,25-85 mm

CT 17302 PIN CAP23 24/12 mm

CT 17205 CALIPER PIN BOOT24

HYDRAULIC TYPE



SN Code Qty Desc.

CT 17857 CALIPER PIN REPAIR KIT
Dimensions

CT 17108 CALIPER PIN21 20/71 mm

CT 17157 PIN BOLT22 M12*1,25-85 mm

CT 17303 PLUG23

CT 17205 CALIPER PIN BOOT24

CT 17302 PIN CAP25 24/12 mm

406 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 17858 CALIPER PIN REPAIR KIT
Dimensions

CT 17106 CALIPER PIN21 20*71 mm

CT 17157 PIN BOLT22 M12*1,25-85 mm

CT 17303 PLUG23

CT 17205 CALIPER PIN BOOT24

CT 17302 PIN CAP25 24/12 mm

SN Code Qty Desc.

CT 17856 CALIPER PIN REPAIR KIT
Dimensions

CT 17205 CALIPER PIN BOOT21

CT 17303 PLUG22

CT 17302 PIN CAP23 24/12 mm

HYDRAULIC TYPE

SN Code Qty Desc.

CT 17854 CALIPER BOOT & SEAL REPAIR KIT
Dimensions

CT 17216 PISTON SEAL21

CT 17215 PISTON BOOT22

CT 17212 PLASTIC RING13

CT 17210 SEAL14

CT 17209 O-RING25

CT 17208 O-RING16

CT 17304 CIRCLIPS INCREASED17

CT 17205 CALIPER PIN BOOT28

CT 17211 SEAL29

CT 17303 PLUG210

CT 17305 CIRCLIPS111

CT 17302 PIN CAP212 24/12 mm

407

SN Code Qty Desc.

CT 17861 CALIPER BOOT & SEAL REPAIR KIT
Dimensions

CT 17214 PISTON SEAL21

CT 17213 PISTON BOOT22

CT 17212 PLASTIC RING13

CT 17210 SEAL14

CT 17209 O-RING25

CT 17208 O-RING16

CT 17304 CIRCLIPS INCREASED17

CT 17205 CALIPER PIN BOOT28

CT 17211 SEAL29

CT 17303 PLUG210

CT 17305 CIRCLIPS111

CT 17302 PIN CAP212 24/12 mm

SN Code Qty Desc.

CT 17860 CALIPER BOOT & SEAL REPAIR KIT
Dimensions

CT 17207 CALIPER PISTON SEAL21

CT 17206 CALIPER PISTON BOOT22

CT 17212 PLASTIC RING13

CT 17210 SEAL14

CT 17209 O-RING25

CT 17208 O-RING16

CT 17304 CIRCLIPS INCREASED17

CT 17205 CALIPER PIN BOOT28

CT 17211 SEAL29

CT 17301 PIN CAP210 22/8 mm

CT 17305 CIRCLIPS111

CT 17300 PIN CAP212 22/12 mm

HYDRAULIC TYPE



SN Code Qty Desc.

CT 17862 CALIPER BOOT & SEAL REPAIR KIT
Dimensions

O
E
M

LRG602 68032188

CT 17216 PISTON SEAL21

CT 17215 PISTON BOOT22

CT 17212 PLASTIC RING13

CT 17210 SEAL14

CT 17209 O-RING25

CT 17208 O-RING16

CT 17304 CIRCLIPS INCREASED17

CT 17205 CALIPER PIN BOOT28

CT 17211 SEAL29

CT 17301 PIN CAP210 22/8 mm

CT 17305 CIRCLIPS111

CT 17300 PIN CAP212 22/12 mm

408 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 17863 CALIPER BOOT & SEAL REPAIR KIT
Dimensions

CT 17207 CALIPER PISTON SEAL21

CT 17206 CALIPER PISTON BOOT22

CT 17300 PIN CAP23 22/12 mm

CT 17205 CALIPER PIN BOOT24

CT 17301 PIN CAP25 22/8 mm

SN Code Qty Desc.

CT 17864 CALIPER BOOT KIT
Dimensions

CT 17214 PISTON SEAL21

CT 17213 PISTON BOOT22

CT 17205 CALIPER PIN BOOT23

HYDRAULIC TYPE

SN Code Qty Desc.

CT 17865 CALIPER BOOT  KIT
Dimensions

CT 17214 PISTON SEAL21

CT 17213 PISTON BOOT22

CT 17302 PIN CAP23 24/12 mm

CT 17205 CALIPER PIN BOOT24

409

SN Code Qty Desc.

CT 17866 CALIPER BOOT REPAIR KIT
Dimensions

CT 17216 PISTON SEAL21

CT 17215 PISTON BOOT22

CT 17300 PIN CAP23 22/12 mm

CT 17205 CALIPER PIN BOOT24

CT 17301 PIN CAP25 22/8 mm

SN Code Qty Desc.

CT 17859 CALIPER PIN REPAIR KIT
Dimensions

CT 17205 CALIPER PIN BOOT21

CT 17303 PLUG22

HYDRAULIC TYPE



SN Code Qty Desc.

CT 17500 ADJUSTER REPAIR KIT
Dimensions

CT 17414 CRANKSHAFT11

CT 17420 WASHER12

CT 17256 PIN BUSH23 35*39*20 mm

CT 17417 O-RING14

CT 17421 SCREW15

CT 17423 CIRCLIP16

CT 17424 CAP17

CT 17415 ADJUSTMENT WEDGE18 29.50 mm

CT 17422 LOCKER19

CT 17419 PLASTIC RING110

CT 17418 SEAL111

CT 17416 TAPPET112 31.60/42 mm

410 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 17501 CALIPER HAND BRAKE KIT
Dimensions

CT 17414 CRANKSHAFT11

CT 17420 WASHER12

CT 17256 PIN BUSH23 35*39*20 mm

CT 17417 O-RING14

CT 17421 SCREW15

CT 17423 CIRCLIP16

CT 17424 CAP17

CT 17415 ADJUSTMENT WEDGE18 29.50 mm

CT 17422 LOCKER19

CT 17419 PLASTIC RING110

SN Code Qty Desc.

CT 17502 CALIPER HAND BRAKE KIT
Dimensions

CT 17425 CRANKSHAFT11

CT 17426 WASHER12

CT 17256 PIN BUSH23 35*39*20 mm

CT 17417 O-RING14

CT 17427 NUT15

CT 17423 CIRCLIP16

CT 17424 CAP17

CT 17415 ADJUSTMENT WEDGE18 29.50 mm

CT 17422 LOCKER19

CT 17419 PLASTIC RING110

CT 17418 SEAL111

CT 17416 TAPPET112 31.60/42 mm

HYDRAULIC TYPE

SN Code Qty Desc.

CT 17503 CALIPER AUTO REPAIR KIT
Dimensions

CT 17428 HAND BRAKE PISTON KIT11 58*63 mm

CT 17519 ADJUSTING BOLT12

CT 17521 SPRING13

CT 17520 SPRING CASE14

CT 17522 CIRCLIP15

411

HYDRAULIC TYPE

SN Code Qty Desc.

CT 17504 CALIPER AUTO ADJUSTER KIT
Dimensions

CT 17429 HAND BRAKE PISTON KIT11 68*63 mm

CT 17519 ADJUSTING BOLT12

CT 17521 SPRING13

CT 17520 SPRING CASE14

CT 17522 CIRCLIP15

SN Code Qty Desc.

CT 17505 CALIPER AUTO ADJUSTER KIT
Dimensions

CT 17430 HAND BRAKE PISTON KIT11 60*63 mm

CT 17519 ADJUSTING BOLT12

CT 17524 SPRING13

CT 17523 SPRING CASE14

CT 17522 CIRCLIP15



412 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

HYDRAULIC TYPE

CT 17400
CALIPER HAND BRAKE PISTON
58 mm

CT 17401
CALIPER HYDRAULIC PISTON
58/63 mmT

CT 17402
CALIPER HYDRAULIC PISTON
68*63 mm

SN Code Qty Desc.

CT 17506 CALIPER AUTO ADJUSTER KIT
Dimensions

CT 17431 HAND BRAKE PISTON KIT11 68*63 mm

CT 17519 ADJUSTING BOLT12

CT 17524 SPRING13

CT 17523 SPRING CASE14

CT 17522 CIRCLIP15

CT 17403
CALIPER HYDRAULIC PISTON
68/63 mm

CT 17404
CALIPER HYDRAULIC PISTON
60*63 mm

CT 17405
CALIPER HYDRAULIC PISTON
60/63 mm

413

HYDRAULIC TYPE

CT 17452
CALIPER HYDRAULIC PISTON

CT 17407
CALIPER HYDRAULIC PISTON
68/63 mm

CT 17406
CALIPER HYDRAULIC PISTON
68 mm

68320567

OEM

ISUZU 8-97365-279-0
ISUZU 8973652790

OEM

CALIPER PIN REPAIR KIT

CT 17453

CT 17510
ADJUSTMENT WEDGE BUSH KIT

CT 17257 ADJUSTMENT WEDGE BUSH51

CT 17511
CALIPER BOLT SET

CT 17518
CALIPER PAD RETAINER KIT

CT 17525 BOLT41

CALIPER BOOT KIT

CT 17884

SN Code Qty Desc. Dimensions

CT 17234 PISTON SEAL41

CT 17232 PISTON BOOT42

CT 17231 PIN BOLT43

CT 17233 RUBBER CAP24

1

2

3

4

ISUZU 8-98302532-0
ISUZU 8983025320

OEM

CT 17114CT 17113



SN Code Qty Desc.

CT 17872 CALIPER PIN REPAIR KIT
Dimensions

CT 17110 PIN21 18*66 mm

CT 17159 PIN BOLT22 M8*1,25-70 mm

CT 17218 RUBBER CAP23

CT 17217 PIN BOOT24

CT 17306 CLAMP25

415

SN Code Qty Desc.

CT 17850 PIN REPAIR KIT
Dimensions

O
E
M

A0114216198

CT 17100 PIN11 18*66 mm

CT 17101 PIN12 18*66 mm

CT 17150 PIN BOLT23 M8*1,25-70 mm

CT 17202 RUBBER PLUG24

CT 17201 PIN BOOT25

CT 17203 RUBBER BUSH16

SN Code Qty Desc.

CT 17871 CALIPER PIN REPAIR KIT
Dimensions

CT 17109 PIN21 18*63 mm

CT 17159 PIN BOLT22 M8*1,25-70 mm

CT 17218 RUBBER CAP23

CT 17217 PIN BOOT24

BREMBO



SN Code Qty Desc.

CT 17851 PIN REPAIR KIT
Dimensions

CT 17102 PIN11 12,15*82 mm

CT 17103 PIN12 11,50*82 mm

CT 17151 PIN BOLT23 M10*1,25-30 mm

CT 17204 PIN BOOT24

CT 17200 RUBBER BUSH15

416 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 17870 BRAKE PIN REPAIR KIT
Dimensions

CT 17111 PIN21 22*90 mm

CT 17160 PIN BOLT22 M12*1,75-110 mm

CT 17222 PIN BOOT43

SN Code Qty Desc.

CT 17873 CALIPER PIN REPAIR KIT
Dimensions

CT 17112 PIN21 22*98 mm

CT 17161 PIN BOLT22 M12*1,75-120 mm

CT 17222 PIN BOOT43

BREMBO

CALIPER BOOT KIT

CT 17874
CALIPER REPAIR KIT

CT 17540

CT 17227 PISTON BOOT41

CT 17228 PISTON SEAL42

417

SN Code Qty Desc.

CT 17868 CALIPER BOOT & SEAL REPAIR KIT
Dimensions

CT 17219 PISTON BOOT21

CT 17220 PISTON SEAL22

CT 17221 PLUG23

CT 17217 PIN BOOT44

CALIPER BOOT & SEAL REPAIR KIT

CT 17867
CALIPER PIN BOOT REPAIR KIT

CT 17869

CT 17219 PISTON BOOT21

CT 17220 PISTON SEAL22

CT 17217 PIN BOOT41

BREMBO



CT 17410
CALIPER HAND BRAKE PISTON

CT 17411
CALIPER PISTON

CT 17412
CALIPER HAND BRAKE PISTON

418 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 17413
CALIPER PISTON

CT 17507
CALIPER BUSH SET

CT 17508
CALIPER ADJUSTER KIT

CT 17255 ADJUSTMENT WEDGE BUSH51 CT 17307 ADJUSTING BOLT11

CT 17308 ADJUSTING NUT12

CT 17509
TAPPET KIT

CT 17311 TAPPET11

CT 17312 SEAL12

CT 17512
ADJUSTING TAPPET

CT 17513
ADJUSTING TAPPET

BREMBO

CT 17514
CIRCLIPS KIT

CT 17318 CIRCLIP11

CT 17319 CIRCLIP12

CT 17515
O-RING KIT

CT 17516
CALIPER PAD RETAINER KIT

CT 17224 O-RING11

CT 17225 O-RING12

CT 17226 O-RING13

419

CT 17517
CALIPER BOLT KIT

CT 17162 BOLT41

CT 17309
CALIPER ADJUSTING BOLT

CT 17310
CALIPER ADJUSTING WASHER

CT 17316
ADJUSTING SPRING

CT 17317
CALIPER THRUST BEARING

CT 17408
ADJUSTMENT WEDGE

BREMBO



CT 11650
ADJUSTING BOLT

CT 11205
PROTECTIVE HOOD

CT 11651
ACTUATOR BUSH

421

CT 11652
ADJUSTING PLUNGER

CT 11677
ANCHOR PLUNGER RIGHT

CT 11678
ANCHOR PLUNGER LEFT

CT 11679
ANCHOR PLUNGER RIGHT

CT 11680
ANCHOR PLUNGER LEFT

CT 11404
BRAKE SHOE RETURN SPRING

Z-CAM PERROT TYPE



CT 11656
GUIDE PAWL ASSEMBLY (THIN
TEETH)

CT 11681
LOCKNUT LONG

CT 11682
HOLD DOWN CLIP

422 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 11918
REPAIR KIT RIGHT

CT 11919
REPAIR KIT LEFT

CT 11920
BRAKE REPAIR KIT

WEDGE ASSEMBLY

CT 11655
WEDGE ASSEMBLY KIT

CT 11917

CT 11655 WEDGE ASSEMBLY21

Z-CAM PERROT TYPE

SN Code Qty Desc.

CT 11916 BRAKE REPAIR KIT
Dimensions

CT 11650 ADJUSTING BOLT21

CT 11652 ADJUSTING PLUNGER22 Q 38,50*55,50 mm

CT 11651 ACTUATOR BUSH23

CT 11656 GUIDE PAWL ASSEMBLY (THIN TEETH)24

CT 11205 PROTECTIVE HOOD25

CT 11404 BRAKE SHOE RETURN SPRING16 3,50 mm

CT 11400 BRAKE SHOE RETURN SPRING17 4,00 mm

423

CT 11684
GUIDE PAWL ASSEMBLY (THICK
TEETH)

CT 11405
BRAKE SHOE RETURN SPRING

CT 11685
ANCHOR PLUNGER RIGHT

CT 11686
ANCHOR PLUNGER LEFT

CT 11406
BRAKE SHOE RETURN SPRING

CT 11200
PROTECTIVE HOOD

Z-CAM PERROT TYPE



ACTUATOR BUSH (THICK TEETH)

CT 11683
GUIDE SCREW

CT 11673

424 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 11921 BRAKE REPAIR KIT
Dimensions

CT 11650 ADJUSTING BOLT21

CT 11652 ADJUSTING PLUNGER22 Q 38,50*55,50 mm

CT 11684 GUIDE PAWL ASSEMBLY (THICK TEETH)23

CT 11683 ACTUATOR BUSH (THICK TEETH)24

CT 11205 PROTECTIVE HOOD25

CT 11405 BRAKE SHOE RETURN SPRING16 4,00 mm

CT 11406 BRAKE SHOE RETURN SPRING17 4,50 mm

SN Code Qty Desc.

CT 11922 BRAKE REPAIR KIT RIGHT
Dimensions

CT 11685 ANCHOR PLUNGER RIGHT21 Q 38,50*71,50 mm

CT 11673 GUIDE SCREW22

CT 11200 PROTECTIVE HOOD23

Z-CAM PERROT TYPE

SN Code Qty Desc.

CT 11923 BRAKE REPAIR KIT LEFT
Dimensions

CT 11686 ANCHOR PLUNGER LEFT21 Q 38,50*71,50 mm

CT 11673 GUIDE SCREW22

CT 11200 PROTECTIVE HOOD23

425

SN Code Qty Desc.

CT 11940 BRAKE REPAIR KIT
Dimensions

CT 11406 BRAKE SHOE RETURN SPRING21 4,50 mm

CT 11652 ADJUSTING PLUNGER22 Q 38,50*55,50 mm

CT 11650 ADJUSTING BOLT23

CT 11684 GUIDE PAWL ASSEMBLY (THICK TEETH)24

CT 11683 ACTUATOR BUSH (THICK TEETH)25

CT 11205 PROTECTIVE HOOD26

CT 11667
ADJUSTING MECHANISM

CT 11687
ADJUSTING BOLT

CT 11668
ADJUSTING NUT

Z-CAM PERROT TYPE



CT 11669
ADJUSTING PLUNGER

CT 11670
ACTUATOR BUSH

CT 11401
RAYNEL&SPRING

426 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 11671
WEDGE ASSEMBLY

CT 11202
PROTECTIVE HOOD

CT 11407
BRAKE SHOE RETURN SPRING

CT 11402
BRAKE SHOE RETURN SPRING

CT 11672
GUIDE PAWL ASSEMBLY

CT 11925
REPAIR KIT

Z-CAM PERROT TYPE

SN Code Qty Desc.

CT 11926 BRAKE REPAIR KIT
Dimensions

CT 11667 ADJUSTING MECHANISM21 Q 43,90*61,00 mm

CT 11672 GUIDE PAWL ASSEMBLY22

CT 11671 WEDGE ASSEMBLY13

CT 11202 PROTECTIVE HOOD24

CT 11407 BRAKE SHOE RETURN SPRING15 3,50 mm

CT 11402 BRAKE SHOE RETURN SPRING16 3,50 mm

427

SN Code Qty Desc.

CT 11927 BRAKE REPAIR KIT
Dimensions

CT 11667 ADJUSTING MECHANISM21 Q 43,90*61,00 mm

CT 11672 GUIDE PAWL ASSEMBLY22

CT 11202 PROTECTIVE HOOD23

BRAKE REPAIR KIT

CT 11928
BRAKE REPAIR KIT

CT 11929

CT 11202 PROTECTIVE HOOD21

CT 11401 RAYNEL&SPRING22

CT 11687 ADJUSTING BOLT21

CT 11202 PROTECTIVE HOOD22

CT 11401 RAYNEL&SPRING23

Z-CAM PERROT TYPE



CT 11688
ADJUSTING MECHANISM

CT 11689
ADJUSTING NUT

CT 11690
ADJUSTING PLUNGER

428 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

WEDGE ASSEMBLY

CT 11691
REPAIR KIT

CT 11932

CT 11690 ADJUSTING PLUNGER21 Q 41,50*49,00 mm

CT 11691 WEDGE ASSEMBLY12

REPAIR KIT

CT 11933
REPAIR KIT

CT 11937

CT 11688 ADJUSTING MECHANISM21 Q 41,50*49,00 mm

CT 11202 PROTECTIVE HOOD23

CT 11688 ADJUSTING MECHANISM21 Q 41,50*49,00 mm

CT 11202 PROTECTIVE HOOD22

Z-CAM PERROT TYPE

429

Z-CAM PERROT TYPE

CT 11693
ADJUSTING BOLT

CT 11696
ADJUSTING PLUNGER

SN Code Qty Desc.

CT 11938 REPAIR KIT
Dimensions

CT 11693 ADJUSTING BOLT21

CT 11696 ADJUSTING PLUNGER22 Q 38,50*48,50 mm

CT 11694 ACTUATOR BUSH23 Q 41,50 mm

CT 11672 GUIDE PAWL ASSEMBLY24

CT 11205 PROTECTIVE HOOD25

CT 11407 BRAKE SHOE RETURN SPRING16 3,50 mm

CT 11402 BRAKE SHOE RETURN SPRING17 3,50 mm

CT 11412
ADJUSTING BOLT

CT 11694
ACTUATOR BUSH

CT 11695
ACTUATOR BUSH (THIN TEETH)

CT 11646
ADJUSTING MECHANISM



CT 11101
ADJUSTING BOLT

CT 11110
PROTECTIVE HOOD

CT 11111
PROTECTIVE HOOD

430 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 11144
ACTUATOR BUSH

CT 11124
BRAKE SHOE RETURN SPRING

CT 11145
ADJUSTING PLUNGER

CT 11129
ANCHOR PLUNGER LEFT

CT 11130
ANCHOR PLUNGER RIGHT

CT 11403
WEDGE ASSEMBLY

Z-CAM PERROT TYPE

CT 11410
WEDGE ASSEMBLY

CT 11408
GUIDE PAWL ASSEMBLY (THIN
TEETH)

CT 11409
GUIDE SCREW

431

CT 11113
GROOVE LUCKNUT

CT 11697
LOCKNUT LONG

CT 11698
NARROW LOCKNUT

CT 11421
HOLD DOWN CLIP

CT 11115
REPAIR KIT

CT 11627
PROTECTIVE HOOD SET

Z-CAM PERROT TYPE



SN Code Qty Desc.

CT 11114 BRAKE REPAIR KIT
Dimensions

CT 11101 ADJUSTING BOLT21

CT 11145 ADJUSTING PLUNGER22 30,50*34,00*49,25 mm

CT 11144 ACTUATOR BUSH23 Q 30,50 mm L:36,75 mm   W 14G

7/16''CT 11110 PROTECTIVE HOOD24

CT 11408 GUIDE PAWL ASSEMBLY (THIN TEETH)25

CT 11124 BRAKE SHOE RETURN SPRING26

432 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

PROTECTIVE HOOD KIT

CT 11628
PROTECTIVE HOOD KIT

CT 11945

Z-CAM PERROT TYPE

BRAKE REPAIR KIT LEFT

CT 11117

SN Code Qty Desc. Dimensions

CT 11129 ANCHOR PLUNGER LEFT21

CT 11409 GUIDE SCREW22

CT 11111 PROTECTIVE HOOD23

BRAKE REPAIR KIT RIGHT

CT 11116

SN Code Qty Desc. Dimensions

CT 11130 ANCHOR PLUNGER RIGHT21

CT 11409 GUIDE SCREW22

CT 11111 PROTECTIVE HOOD23

O
E
M

42537884

433

Z-CAM PERROT TYPE

PINION ASSEMBLY RIGHT

CT 11657
PINION ASSEMBLY LEFT

CT 11658

ADJUSTER PINION RIGHT

CT 11660
ADJUSTER PINION LEFT

CT 11661

CT 11654
PINION ASSEMBLY (THIN) LEFT

CT 11653
PINION ASSEMBLY (THIN) RIGHT

CT 11659
CROSS SHAFT



ADJUSTING MECHANISM RIGHT

CT 11663
ADJUSTING MECHANISM LEFT

CT 11662

434 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

ADJUSTER LOCK KIT RIGHT

CT 11665
ADJUSTER LOCK KIT LEFT

CT 11666

PROTECTIVE HOOD

CT 11201
ADJUSTER RETURN SPRING

CT 11613

Z-CAM PERROT TYPE

CT 11615
COVER

CT 11616
ADJUSTING PIN

CT 11617
COVER GASKET

435

CT 11618
DUST RUBBER

CT 11619
ADJUSTING PIN

CT 11620
ADJUSTING PIN

CT 11623
ADJUSTING PINION SET

CT 11624
ADJUSTING PINION SET

CT 11625
ADJUSTING PINION SET

Z-CAM PERROT TYPE



SN Code Qty Desc.

CT 11621 ADJUSTING PINION SET LEFT
Dimensions

436 Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

SN Code Qty Desc.

CT 11622 ADJUSTING PINION SET RIGHT
Dimensions

SN Code Qty Desc.

CT 11942 SEAL KIT
Dimensions

Z-CAM PERROT TYPE

437

SN Code Qty Desc.

CT 11943 COMPLETE REPAIR KIT RIGHT
Dimensions

CT 11942 SEAL KIT11

CT 11622 ADJUSTING PINION SET RIGHT12

CT 11663 ADJUSTING MECHANISM RIGHT13

CT 11616 ADJUSTING PIN2

4

CT 11618 DUST RUBBER2

5

CT 11659 CROSS SHAFT1

6

CT 11613 ADJUSTER RETURN SPRING1

7

SN Code Qty Desc.

CT 11944 COMPLETE REPAIR KIT LEFT
Dimensions

CT 11942 SEAL KIT11

CT 11662 ADJUSTING MECHANISM LEFT12

CT 11616 ADJUSTING PIN2

3

CT 11618 DUST RUBBER2

4

CT 11659 CROSS SHAFT1

5

CT 11613 ADJUSTER RETURN SPRING1

6

CT 11621 ADJUSTING PINION SET LEFT1

7

Z-CAM PERROT TYPE

8

CT 11662 ADJUSTING MECHANISM LEFT1

8

CT 11663 ADJUSTING MECHANISM RIGHT1



438 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

CT 5818 114

0014206683 CT 5830 28, 61

381.391 CT 5850 127

381.413 CT 5890 127

II179320062 CT 5873 53, 79

II179320065 CT 5812 45, 77

II197120061 CT 5639 72, 107, 85

II197140062 CT 5874 53

II197140063 CT 5216 62

II197330062 CT 5875 54

II197370061 CT 15924 21

II304130065 CT 5812 45, 77

II310370066 CT 5857 51

II328090062 CT 5827 57

II334320061 CT 15924 21

II33692 CT 5451 127

II339680062 CT 5851 26, 47, 78

II344730063 CT 5215 63

II350470061 CT 5830 28, 61

II350470062 CT 5853 52, 78

II350470063 CT 5205 28, 63

II358510062 CT 5872 53

II368470064 CT 5861 28, 60

II369100062 CT 5851 26, 47, 78

II370760065 CT 5811 25, 45, 77

II370760065-2 CT 5811 25, 45, 77

II39769F0062 CT 5894 51, 78

II39769F0063 CT 5303 28, 63, 96

328090062 CT 5827 57

K000026 CT 15904 17

K000027 CT 15903 17

K000028 CT 15908 18

K000029 CT 5828 66,9912141

K000129 CT 5639 72, 107, 85

K000132 CT 5853 52, 78

K000133 CT 5622 72,1071214

K000358 CT 15919 20

K000365 CT 5876 56, 93

K000366 CT 5801 90

K000375 CT 5856 49, 79

K000421 CT 5826 58

K000472 CT 5855 91

K000687 CT 5854 54

K000690 CT 15912 19

K000696 CT 5857 51

K000697 CT 5863 61

K000698 CT 5865 59

K000884 CT 5413 72, 107, 85

K000935 CT 5882 27, 47, 79

K000944 CT 5800 46

K000945 CT 5824 66

Cross Ref Contnual Ref Page No

K000945 CT 5824 66

K001105 CT 15911 18

K001274 CT 5899 94

K001275 CT 15930 22

K001278 CT 15915 19

K001300 CT 5801 90

K001301 CT 5867 82

K001470 CT 5753 96

K001494 CT 15916 19

K001497 CT 15913 19

K001502 CT 15937 23

K001505 CT 15910 18

K001507 CT 15924 21

K001510 CT 15902 17

K001520 CT 15924 21

K001521 CT 15935 22

K001525 CT 15917 19

K001528 CT 15901 17

K001529 CT 15926 21

K001530 CT 15927 21

K001532 CT 5884 50

K0015378 CT 15936 22

k001538 CT 15938 23

K001691 CT 5750 95

K001692 CT 5752 95

K001915 CT 5889 58, 92, 115

K001919 CT 15924 21

K001925 CT 5836 94

K001926 CT 15912 19

K001927 CT 15921 20

K001928 CT 5859 38

K001929 CT 5802 37

K002311 CT 5423 72, 107

K002313 CT 15934 22

K002314 CT 15933 22

K002716 CT 5899 94

K002872 CT 5751 95

K002979 CT 15911 18

K003800 CT 5866 55, 92

K003902 CT 5829 99

K004099 CT 15905 17

K004100 CT 5858 93

K004168 CT 5858 93

K004206 CT 15914 19

K004679 CT 15928 21

K004680 CT 15929 22

k004680 CT 15929 22

K005606 CT 15931 21

K007475 CT 15906 18

K010603 CT 5801 90

K010604 CT 5800 46

Cross Ref Contnual Ref Page No

 CROSS LIST

439

K010765 CT 15925 21

K010765 CT 15924 21

K010766 CT 5858 93

K010813 CT 5868 55

K011117 CT 5887 54, 92

K011479 CT 15901 17

K012619 CT 15922 20

K012912 CT 5835 115

K013007 CT 5877 91

K013742 CT 15940 23

K015308 CT 15907 18

K017707 CT 5855 91

K028451 CT 5836 94

K031844K50 CT 5887 54, 92

K046498K50 CT 15900 17

K046523K50 CT 5805 113

K046523K50 CT 5805 113

k046764k50 CT 15909 18

K048371K50 CT 5838 57

K048389K50 CT 5889 58, 92, 115

K048396K50 CT 5852 55

K048399K50 CT 5820 60

K052379K50 CT 15920 20

K052759K50 CT 5840 90

K067417K50 CT 5896 56, 93

k067417k50 CT 5896 56, 93

K092079 CT 5801 90

K097826K50 CT 5802 37

K099604K50 CT 5889 58, 92, 115

K105599K55 CT 5839 58, 94

K108001K50 CT 15918 20

K108002K50 CT 5754 115

K108814K50 CT 15902 17

Z000702 CT 15912 19

Z001548 CT 5834 67, 98, 119

Z006590 CT 15901 17

Z007541 CT 15904 17

Z017557 CT 15940 23

Z019053 CT 15936 22

Cross Ref Contnual Ref Page No Cross Ref Contnual Ref Page No

KNORR - CONTINUAL CROSS LIST



440 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

12 999 547 CT 7913 176

12 999 548 CT 7912 176

12 999 549 CT 7673 175

12 999 550 CT 7672 175

12 999 551 CT 7865 173

12 999 552 CT 7810 173

12 999 580 CT 7860 137

12 999 678 CT 7871 155

12 999 699 CT 7850 136

12 999 702 CT 7850 136

12 999 704 CT 7857 136

12 999 729 CT 7863 179

12 999 738 CT 7856 145

12 999 746 CT 7862 155

12 999 746VT CT 7862 155

12 999 776 CT 7853 145

12999551 CT 7865 173

40 195 001 CT 17906 130

40 195 002 CT 17907 130

40 195 017 CT 17906 130

40 195 018 CT 17907 130

40195001 CT 17906 130

40195002 CT 17907 130

40195017 CT 17906 130

40195018 CT 17907 130

640 175 920 2 CT 7812 181

640 195 068 0 CT 17904 129

640 195 069 0 CT 17902 129

640 195 074 0 CT 17904 129

640 195 075 0 CT 17902 129

640 225 0300 CT 17913 130

640 225 0310 CT 17912 130

640 319 922 2 CT 7876 187

640 322 004 0 CT 17908 129

640 322 005 0 CT 17905 129

640 322 007 0 CT 17908 129

640 322 008 0 CT 17905 129

640 322 926 2 CT 7864 165

640 322 927 2 CT 7639 167

640 322 928 2 CT 7647 169, 191

640 322 938 2 CT 7874 187

640 322 945 2 CT 7681 191

640 322 946 2 CT 7682 191

640 322 951 2 CT 7875 187

640 922 928 2 CT 7872 181

640.319.922.2 CT 7876 187

640.322.938.2 CT 7874 187

640.322.945.2 CT 7681 191

640.322.946.2 CT 7682 191

640.322.951.2 CT 7875 187

640.915.744.4 CT 17921 132

Cross Ref Contnual Ref Page No

640.915.744.4 CT 17921 132

640.915.745.4 CT 17920 132

6401759202 CT 7812 181

6401950680 CT 17904 129

6401950690 CT 17902 129

6401950740 CT 17904 129

6401950750 CT 17902 129

6402229282 CT 7872 181

6402250300 CT 17913 130

6402250310 CT 17912 130

6403199222 CT 7876 187

6403220040 CT 17908 129

6403220050 CT 17905 129

6403220070 CT 17908 129

6403220080 CT 17905 129

6403229272 CT 7639 167

6403229282 CT 7647 169, 191

6403229382 CT 7874 187

6403229452 CT 7681 191

6403229462 CT 7682 191

6403229512 CT 7875 187

Cross Ref Contnual Ref Page No

 CROSS LIST

441

225200 CT 9897 238

31932042 CT 19952 203

31932070 CT 3669 326

68130055 CT 9382 244,256266

68320550 CT 3695 328

68321502 CT 3692 326

68321507 CT 3669 326

68321508 CT 3669 326

68321678 CT 3602 207

68321678PK10 CT 3602 207

68322300PK10 CT 9457 214

68322485 CT 9629 263

68322562 CT 9688 212,254264

68322563 CT 9687 212,254264

68322655 CT 9221 223, 241

68322655PK10 CT 9814 223,240253

68322778 CT 19903 199

68322900 CT 9619 273, 283

68323027 CT 3695 328

68323539 CT 19902 199

68323546 CT 19920 202

68323673 CT 19900 199

68323746PK10 CT 9812 240

68324331 CT 9382 244,256266

68324769 CT 9462 245

68324854 CT 9205 223,262271

68324854PK10 CT 9813 223,241253

68324854PK10 CT 9205 223,262271

68915080 CT 3696 340, 346

68915081 CT 3696 340, 346

BDA429 CT 19921 202

BDA443 CT 19906 200

BDA445 CT 19907 200

BDA445 S CT 19917 201

DSB5L CT 9677 301

DSB5R CT 9676 301

DSB6L CT 9715 305

DSB6R CT 9714 305

MBA100 CT 9373 306, 317

MBA100 CT 9467 306

MBA103 CT 9452 266

MBA104 CT 9453 285

MBA112 CT 9462 245

MCK 1138 CT 19911 200

MCK 1296 CT 19953 203

MCK 1318 CT 19950 202

MCK 1383 CT 19951 203

MCK1021 CT 3688 339, 346

MCK1022 CT 3687 339, 346

MCK1041 CT 9807 265

MCK1048 CT 9624 255

Cross Ref Contnual Ref Page No

MCK1048 CT 9624 255

MCK1050 CT 9613 255

MCK1065 CT 9857 252, 260, 280

MCK1066 CT 9857 252, 260, 280

MCK1067 CT 9618 272, 283

MCK1086 CT 9883 225

MCK1087 CT 9810 226

MCK1088 CT 9882 225, 239

MCK1102 CT 3851 205

MCK1103 CT 3850 205

MCK1104 CT 9860 343

MCK1111 CT 9611 263, 272

MCK1112 CT 9610 263,272284

MCK1113 CT 9612 263,272284

MCK1116 CT 9888 251,260279

MCK1118 CT 9880 270

MCK1127 CT 9669 264

MCK1128 CT 9668 264

MCK1129 CT 9628 263

MCK1134 CT 9850 251,259279

MCK1135 CT 9851 269

MCK1139 CT 9805 223,262271

MCK1140 CT 9863 224

MCK1151 CT 3688 339, 346

MCK1152 CT 3687 339, 346

MCK1160 CT 9642 306, 316

MCK1161 CT 9643 306, 316

MCK1168 CT 9694 301, 310

MCK1169 CT 9694 301, 310

MCK1170 CT 9894 290

MCK1171 CT 9867 299

MCK1172 CT 9879 309

MCK1174 CT 9355 229, 245

MCK1185 CT 19901 199

MCK1191 CT 9865 289

MCK1192 CT 9866 299

MCK1193 CT 9892 309

MCK1211 CT 9730 209

MCK1212 CT 9729 209

MCK1213 CT 3855 321

MCK1236 CT 9617 261,284256

MCK1237 CT 9616 256,261274

MCK1238 CT 9800 252,26127

MCK1240 CT 9886 229

MCK1243 CT 9863 224

MCK1244 CT 9809 226, 238

MCK1252 CT 19905 199

MCK1252 S CT 19904 199

MCK1253 CT 9885 239

MCK1254 CT 9864 237

MCK1262 CT 3621 214

Cross Ref Contnual Ref Page No

MERITOR - CONTINUAL CROSS LIST



442 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

MCK1263 CT 9380 256

MCK1264 CT 9381 265,275285

MCK1289 CT 9875 225

MCK1290 CT 9691 302

MCK1291 CT 9690 302

MCK1292 CT 9696 305

MCK1293 CT 9695 304

MCK1294 CT 9694 301, 310

MCK1296 CT 19953 203

MCK1297 CT 19910 200

MCK1298 CT 9872 237

MCK1299 CT 9862 252, 260, 280

MCK1309 CT 9801 226, 240

MCK1310 CT 9884 239

MCK1311 CT 9461 245

MCK1317 CT 9873 237

MCK1319 CT 19908 200

MCK1319 S CT 19918 202

MCK1322 CT 19910 200

MCK1323 CT 9896 238

MCK1344 CT 9678 300, 312

MCK1352 CT 9382 244,256266

MCK1368 CT 19919 202

MCK1383 CT 19951 203

MCK1384 CT 19915 201

MCK1384 S CT 19916 201

MCK1398 CT 9683 283

MCK1399 CT 9684 283

MST1504 CT 9382 244,256266

SJ1213 CT 3852 321

SJ1228 CT 3855 321

SJ4001 CT 3853 322

SJ4011 CT 3855 321

SJ4021 CT 9856 344

SJ4031 CT 3662 339, 345

SJ4032 CT 3817 337, 343

SJ4052 CT 9893 337

SJ4053 CT 3820 344

SJ4061 CT 3818 337, 343

SJ4073 CT 3604 338, 344

SJ4074 CT 3603 338, 344

SJ4076 CT 9860 343

SJ4077 CT 3819 340, 344

SJ4078 CT 3817 337, 343

SJ4094 CT 9850 251,259279

SJ4096 CT 9683 283

SJ4097 CT 9684 283

SJ4098 CT 9672 227, 282

SJ4102 CT 9611 263, 272

SJ4103 CT 9610 263,272284

SJ4105 CT 9808 285

Cross Ref Contnual Ref Page No

SJ4105 CT 9808 285

SJ4107 CT 9851 269

SJ4108 CT 9685 273

SJ4109 CT 9806 273

SJ4110 CT 9612 263,272284

SJ4111 CT 9357 253,263272

SJ4112 CT 9670 227,242213

SJ4113 CT 3608 338, 345

SJ4114 CT 3607 338, 345

SJ4117 CT 3663 346

ST1156 CT 3810 206

ST1157 CT 3851 205

Cross Ref Contnual Ref Page No

 CROSS LIST

443

87405 CT 8803 351

87406 CT 8859 352

87408 CT 8808 352

87680 CT 8861 353, 361

89541 CT 8856 360

89723 CT 8862 353, 361

89794 CT 8800 359,367377

89925 CT 8809 355, 372

89927 CT 8805 353, 363

90673 CT 8623 355,363373

90693 CT 8857 363

91011 CT 8802 367, 377

91012 CT 8850 368

91013 CT 8853 369, 378

91014 CT 8854 369, 379

91019 CT 8806 370, 379

91216 CT 8639 355,364373

92731 CT 8812 359, 370

93299 CT 8863 368, 378

94660 CT 8855 368, 378

94661 CT 8860 352, 360

94663 CT 8804 351

94664 CT 8810 369

94665 CT 8811 359, 370

94892 CT 8813 372, 381

Cross Ref Contnual Ref Page No Cross Ref Contnual Ref Page No

HALDEX - CONTINUAL CROSS LIST



444 Araç, marka, fotoğraf ve alternatif referans numaraları sadece bilgi ve karşılaştırma amaçlı verilmiştir. Vehicles, marks, pictures and alternative numbers are stated for identification purpose pnly.

68320567 CT 17406 403

LRG602 CT 17862 398

ST1153 CT 17852 395

Cross Ref Contnual Ref Page No Cross Ref Contnual Ref Page No

 CROSS LIST

445

A0114216198 CT 17850 405

Cross Ref Contnual Ref Page No Cross Ref Contnual Ref Page No

BREMBO - CONTINUAL CROSS LIST




